
 
 
 

Vario Star® 
 
Parts Catalog  -  2010 
No. 2904 
 
VS 485, VS 550, VS 610, VS 670, VS 760, VS 910 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
Carl Geringhoff - Vertriebsgesellschaft mbH & Co.  
Porschestr. 8  
D-59227 Ahlen 
Telefon + 49 (0) 23 82 / 98 14 45 
Telefax + 49 (0) 23 82 / 98 14 50 
E-mail:  info@geringhoff.de 
Internet: www.geringhoff.de     

 



 



50/00 
 
 
 
 

HINWEISE ZUR  BENUTZUNG  DER GERINGHOFF - ERSATZTEILLISTE  
MIT VERSCHLÜSSELTER TEILEBEZEICHNUNG (CODE) 

 
 
 
 
 

HOW TO USE GERINGHOFF - PARTS CATALOG 
WITH CODED DESIGNATION 

 
 
 
 
 

COMMENT UTILISER LES CATALOGUES PIECES 
GERINGHOFF A DESIGNATION CODEE 

 
 
 
 
 

FORMA DE UTILIZAR LOS CATALOGOS DE PIEZAS DE RECAMBIO 
GERINGHOFF CON DENOMINACIONES EN CLAVE 

 
 
 
 
 

MEGJEGYZÉSEK A GERINGHOFF ALKATRÉSZ JEGYZÉK KÓDOLT 
TERMÉKMEGNEVEZÉSEINEK HASZNÁLATÁHOZ (KÓDOK 

 
 
 
 
 

POKYNY PRO POUŽITI KATALOGU NAHRADNICH DILŮ GERINGHOFF SE 
ZAKODOVANYM OZNAČENIM DILŮ (KODY) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

50/01 



50/01 
 
 
HINWEISE ZUR  BENUTZUNG  DER GERINGHOFF - ERSATZTEILLISTE MIT VERSCHLÜSSELTER 
TEILEBEZEICHNUNG (CODE) 
 
Aus Gründen der Vereinfachung wurde in der Ersatzteilliste auf Texte verzichtet und die Teilebezeichnung 
teilweise durch Code ersetzt. 
 
Die den Bildtafeln zugeordneten Seiten sind wie folgt aufgebaut: 
 

51/001 (Bildtafel) 
      A       |  B | C |      D  
                    
 Abbildung    Ersatzteil       Stückzahl                                                           Benennung 
      Nr.          Nr.         
 
Zur Beachtung: Die in der Rubrik ‘Benennung’ (D) angeführten Codes sind fett gedruckt! 
 
Erläuterung der einzelnen Codes: 
 

Code Erklärung 
VS Getreideschneidwerk Vario Star® 
485 Getreideschneidwerk, Arbeitsbreite 4,85 m (16 ft.) 
550 Getreideschneidwerk, Arbeitsbreite 5,50 m (18 ft.) 
610 Getreideschneidwerk, Arbeitsbreite 6,10 m (20 ft.) 
670 Getreideschneidwerk, Arbeitsbreite 6,70 m (22 ft.) 
760 Getreideschneidwerk, Arbeitsbreite 7,60 m (25 ft.) 
910 Getreideschneidwerk, Arbeitsbreite 9,10 m (30 ft.) 
CA Caterpillar 
CL Claas 
DF Deutz-Fahr 
FE Fendt 
GL Agco-Gleaner 
IH Case IH 
JD John Deere 
LA Laverda 
MF Massey Ferguson 
NH New Holland 
SA Sampo 
5Sch. 5-Schüttler 
6Sch. 6-Schüttler 
ab Baujahr Maschinenbaujahr ab einschließlich 
ATP 50 ... ATP 62 Antriebsposition für bestimmten Mähdreschertyp 
B60/300 siehe Seite 60/300 
bis Baujahr Maschinenbaujahr bis einschließlich 
Dichtsatz für Dichtungssatz für 
fein Feinverzahnung 
grob Grobverzahnung 
L Links in Fahrtrichtung gesehen 
M Mitte 
mit Variator Mähdrescher ist mit Variator zur Drehzahlregulierung der Vorsatzgeräte ausgestattet 
mvk Sicherungsschraube 
n.B. Nach Bedarf 
ohne Variator Mähdrescher ist ohne Variator zur Drehzahlregulierung der Vorsatzgeräte ausgestattet 
Optional Wahlausrüstung nach Kundenwunsch 
Pos. 2-5 Baugruppe 
R Rechts in Fahrtrichtung gesehen 
 





50/03

Inhaltsverzeichnis
Bildtafel 

B10 - Mulde
Schneidwerksrahmen - VS 485/550/610/670/760/910 B10100
Rapskanten und Verschiebebleche - VS 485/550/610/670/760/910 B10110
Dachabdeckung - VS 485/550/610/670/760/910 B10120
Verschiebetisch B10130

B20 - Schnecke
Schnecke - VS 485/550/610 B20100
Schnecke kpl.mont. - VS 485/550/610/670 B20150
Schnecke - VS 670/760/910 - links B20200
Schnecke VS 670/760/910 - rechts B20250
Schnecke kpl. mont. - VS 760/910 - links und rechts B20300

B30 - Haspel
Haspel VS 485/550/610/670/760/910 - links B30100
Haspel VS 550/610/670/760 - rechts B30110
Haspel VS 910 - rechts B30160
Haspelrohr B30170
Tragrahmen - links B30200
Tragrahmen - rechts B30210

B40 - Antrieb
Schmiermittel B40000
Antrieb kpl. B40300
Stirnradgetriebe B40150
Winkelgetriebe B40160
Winkelgetriebe Haspel B40210
Centa-Verbindung B40180
Vorgelege für Antrieb B40185
Fernschmierung B40190
Hardyverbindung Schneckenantrieb B40200

B50 - Hydraulik und Elektrik
Hydraulik B50100
Zylinder Haspeltragrahmen B50200
Zylinder am Verschiebetisch B50300
Steuerpult und Verteilerdose B50400

Multikupplung NH - CX / CR / CSX, Case AF xx88, AFX m. hydraul. Haspelantrieb MD B50500
Multikupplung NH - CS / TX o. hydraul. Haspelantrieb MD B50510
Multikupplung DF B50530
Multikupplung Claas - Lexion 5xx  B50550
Multikupplung Claas - Lexion 4xx  B50560
Hydraulikkupplung Claas - Mega Medion B50570
Multikupplung JD B50590
Multikupplung MF/Fendt/Laverda  mit Freeflow B50640
Multikupplung MF/Fendt/Laverda  mit Powerflow B50650
Öltank B50700

B60 - Anbauteile
Halmteiler - lang B60100
Halmteiler - kurz B60201
Trennträger m. Rapstrenner kpl. B60300
Trennträger B60320
Rapstrenner B60350
Seitenschutz B60400
Messerbalken - VS 485/550/610/670 B60501
Messerbalken - VS 760/910 B60505
Sektionalmesser B60510



50/03

Inhaltsverzeichnis
Bildtafel 

B70 - Mähdrescherspezifische Komponenten
Haspelpositionssteuerung horizontal B70111
Haspelpositionssteuerung vertikal B70120

Adapter NH B70210
Adapter DF B70250
Adapter Claas B70300
Adapter JD B70350
Adapter Case - AFX B70410
Adapter Laverda, MF, Fendt - Freeflow B70450
Adapter MF, Fendt - Powerflow B70500

B80 - Tasteinrichtung
Tasteinrichtung B80100



 



HOW TO USE GERINGHOFF - PARTS CATALOG
WITH CODED DESIGNATION



50/01 
 
 
HOW TO USE GERINGHOFF - PARTS CATALOG WITH CODED REFERENCE 
 
 
To simplify matters the spare part list is without texts and the parts reference in parts replaced by code. 
 
The pages related to the illustration tables are arranged as follows: 
 
 

51/001 (illustration table) 
      A       |  B | C |      D  
                    
 Illustration   Sparepart        Number                                                            Designation 
      no.          no.         
 
Note: The codes under column ‘designation’ (D) are printed in heavy types! 
 
Explanation of the different codes: 
 

Code Specification 
VS Grain Header, Vario Star® 
485 Grain Header, Working width 4,85 m (16 ft.)  
550 Grain Header, Working width 5,50 m (18 ft.) 
610 Grain Header, Working width 6,10 m (20 ft.) 
670 Grain Header, Working width 6,70 m (22 ft.) 
760 Grain Header, Working width 7,60 m (25 ft.) 
910 Grain Header, Working width 9,10 m (30 ft.) 
CA Caterpillar 
CL Claas 
DF Deutz-Fahr 
FE Fendt 
GL Agco-Gleaner 
IH Case IH 
JD John Deere 
LA Laverda 
MF Massey Ferguson 
NH New Holland 
SA Sampo 

5Sch. 5-straw walker 
6Sch. 6-straw walker 

ab Baujahr manufactured from the beginning  of constructional year .... 
ATP 50 ... ATP 62 drive position for certain combine type 

B60/300 see page 60/300 
bis Baujahr manufactured by the end of constructional year .... 

Dichtsatz für sealing kit for 
fein fine section (14 tpi) 
grob coarse section (11 tpi) 

L left seen in drive direction 
M Middle 

mit Variator combine is equipped with variable speed 
mvk savety screw 
n.B. on request 

ohne Variator combine is equipped without variable speed 
Optional optional equipment as per customer request 
Pos. 2-5 assembly group 

R right seen in drive direction 
 





50/03

Table of contents
Picture 

B10 - Trough
Trough - VS 485/550/610/670/760/910 B10100
Rape side-plate and slide board - VS 485/550/610/670/760/910 B10110
Cover - VS 485/550/610/670/760/910 B10120
Slide table B10130

B20 - Auger
Auger - VS 485/550/610 B20100
Auger completely mounted - VS 485/550/610/670 B20150
Auger - VS 670/760/910 - left B20200
Auger VS 670/760/910 - right B20250
Auger completely mounted  - VS 760/910 - left and right B20300

B30 - Reel
Reel VS 485/550/610/670/760/910 - left B30100
Reel VS 550/610/670/760 - right B30110
Reel VS 910 - right B30160
Reel tube B30170
Reel supporting frame - left B30200
Reel supporting frame - right B30210

B40 - Drive
Lubricants B40000
Complete drive B40300
Spur gearing B40150
Miter gear box B40160
Miter gear box for the reel B40210
Flexible drive coupling B40180
Drive transmission B40185
Grease piping system B40190
Flexible coupling for auger drive B40200

B50 - Hydraulic and electrical equipment
Hydraulic B50100
Hydraulic cylinder at reel supporting frame B50200
Hydraulic cylinder at slide table B50300
Control panel and connector B50400

Hydraulic-multi-clutch NH - CX / CR / CSX, Case AF xx88, AFX with hydraulic reel drive B50500
Hydraulic-multi-clutch NH - CS / TX without hydraulic reel drive B50510
Hydraulic-multi-clutch DF B50530
Hydraulic-multi-clutch Claas - Lexion 5xx  B50550
Hydraulic-multi-clutch Claas - Lexion 4xx  B50560
Hydraulic-clutch Claas - Mega Medion B50570
Hydraulic-multi-clutch JD B50590
Hydraulic-multi-clutch MF/Fendt/Laverda  with Freeflow B50640
Hydraulic-multi-clutch MF/Fendt/Laverda  with Powerflow B50650
Oil tank B50700

B60 - Mounted parts
Stalk divider -  long B60100
Stalk divider - short B60201
Beam with rape cutter B60300
Beam  B60320
Rape cutter B60350
Side protection B60400
Cutter bar - VS 485/550/610/670 B60501
Cutter bar - VS 760/910 B60505
Knife B60510



50/03

Table of contents
Picture 

B70 - Combine-specific components
Horizontal reel positioning regulation B70111
Vertical reel positioning regulation B70120

Adaption NH B70210
Adaption DF B70250
Adaption Claas B70300
Adaption JD B70350
Adaption Case - AFX B70410
Adaption Laverda, MF, Fendt - Freeflow B70450
Adaption MF, Fendt - Powerflow B70500

B80 - Ground leveling system
Ground leveling system B80100



 



COMMENT UTILISER LES CATALOGUES PIECES
GERINGHOFF A DESIGNATION CODEE



50/01 
 
 
MODE D´UTILISATION DE LA NOMENCLATURE GERINGHOFF : CODIFICATION DES PIECES DETACHEES 
 
Pour des raisons de simplification, la nomenclature des pièces détachées a été établie sans apport de texte et les 
libellés correspondant aux pièces ont en partie été remplacés par des codes. 
 
Les pages correspondant aux panneaux d´illustration présentent la structure suivante: 
 
 

51/001 (Panneaux d´illustration) 
      A       |  B | C |      D  
                    
       no.             no.               quantité                                                                libellé 
d´illustration  de pièce            
 
Attention: Les codes utilisés dans la rubrique ‘Libellé’ (D) sont inscrits en caractères gras! 
 
Explications des Abreviations: 
 

Code Texte 
VS Barre de coupe Vario Star® 
485 Barre de coupe, Largeur travail 4,85 m (16 ft.) 
550 Barre de coupe, Largeur travail 5,50 m (18 ft.) 
610 Barre de coupe, Largeur travail 6,10 m (20 ft.) 
670 Barre de coupe, Largeur travail 6,70 m (22 ft.) 
760 Barre de coupe, Largeur travail 7,60 m (25 ft.) 
910 Barre de coupe, Largeur travail 9,10 m (30 ft.) 
CA Caterpillar 
CL Claas 
DF Deutz-Fahr 
FE Fendt 
GL Agco-Gleaner 
IH Case IH 
JD John Deere 
LA Laverda 
MF Massey Ferguson 
NH New Holland 
SA Sampo 

5Sch. 5-secoueurs 
6Sch. 6-secoueurs 

ab Baujahr produit à partir de la du modèle .... 
ATP 50 ... ATP 62 Position d´entraînement pour type de moissonneuse-batteuse correspondant  

B60/300 Voir page B60/300 
bis Baujahr produit jusqu’à la fin du modèle .... 

Dichtsatz für Jeu d’étanchéité   
fein Lame 14 tpi 
grob Lame 11 tpi 

L Gauche, par rapport au sens de la marche 
M au milieu 

mit Variator Moissonneuse-batteuse avec variateur de régulation de vitesse 
mvk Vis de retenue 
n.B. Selon les besoins 

ohne Variator Moissonneuse-batteuse sans variateur de régulation de vitesse 
Optional Equipement optionnel au choix du client 
Pos. 2-5 Module 

R Droite, par rapport au sens de la marche 
 





50/03

Sommaire Panneau
d´illustrations

B10 - Chassis de coupe
Chassis de coupe - VS 485/550/610/670/760/910 B10100
Scie à colza et tôle vario - VS 485/550/610/670/760/910 B10110
Tôle de protection - VS 485/550/610/670/760/910 B10120
Tablier vario B10130

B20 - Vis d'alimentation
Vis d'alimentation - VS 485/550/610 B20100
Vis d'alimentation cpl. - VS 485/550/610/670 B20150
Vis d'alimentation - VS 670/760/910 - à gauche B20200
Vis d'alimentation VS 670/760/910 - à droite B20250
Vis d'alimentation cpl. - VS 760/910 - à gauche et à droite B20300

B30 - Rabatteur
Rabatteur VS 485/550/610/670/760/910 - à gauche B30100
Rabatteur VS 550/610/670/760 - à droite B30110
Rabatteur VS 910 - à droite B30160
Bras du rabatteur B30170
Bras porteur - à gauche B30200
Bras porteur - à droite B30210

B40 - Entrainement
Lubrifiant B40000
Commande cpl. B40300
Engrenage cylindrique B40150
Engrenage angulaire B40160
Engrenage angulaire rabatteur B40210
Coupleur flexible de commande lames B40180
Transmission B40185
Lubrification B40190
Flector d'entrainement de la vis d'alimentation B40200

B50 - Hydraulique et électrique
Hydraulique B50100
Verrins de rabatteur B50200
Verrins de tablier vario B50300
Boitier de commande et boîte de dérivation B50400

Multicoupleur NH - CX / CR / CSX, Case AF xx88, AFX avec entrain.hydraulique du rabatteur B50500
Multicoupleur NH - CS / TX sans entrainement hydraulique des rabatteurs B50510
Multicoupleur DF B50530
Multicoupleur Claas - Lexion 5xx  B50550
Multicoupleur Claas - Lexion 4xx  B50560
Coupleur hydraulique Claas - Mega Medion B50570
Multicoupleur JD B50590
Multicoupleur MF/Fendt/Laverda  avec Freeflow B50640
Multicoupleur MF/Fendt/Laverda  avec Powerflow B50650
Réservoir à huile B50700

B60 - Pièces montées
Diverseur long B60100
Diverseur court B60201
Lames spéciales de colza B60300
Support pour lames spéciales de colza B60320
Coutaux de colza B60350
Protection B60400
Barre de lames - VS 485/550/610/670 B60501
Barre de lames - VS 760/910 B60505
Lames B60510



50/03

Sommaire Panneau
d´illustrations

B70 - Composant spécifique moissoneuse batteuse
Commande de position du rabbateur horizontal B70111
Commande de position du rabbateur vertical B70120

Adaption NH B70210
Adaption DF B70250
Adaption Claas B70300
Adaption JD B70350
Adaption Case - AFX B70410
Adaption Laverda, MF, Fendt - Freeflow B70450
Adaption MF, Fendt - Powerflow B70500

B80 -  Palpeur
Palpeur de suivi au sol B80100



 



FORMA DE UTILIZAR LOS CATALOGOS DE PIEZAS DE RECAMBIO
GERINGHOFF CON DENOMINACIONES EN CLAVE



50/01 
 
 
FORMA DE UTILIZAR LOS CATALOGOS DE PIEZAS DE RECAMBIO GERINGHOFF CON DENOMINACIONES 
EN CLAVE 
 
Por razones de simplificación se ha hecho esta lista sin texto y reemplazado la designación de las piezas en parte 
por codigo. 
 
Las páginas coordinades a las laminas están configuradas como sigue: 
 

                                  51/001 (lamina - página no.) 
      A       |  B | C |      D  
                    
 Ilustración     Pieza de         Número                                                            Designación 
      no.        recambio no.    de piezas         
 
Nota: Los codigos indicados en la rúbrica ‘designación’ (D) están en letras gordas! 
 
Identificación de los códigos diferentes: 
 

Código Identificación 
VS Barra cortadora Vario Star® 
485 Barra cortadora, Ancho trabajo 4,85 m 
550 Barra cortadora, Ancho trabajo 5,50 m 
610 Barra cortadora, Ancho trabajo 6,10 m 
670 Barra cortadora, Ancho trabajo 6,70 m 
760 Barra cortadora, Ancho trabajo 7,60 m 
910 Barra cortadora, Ancho trabajo 9,10 m 
CA Caterpillar 
CL Claas 
DF Deutz-Fahr 
FE Fendt 
GL Agco-Gleaner 
IH Case IH 
JD John Deere 
LA Laverda 
MF Massey Ferguson 
NH New Holland 
SA Sampo 

5Sch. Cosechadora de 5 sacudidores 
6Sch. Cosechadora de 6 sacudidores 

ab Baujahr fabricado desde del modelo .... 
ATP 50 ... ATP 62 posición propulsora para tipo de cosechadora cierto 

B60/300 véase página B60/300 
bis Baujahr fabricado hasta fin del modelo .... 

Dichtsatz für juego de obturadora para 
fein dientes finos (14 tpi) 
grob dientes gruesos (11 tpi) 

L a izquierda visto en dirección de marcha 
M en el medio 

mit Variator cosechadora queda dotada con variador para la regulación de la velocidad 
mvk tornillo de retención 
n.B. según demanda 

ohne Variator cosechadora queda dotada sin variador para la regulación de la velocidad 
Optional equipamiento opcional según deseo del cliente 
Pos. 2-5 grupo constructivo 

R a derecha visto en dirección de marcha 
 





50/03

Índice
Lamina

B10 - Mesa cabezal
Mesa - VS 485/550/610/670/760/910 B10100
Chapa lateral para colza y plancha de desplazamiento - VS 485/550/610/670/760/910 B10110
Chapa cobertura embocadura - VS 485/550/610/670/760/910 B10120
Mesa extensible B10130

B20 - Sinfin
Sinfín - VS 485/550/610 B20100
Sinfín completamente montado - VS 485/550/610/670 B20150
Sinfín - VS 670/760/910 - izquierda B20200
Sinfín VS 670/760/910 - derecha B20250
Sinfín completamente montado - VS 760/910 - izquierda y derecha B20300

B30 - Molinete
Molinete VS 485/550/610/670/760/910 - izquierda B30100
Molinete VS 550/610/670/760 - derecha B30110
Molinete VS 910 - derecha B30160
Tubo del molinete B30170
Soporte molinete - izquierda B30200
Soporte molinete - derecha B30210

B40 - Transmisión
Lubricantes B40000
Transmisión completa B40300
Engranaje principal B40150
Engranaje angular B40160
Engranaje angular molinete B40210
Acoplamiento flexible B40180
Reductora para la transmision B40185
Tubo de engrase B40190
Acoplamiento flexible del sinfín B40200

B50 - Hidráulíca y sistema eléctrico
Sistema hidráulico B50100
Cilindro del soporte del molinete B50200
Cilindro para la mesa extensible B50300
Panel de control y conexión B50400

Multienchufe NH - CX / CR / CSX, Case AF xx88, AFX con transm. hid. del molinete B50500
Multienchufe NH - CS / TX sin transmision hidráulica del molinete B50510
Multienchufe DF B50530
Multienchufe Claas - Lexion 5xx  B50550
Multienchufe Claas - Lexion 4xx  B50560
Multienchufe hidráulíco Claas - Mega Medion B50570
Multienchufe JD B50590
Multienchufe MF/Fendt/Laverda  Freeflow B50640
Multienchufe MF/Fendt/Laverda  Powerflow B50650
Depósito del aceite B50700

B60 -  Piezas montables
Cono largo B60100
Cono corto B60201
Soporte completamente montado con la chuchilla de colza B60300
Soporte de la cuchilla de colza B60320
Cuchilla para colza B60350
Protección lateral B60400
Barra de corte - VS 485/550/610/670 B60501
Barra de corte - VS 760/910 B60505
Cuchilla B60510



50/03

Índice
Lamina

B70 - Componentes según cosechadora
Control de la posición horizontal del molinete B70111
Control de la posición vertical del molinete B70120

Adaptación NH B70210
Adaptación DF B70250
Adaptación Claas B70300
Adaptación JD B70350
Adaptación Case - AFX B70410
Adaptación Laverda, MF, Fendt - Freeflow B70450
Adaptación MF, Fendt - Powerflow B70500

B80 - Autonivelante
Autonivelante B80100



 



MEGJEGYZÉSEK A GERINGHOFF ALKATRÉSZ JEGYZÉK KÓDOLT 
TERMÉKMEGNEVEZÉSEINEK HASZNÁLATÁHOZ (KÓDOK)



50/01 
 
 
MEGJEGYZÉSEK A GERINGHOFF ALKATRÉSZ JEGYZÉK KÓDOLT TERMÉKMEGNEVEZÉSEINEK 
HASZNÁLATÁHOZ (KÓDOK) 
 
Egyszerűsítési okokból az alkatrészjegyzékben lemondtunk a szövegek alkalmazásáról és az alkatrészek 
megnevezését részben kódokkal helyettesítettük. 
 
Az ábrákhoz rendelt oldalak az alábbiak szerint épülnek fel: 
 

51/001 (ábra) 
      A       |  B | C |      D  
                    
Ábrán lévő   Alkatrész               Db                                                                  Megnevezés 
  sorszám    cikkszáma         
 
Figyelem! A ‘Megnevezés’ (D) rovatban feltüntetett kódok vastagon szedettek. 
 
Magyarázat az egyes kódokhoz: 
 

Kódok Magyarázat 
VS Vario Star® gabonaasztal 
485 gabonaasztal, munkaszélesség: 4,85 m (16 ft.) 
550 gabonaasztal, munkaszélesség: 5,50 m (18 ft.) 
610 gabonaasztal, munkaszélesség: 6,10 m (20 ft.) 
670 gabonaasztal, munkaszélesség: 6,70 m (22 ft.) 
760 gabonaasztal, munkaszélesség: 7,60 m (25 ft.) 
910 gabonaasztal, munkaszélesség: 9,10 m (30 ft.) 
CA Caterpillar 
CL Claas 
DF Deutz-Fahr 
FE Fendt 
GL Agco-Gleaner 
IH Case IH 
JD John Deere 
LA Laverda 
MF Massey Ferguson 
NH New Holland 
SA Sampo 

5Sch. 5-szalmarázó 
6Sch. 6-szalmarázó 

ab Baujahr a megadott évben vagy időben később gyártott géphez 
ATP 50 ... ATP 62 meghajtási pozíció bizonyos kombájntípusokhoz 

B60/300 lásd 60/300. oldal 
bis Baujahr a megadott évben vagy időben korábban gyártott géphez 

fein finom fogazat (14 tpi) 
grob durva fogazat (11 tpi) 

L menetirány szerinti bal oldal 
M középső 

mit Variator a kombájn variátorral felszerelt az adapterek fordulatszám szabályozásához 
mvk neonsárga kivitel 
n.B. igény szerint 

ohne Variator a kombájn nincs felszerelve variátorral az adapterek fordulatszám szabályozásához 
Optional az ügyfél kívánsága szerint választható felszerelés 
Pos. 2-5 gépelem 

R menetirány szerinti jobb oldal 
  

 





50/03

Tartalomjegyzék
ábra 

B10 - Szájnyílás betét
Vágószerkezet keret - VS 485/550/610/670/760/910 B10100
Repceperemek és tolólemezek - VS 485/550/610/670/760/910 B10110
Tető lefedés - VS 485/550/610/670/760/910 B10120
Tolóasztal B10130

B20 - Csiga
Csiga - VS 485/550/610 B20100
Kompletten szerelt csiga - VS 485/550/610/670 B20150
Bal oldali csiga - VS 670/760/910 B20200
Jobb oldali csiga VS 670/760/910 B20250
Kompletten szerelt csiga - VS 760/910 - bal, jobb B20300

B30 - Motolla
Motolla VS 485/550/610/670/760/910 - bal B30100
Motolla VS 550/610/670/760 - jobb B30110
Motolla VS 910 - jobb B30160
Motollacső B30170
Tartókeret - bal B30200
Tartókeret - jobb B30210

B40 - Meghajtás
Kenőanyag B40000
Komplett meghajtás B40300
Hajtómű B40150
Szöghajtómű B40160
Motolla szöghajtómű B40210
Centa összekötés B40180
Fordulatszámcsökkentés a hajtóműhöz B40185
Távzsírzás B40190
Hardy összekötés csigameghajtáshoz B40200

B50 - Hidraulika és elektromos részek
Hidraulika B50100
Munkahenger motollatartó keret B50200
Munkahenger a kitoló asztalon B50300
Vezérlő pult és elosztó tömb B50400

Multikuplung NH - CX / CR / CSX, Case AF xx88, AFX hidraulikus motollahajtású kombájnhoz B50500
Multikuplung NH - CS / TX hidraulikus motollahajtás nélküli kombájnhoz B50510
Multikuplung DF B50530
Multikuplung Claas - Lexion 5xx  B50550
Multikuplung Claas - Lexion 4xx  B50560
Hidraulika kuplung Claas - Mega Medion B50570
Multikuplung JD B50590
Multikuplung MF/Fendt/Laverda  Freeflow B50640
Multikuplung MF/Fendt/Laverda  Powerflow B50650
Olajtank B50700

B60 - Gépelemek
Rendválasztó - hosszú B60100
Rendválasztó - rövid B60201
Oldalkasza tartó oldalvágóval kpl. B60300
Oldalkasza B60320
Repce oldalvágó B60350
Oldalvédelem B60400
Késtartó - VS 485/550/610/670 B60501
Késtartó - VS 760/910 B60505
Szekcionális kés B60510



50/03

Tartalomjegyzék
ábra 

B70 - Kombájnspecifikus egységek
Motollapozíció vezérlés - vízszintes B70111
Motollapozíció vezérlés - függőleges B70120

Átalakító NH B70210
Átalakító DF B70250
Átalakító Claas B70300
Átalakító JD B70350
Átalakító Case - AFX B70410
Átalakító Laverda, MF, Fendt - Freeflow B70450
Átalakító MF, Fendt - Powerflow B70500

B80 - Talajkövető
Talajkövető B80100



 



POKYNY PRO POUŽITÍ KATALOGU NÁHRADNÍCH DÍLŮ Geringhoff SE
ZAKÓDOVANÝM OZNAČENÍM DÍLŮ (KÓDY)



50/01 
 
 
Pokyny pro použití katalogu náhradních dílů Geringhoff se  zakódovaným označením dílů (kódy) 
 
Z důvodu zjednodušení bylo v katalogu náhradních dílů upuštěno od textů a označení dílů bylo částečně 
nahrazeno kódy. 
 
K nákresům příslušící strany s tabulkami mají následující formát. 
 

51/001 (Tabulka) 
      A       |  B | C |      D  
                    
Obrázek    Náhradní díl       Počet kusů                                                           Označení 
      č.          č.         
 
Upozornění: Kódy uvedené ve sloupci „Označení“ (D), jsou vytištěny tučně.  
 
Vysvětlení jednotlivých kódů: 
 
 

Kód Vysvětlení 
VS Obilní lišta Vario Star® 
485 Obilní lišta, šířka záběru 4,85 m (16 ft.) 
550 Obilní lišta, šířka záběru 5,50 m (18 ft.) 
610 Obilní lišta, šířka záběru 6,10 m (20 ft.) 
670 Obilní lišta, šířka záběru 6,70 m (22 ft.) 
760 Obilní lišta, šířka záběru 7,60 m (25 ft.) 
910 Obilní lišta, šířka záběru 9,10 m (30 ft.) 
CA Caterpillar 
CL Claas 
DF Deutz-Fahr 
FE Fendt 
GL Agco-Gleaner 
IH Case IH 
JD John Deere 
LA Laverda 
MF Massey Ferguson 
NH New Holland 
SA Sampo 

5Sch. 5-ti vytřasadlová 
6Sch. 6-ti vytřasadlová 

ab Baujahr Rok výroby od včetně 
ATP 50 ... ATP 62 Pozice pohonu u jednotlivých mlátiček 

B60/300 Viz. str.  60/300 
bis Baujahr Rok výroby do včetně 

fein jemné ozubení (14 tpi) 
grob hrubé ozubení (11 tpi) 

L Nalevo ve směru jízdy 
M Uprostřed 

mit Variator Mlátička je vybavena varitátorem k regulaci otáček adaptéru. 
mvk Pojistný šroub 
n.B. Podle potřeby 

ohne Variator Mlátička není vybavena varitátorem k regulaci otáček adaptéru. 
Optional Vybavení na přání dle výběru zákazníka 
Pos. 2-5 Konstrukční skupina 

R Napravo ve směru jízdy 
  

 





50/03

Obsah 
Tabulka 

B10 - Vana
Rám žací lišty - VS 485/550/610/670/760/910 B10100
Hrany pro řepku a posouvací plechy - VS 485/550/610/670/760/910 B10110
Kryt střechy - VS 485/550/610/670/760/910 B10120
Posouvací stůl B10130

B20 - Šnek
Šnek - VS 485/550/610 B20100
Šnek kompletní - VS 485/550/610/670 B20150
Šnek levý - VS 670/760/910 B20200
Šnek pravý VS 670/760/910 B20250
Šnek kompletní  - VS 760/910 - levý, pravý B20300

B30 - Přihaněč
Haspel VS 485/550/610/670/760/910 - levý B30100
Přihaněč VS 550/610/670/760 - pravý B30110
Přihaněč VS 910 - pravý B30160
Trubka přihaněče B30170
Nosný rám - vlevo B30200
Nosný rám - vpravo B30210

B40 - Pohon
Mazivo B40000
Pohon kompl. B40300
Řádková převodovka B40150
Úhlová převodovka B40160
Úhlová převodovka pro přihaněč B40210
Centa spojení B40180
Předloha pro pohon B40185
Dálkové mazání B40190
Hardy spojka pro pohon šneku B40200

B50 - Hydraulika a elektrika
Hydraulika B50100
Válec pro nosný rám přihaněče B50200
Válec pro posuvný stůl B50300
Řídící box a rozdružovač B50400

Multispojka NH - CX / CR / CSX, Case AF xx88, AFX s hydr. pohonem přihaněče B50500
Multispojka NH - CS / TX bez hydr. pohonu přihaněče B50510
Multispojka DF B50530
Multispojka Claas - Lexion 5xx  B50550
Multispojka Claas - Lexion 4xx  B50560
Multispojka pro Claas - Mega Medion B50570
Multispojka JD B50590
Multispojka MF/Fendt/Laverda  Freeflow B50640
Multispojka MF/Fendt/Laverda  Powerflow B50650
Olej. Nádrž B50700

B60 - Připojovací díly
Stranový dělič - dlouhý B60100
Stranový dělič - krátký B60201
Stranový dělič s řepkovým děličem B60300
Stranový dělič B60320
Řepkový dělič B60350
Stranová ochrana B60400
Nosník pro kosu - VS 485/550/610/670 B60501
Nosník pro kosu - VS 760/910 B60505
Sekční kosa B60510



50/03

Obsah 
Tabulka 

B70 - Spec. komponenty u mlátiček
Horizontální ovládání přihaněče B70111
Vertikální ovládání přihaněče B70120

Adaptér NH B70210
Adaptér DF B70250
Adaptér Claas B70300
Adaptér JD B70350
Adaptér Case - AFX B70410
Adaptér Laverda, MF, Fendt - Freeflow B70450
Adaptér MF, Fendt - Powerflow B70500

B80 - Stranové vyrovnávání
Stranové vyrovnávání B80100



 



KATALOGU NAHRADNICH

ALKATRÉSZ JEGYZÉK

ERSATZTEILLISTE

PARTS CATALOG

CATALOGUES PIECES

CATALOGOS DE PIEZAS DE RECAMBIO



21

10

38

27

8
23,24

11

4

9

11

5

5

4

13

14,15

25
39,40

3

18

7

9

30

31,32

20

19
20

1

33

34

2

36

37

28

12

26

31,32

29

2

16,17

4

6

3

6

7

4

21

23,24

35

VS 760 / VS 910

46

43
44

A

41

42
45

A

10 100



A B D VS
 4

85

VS
 5

50

VS
 6

10

VS
 6

70

VS
76

0

VS
 9

10

- 899045 Pos.2,3,4,6,7,9,13-17 1
- 899044 Pos.2,3,4,6,7,9,13-17 1
- 899043 Pos.2,3,4,6,9,13-17 1
- 899042 Pos.2,3,4,6,9,13-17 1
- 899041 Pos.2-15-17 1
- 899040 Pos.2-15-17 1

1 806015 1
1 806014 1
1 806012 1
1 806011 1
1 806010 1
1 806013 1
2 814201 L 1 1 1 1 1 1
3 814202 R 1 1 1 1 1 1
4 814206 2
4 814205 2
4 814199 2 2 2
4 814204 2
5 814200 2
5 814203 2
6 814217 2
6 814216 2
6 814197 2 2 2
6 814215 2
7 814212 R 1
7 814210 R 1
7 814194 R 1 1 1
7 814208 R 1
8 814196 R 2
8 814214 R 2
9 814211 L 1
9 814209 L 1
9 814193 L 1
9 814207 L 1
9 814193 L 1 1

10 814195 L 1
10 814213 L 1
11 814198 1
11 814218 1
12 814190 2 2
13 040437 M8x20 - DIN 603 68 74 80 88 98 112
14 040008 M8 - DIN 985 68 74 80 88 98 112
15 040216 8,4 - DIN 9021 68 74 80 88 98 112
16 040496 M12x30 - DIN 933 14 14 14 14 14 14
17 040124 M12 14 14 14 14 14 14
18 041550 ¢33 8 8 8 8 8 8
19 814041 L 1 1 1 1 1 1
20 814042 L 6 6 6 6 6 6
21 814069 L 1 1 1 1 1 1
22 814070 R 1 1 1 1 1 1
23 040645 M8x12 - DIN 933 6 6 6 6 6 6
24 040201 A8,4 - DIN 1524 6 6 6 6 6 6
25 814032 R 1 1 1 1 1 1

C

10/100



21

10

38

27

8
23,24

11

4

9

11

5

5

4

13

14,15

25
39,40

3

18

7

9

30

31,32

20

19
20

1

33

34

2

36

37

28

12

26

31,32

29

2

16,17

4

6

3

6

7

4

21

23,24

35

VS 760 / VS 910

46

43
44

A

41

42
45

A

10 100



A B D VS
 4

85

VS
 5

50

VS
 6

10

VS
 6

70

VS
76

0

VS
 9

10

26 814033 1 1 1 1 1 1
27 040428 M12x35 - DIN 603 5 5 5 5 5 5
28 040010 M12 - DIN 985 10 10 10 10 10 10
29 814006 2 2 2 4
30 814000 2 2 2 2 2 2
31 040491 M12x35 - DIN 933 12 12 24 24 24 36
32 040157 12,5 - Form B 12 12 24 24 24 36
33 914140 1 1 1 1 1 1
34 040437 M8x20 - DIN 603 8 8 8 8 8 8
35 040008 M8 - DIN 985 8 8 8 8 8 8
36 041470 ø92 2 2 2 2 2 2
37 041667 120x120 2 2 2 2 2 2
38 814192 6 6
39 040645 M8x12 - DIN 933 24 24
40 040201 A8,4 - DIN 125 24 24
41 814047 1 1 1 1 1 1
42 040437 M8x20 - DIN 603 4 4 4 4 4 4
43 048009 G 3/4" - DIN 910 n.B. n.B. n.B. n.B. n.B. n.B.
44 026260 TKMB 12 n.B. n.B. n.B. n.B. n.B. n.B.
45 041393 GPN 320 GL 32 n.B. n.B. n.B. n.B. n.B. n.B.
46 040429 M12x25 - DIN 603 5 5 5 5 5 5

C

10/100



11-21

11-21

VS 670

VS 550

VS 910

R

R

L L

VS 760

L

VS 485

R

4

6

2

14,15

16,17

13

1

5

7

10

9

11,12

19

11,12

1820,21

6

8

VS 610

5

1,2,

1,2,

3

10 110



A B D VS
 4

85

VS
 5

50

VS
 6

10

VS
 6

70

VS
76

0

VS
 9

10

- 899115 Pos. 1-4, 9-21 1
- 899114 Pos. 1-4, 9-21 1
- 899113 Pos. 1-6, 9-21 1
- 899112 Pos. 1-6, 9-21 1
- 899111 Pos. 1-6, 9-21 1
- 899110 Pos. 1-21 1

1 814300 L 1 1 1 1 1 1
1 814301 R 1 1 1 1 1 1
2 814310 L 1 1 1 1 1 1
2 814311 R 1 1 1 1 1 1
3 814308 1
3 814307 1
4 814317 1
4 814316 1
5 814305 L 1
5 814306 R 1
5 814302 L + R 2 2
5 814304 L + R 2
6 814315 2
6 814312 2 2
6 814314 2
7 814303 1
8 814313 1
9 814219 2 2 3 3 3 4

10 814220 9 9 12 12 12 15
11 040548 M8x16 - DIN 933 mvk 23 26 30 32 36 48
12 040216 8,4 - DIN 9021 23 26 30 32 36 48
13 042338 M6x8 mvk 39 39 54 54 54 69
14 040155 Form M  - DIN 1524 13 13 18 18 18 23
15 040614 M6x10 - DIN 933 verz. 13 13 18 18 18 23
16 042005 M6 - DIN 6928 8 8 12 12 12 16
17 042337 M6x12 - 8.8 mvk 8 8 12 12 12 16
18 814323 L 1 1 1 1 1 1
18 814324 R 1 1 1 1 1 1
19 042367 M6x12 - DIN 603 2 2 2 2 2 2
20 040007 M6 - DIN 985 2 2 2 2 2 2
21 040215 A6,4 - DIN 9021 2 2 2 2 2 2

10/110
C



10 120

1

2

3

4

5

6
7

8

9

10,11

12,13

14

15,16

17

18,19

20
21

12,13



A B D VS
 4

85

VS
 5

50

VS
 6

10

VS
 6

70

VS
76

0

VS
 9

10

- 899006 Pos. 1-21 1
- 899005 Pos. 1-21 1
- 899004 Pos. 1-21 1
- 899003 Pos. 1-21 1
- 899001 Pos. 1-21 1
- 899002 Pos. 1-21 1

1 812070 M 1 1 1
1 812056 M 1 1 1
2 812076 L 1
2 812080 L 1
2 812071 L 1
2 812059 L 1
2 812050 L 1
2 812065 L 1
3 812077 R 1
3 812081 R 1
3 812072 R 1
3 812060 R 1
3 812051 R 1
3 812066 R 1
4 814106 2 2 2 2 2 2
5 812187 1 1 1 1 1 1
6 812064 2 2 2 2 2 2
7 812160 M 1 1 1 1 1 1
8 812161 L 1
8 812167 L 1
8 812171 L 1
8 812175 L 1
8 812179 L 1
8 812183 L 1
9 812164 R 1
9 812169 R 1
9 812173 R 1
9 812177 R 1
9 812181 R 1
9 812185 R 1

10 040427 M12x25 - DIN 933 8 8 8 8 8 8
11 040218 A13 - DIN 9021 8 8 8 8 8 8
12 040604 M8x20 - DIN 933 mvk 31 31 31 31 31 31
13 040216 A8,4 - DIN 9021 31 31 31 31 31 31
14 040534 M8x16 - DIN 933 8 8 8 8 8 8
15 040201 A8,4 - DIN 125 8 8 8 8 8 8
16 040008 M8 - DIN 985 8 8 8 8 8 8
17 040480 M8x20 8 8 8 12 12 12
18 040168 8 8 8 12 12 12
19 040014 M8 - DIN 934 verz. 8 8 8 12 12 12
20 041548 4,8x8 4 4 4 4 4 4
21 040272 A5 - DIN 9021 4 4 4 4 4 4

10/120
C



10 130

L R

2

8

9

3

10

11

4

5

6,7

6,7

23

16,17

21,22

12
13

14,15

1

18

19

20

16,17

16,17

16,17



A B D VS
 4

85

VS
 5

50

VS
 6

10

VS
 6

70

VS
76

0

VS
 9

10

- 806435 Pos. 1,8-22 1
- 806434 Pos. 1,8-22 1
- 806433 Pos. 1-22 1
- 806432 Pos. 1,8-22 1
- 806431 Pos. 1,8-22 1
- 806430 Pos. 1-22 1

1 806445 1
1 806444 1
1 806442 1
1 806441 1

- 806440 Pos. 2-7 1
- 806443 Pos. 2-7 1
2 806500 L 1
2 806502 L 1
3 806501 R 1
3 806503 R 1
4 806485 1 1
5 806486 1 1
6 040427 M12x25 - DIN 933 10 10
7 040157 Form B - DIN1524 10 10

8 806470 L 1 1 1 1 1 1
9 806460 M-L 1 1 1 1 1 1

10 806471 R 1 1 1 1 1 1
11 806461 M-R 1 1 1 1 1 1
12 806497 10 10 10 10 10 10
13 040445 M12x70 - DIN 603 8 8 8 8 8 8
14 040157 Form B - DIN1524 8 8 8 8 8 8
15 040016 M12 - DIN 934 8 8 8 8 8 8
16 040496 M12x30 - DIN 933 8 8 8 8 8 8
17 040157 Form B - DIN1524 8 8 8 8 8 8
18 040517 M16x160 - DIN 931 1 1 1 1 1 1
19 805275 1 1 1 1 1 1
20 805274 1 1 1 1 1 1
21 040571  M12x70 - DIN 933 2 2 2 2 2 2
22 040157 Form B - DIN1524 2 2 2 2 2 2
23 041393 Lamellenstopfen GPN 320 GL 35 1 1 1 1 1 1

10/130
C



20 100

15

14

3

16

1

12

5

15

15

15

6

4

11

18

11

12

8,9

10

7

13

14

2

26,27

31

54,55

28

18

23

24

25

32

37

39
42

43
44

46,47

40,41

34,35

36

49,50

29
52

33

29

30

45

26,27

51

20 19

59

57,58

56

21
22

53

38,41

48



A B D VS 485 VS 550 VS 610
- 810016 Pos. 1-59 1
- 810017 Pos. 1-59 1
- 810018 Pos. 1-59 1

1 810038 VS 16 1
1 810035 VS 18 1
1 810034 VS 20 1
2 941554 1 1 1
3 025252 RAE 30 NPPB 1 1 1
4 941557 1 1 1
5 025185 GRAE 55 NPPB 1 1 1
6 041104 55x2 - DIN 471 1 1 1
7 040491 M12x35 - DIN 933 6 6 6
9 040203 A13 - DIN 125 verz. 6 6 6
8 040010 M12 - DIN 985 verz. 6 6 6

10 910628 L 1 1 1
11 810536 80mm 6 10 10
12 810537 2
12 810528 2
12 810519 2
13 025115 GLCTE 30 5 9 9
14 810518 2 2
15 810517 2 4 4
16 810540 2 2 2
17 810531 M 1 1 1
18 042327 M10x75 - DIN 931 schw. - 10.9 24 40 40
19 635106 24 40 40
20 040073 M10 - DIN 985 verz. 24 40 40
21 910633 1 1 1
22 910634 R 1 1 1
23 040717 M14x30 - DIN 933 1 1 1
24 041405 ø72 ( KAPSTO) 2 2 2
25 025165 PME 35 1 1 1
26 040544 M10x25 - DIN 933 14 22 22
27 040202 A 10,5 - DIN 125 verz. 14 22 22
28 632309 14 16 18
29 040764 M8x20 verz. - 10.9 44 48 52
30 910105 4 4 4
31 632314 2 2 2

- 910690 L - Pos. 32-41 1 1 1
- 910691 R - Pos. 32-41 1 1 1

32 910692 L 1 1 1
32 910693 R   1 1 1
33 910694 L 5 5 5
33 910695 R   5 5 5
34 040418 M10x25 - DIN 933 - (Pos.35-L) 10 10 10
34 040418 M10x25 - DIN 933 - (Pos.35-R) 10 10 10
35 040158 Form B - DIN 1524 - (Pos.35-L) 10 10 10
35 040158 Form B - DIN 1524 - (Pos.3-R) 10 10 10
36 910696 (Pos.35-L) 5 5 5
36 910696 (Pos.35-R) 5 5 5
37 040955 M10x20 - 10.9 - (Pos.35-L) 2 2 2
37 040955 M10x20 - 10.9 - (Pos.35-R) 2 2 2
38 040009 M10 - DIN 985 - (Pos.35-L)  2 2 2
38 040009 M10 - DIN 985  - (Pos.35-R) 2 2 2

C

20/100



20 100

15

14

3

16

1

12

5

15

15

15

6

4

11

18

11

12

8,9

10

7

13

14

2

26,27

31

54,55

28

18

23

24

25

32

37

39
42

43
44

46,47

40,41

34,35

36

49,50

29
52

33

29

30

45

26,27

51

20 19

59

57,58

56

21
22

53

38,41

48



A B D VS 485 VS 550 VS 610
39 042384 M10x20 - 10.9 - (Pos.35-L) 10 10 10
39 042384 M10x20 - 10.9 - (Pos.35-R) 10 10 10
40 040009 M10 - DIN 985 - (Pos.35-L)  10 10 10
40 040009 M10 - DIN 985 - (Pos.35-R) 10 10 10
41 040202 A 10,5 - DIN 125 - (Pos.35-L) 10 10 10
41 040202 A 10,5 - DIN 125 - (Pos.35-L) 10 10 10

42 042361 M6x20 - DIN 6921 verz.mvk n.B. n.B. n.B.
43 631124 41 43 43

- 632331 Schneckenzinken - Pos.44-48 41 43 43
44 631264 41 43 43
45 631335 41 43 43
46 040851 M8x40 - DIN 931 - 8.8 82 86 86
47 040201 A8,4 - DIN 125 82 86 86
48 040008 M8 - DIN 985 82 86 86

49 040418 M10x25 - DIN 933 8 8 8
50 040202 A 10,5 - DIN 125 verz. 8 8 8
51 040009 M10 - DIN 985 verz. 8 8 8
52 631331 n.B. n.B. n.B.
53 910694 L n.B. n.B. n.B.
53 910695 R   n.B. n.B. n.B.
54 040418 M10x25 - DIN 933 n.B. n.B. n.B.
55 040158 Form B - DIN 1524 n.B. n.B. n.B.
56 042341 M10x30 - DIN 54850 - 8.8 n.B. n.B. n.B.
57 040202 A 10,5 - DIN 125 verz. n.B. n.B. n.B.
58 040009 M10 - DIN 985  n.B. n.B. n.B.
59 910696 n.B. n.B. n.B.

C

20/100



20 150

2

6

21

9,10

4,4a,5

3

7

8

1

12,13

20
17

16

8

9,10

14

15

18,19

1112,13



A B C D 
- 810005 1 VS 485 - Pos.1-21
- 810003 1 VS 550 - Pos.1-21
- 810002 1 VS 610 - Pos.1-21

1 810017 1 VS 485 - B 20/100
1 810016 1 VS 550 - B 20/100
1 810018 1 VS 610 - B 20/100
2 910681 n.B. 2,5mm
3 941544 1
4 040492 4 M12x45 - DIN 933

4a 040455 4 M12x40 - DIN 933
5 040124 4 für M12
6 941001 1 B 40/200
7 910675 1
8 040417 8 M12x30 - DIN 603
9 040213 8 13 - DIN 7349

10 040010 8 M12 - DIN 985
11 810533 1
12 040418 6 M10x25 - DIN 933
13 040231 6 Form M - DIN 1524
14 910677 1 R
15 910645 1 R
16 025042 1 FLCTE 35
17 040928 2 M10x40 - DIN 931
18 040202 2 A 10,5 - DIN 125 
19 040009 2 M10 - DIN 985
20 910641 1 R
21 041536 2 GPN 900 

    
    

   

20/150



12,13

76

74,75

71

VS30

60 A

64,65

4,5

2
6

2

11

21

19

18

79

10

10

10

16
15

32,33

51

55

69

38

66

59

39

37

17

18

10

7,8

6

33,34 3631

35
30

20

63

67,68

62

61

78

77

3

2

18

19

14
10

11

21

2954
53

52

49,50

58

40

41

42

43

56,57
44

47,48 45 46

23

22
282627

9

1

24,25

64,65

72,73

A

70

20 200



A B D VS 670 VS 760 VS 910
- 810012 L - Pos. 1-78 1
- 810010 L - Pos. 1-78 1
- 810014 L - Pos. 1-79 1

1 810032 L 1
1 810030 L 1
1 810036 L 1
2 810540 2 2 2
3 040444 M10x25 - DIN 933 8 8 12
4 040202 A 10,5 - DIN 125 8 8 12
5 040009 M10 - DIN 985  8 8 12
6 025115 GLCTE 30 6 6 8
7 040544 M10x25 - DIN 933 10 8 16
8 040202 A 10,5 - DIN 125 10 8 16
9 025252 RAE 30 NPPB 1 1 1

10 810517 2 2 3
11 810536 80mm 7 7 9
12 040620 M10x50 - DIN 931 - bis Bauj.2009 14 14 18
13 040231 Form M - DIN 1524 - bis Bauj.2009 14 14 18
14 042327 M10x75 - DIN 931 schw. - 10.9 (ab Bauj.2009) 14(28) 14(28) 18(36)
15 635106 (ab Bauj.2009) 14(28) 14(28) 18(36)
16 040073 M10 - DIN 985 verz. - 10.9 (ab Bauj.2009) 14(28) 14(28) 18(36)
17 910630 1 1 1
18 810518 2 2 2
19 810529 2
19 810519 2 2
20 810520 M 1 1 1
21 810523 L 1 1 1
22 941554 1 1 1
23 040491 M12x35 - DIN 933 6 6 6
24 040203 A13 - DIN 125 verz. 6 6 6
25 040010 M12 - DIN 985 verz. 6 6 6
26 941557 1 1 1
27 025185 GRAE 55 NPPB 1 1 1
28 041104 55x2 - DIN 471 1 1 1
29 040717 M14x30 - DIN 933 1 1 1

- 632331 Pos. 30-34 46 48 50
30 631335 46 48 50
31 631264 23 24 25
32 040851 M8x40 - DIN 931 46 48 50
33 040201 A8,4 - DIN 125 92 96 100
34 040008 M8 - DIN 985 46 48 50

35 631124 23 24 25
36 042361 M6x20 - DIN 96912  verz. mvk 46 48 50
37 632314 1 1 1
38 910105 2 2 2
39 040764 M8x20 verz. - 10.9 8 8 8
40 810512 1 1 1
41 810538 1 1 1
42 810511 1 1 1
43 810500 1 1 1
44 810508 1 1 1
45 025186 RA 30 1 1 1
46 041015 30x1,5 - DIN 471 1 1 1

20/200
C



12,13

76

74,75

71

VS30

60 A

64,65

4,5

2
6

2

11

21

19

18

79

10

10

10

16
15

32,33

51

55

69

38

66

59

39

37

17

18

10

7,8

6

33,34 3631

35
30

20

63

67,68

62

61

78

77

3

2

18

19

14
10

11

21

2954
53

52

49,50

58

40

41

42

43

56,57
44

47,48 45 46

23

22
282627

9

1

24,25

64,65

72,73

A

70

20 200



A B D VS 670 VS 760 VS 910
47 040975 M10x18 - DIN 933 3 3 3
48 040202 A 10,5 - DIN 125 3 3 3
49 040474 M12x20 - DIN 933 5 5 5
50 040124 Form M - DIN 1524 5 5 5
51 810509 5 5 5
52 025190 LR 205 NPPU 5 5 5
53 810510 5 5 5
54 040725 M8x14 - DIN 933 10.9 mvk 5 5 5
55 040427 M12x25 - DIN 933 5 5 5
56 040203 A13 - DIN 125 verz. 5 5 5
57 040010 M12 - DIN 985 verz. 5 5 5
58 040596 M8x20 - DIN 912 verz. 10 10 10
59 631331 n.B. n.B. n.B.
60 040764 M8x20 verz. - 10.9 n.B. n.B. n.B.

- 910690 L - Pos. 61-69 1 1 1
61 910692 L 1 1 1
62 910694 L 5 5 5
63 042384 M10x30 verz. - 10.9 10 10 10
64 040202 A 10,5 - DIN 125 verz. 12 12 12
65 040009 M10 - DIN 985 12 12 12
66 040955 M10x25 verz. - 10.9 2 2 2
67 040418 M10x25 - DIN 933 10 10 10
68 040158 Form M - DIN 1524 10 10 10
69 910696 5 5 5

70 910694 L n.B. n.B. n.B.
71 042341 M10x30 n.B. n.B. n.B.
72 040158 Form M - DIN 1524 n.B. n.B. n.B.
73 040009 M10 - DIN 985 n.B. n.B. n.B.
74 040418 M10x25 - DIN 933 n.B. n.B. n.B.
75 040158 Form B - DIN 1524 n.B. n.B. n.B.
76 910696 n.B. n.B. n.B.
77 632309 10 11 14
78 040764 M8x20 verz. - 10.9 20 22 28
79 810535 1

20/200
C



20 250

VS 910

27

1

50 49

52
59

56

53

51

35 3433

23,24

21

38

22

37
36

25

20

18

2
3

7,8

6

9

9

16

15
14

13

10

11,12

17

17

28,29

32

31

19

26

45

43,44

42
39

40

41

48

46,47

29,30

54,55

57,58
54,55

4,5

61 6660

62,63

65

64

A

A

9

67

9

9

2

17

18

20

6

10



A B D VS 670 VS 760 VS 910
- 810013 R - Pos. 1-66 1
- 810011 R - Pos. 1-66 1
- 810015 R - Pos. 1-67 1

1 810033 R 1
1 810031 R 1
1 810037 R 1
2 810540 1 1 2
3 040418 M10x25 - DIN 933 8 8 12
4 040009 M10 - DIN 985  8 8 12
5 040202 A 10,5 - DIN 125 verz. 8 8 12
6 025115 GLCTE 30 7 7 9
7 040544 M10x25 - DIN 933 14 14 18
8 040202 A 10,5 - DIN 125 14 14 18
9 810517 2 2 3

10 810536 80mm 7 7 9
11 040620 M10x50 - DIN 931 verz. - bis Bauj.2009 14 14 18
12 040231 Form M - DIN 1524. - bis Bauj.2009 14 14 18
13 042327 M10x75 - DIN 931 schw. - 10.9 - (ab Bauj.2009) 14(28) 14(28) 18(36)
14 635106 (ab Bauj.2009) 14(28) 14(28) 18(36)
15 040073 M10 - DIN 985 verz. - 10.9(ab Bauj.2009) 14(28) 14(28) 18(36)
16 910630 M 1 1 1
17 810518 2 2 2
18 810529 1
18 810519 1 1
19 810520 M 1 1 1
20 910634 R 1 1 1
21 025165 PME 35 1 1 1
22 910633 1 1 1
23 040544 M10x25 - DIN 933 4 4 4
24 040202 A 10,5 - DIN 125 4 4 4
25 040717 M14x30 - DIN 933 1 1 1

- 632331 Pos.26-30 23 26 27
26 631335 46 52 54
27 631264 23 26 27
28 040851 M8x40 - DIN 931 46 52 54
29 040201 A8,4 - DIN 125 46 52 54
30 040008 M8 - DIN 985 46 52 54

31 631124 23 26 27
32 042361 M6x20 - DIN 96912  verz. mvk 46 52 54
33 632314 1 1 1
34 910105 2 2 2
35 040764 M8x20 verz. - 10.9 8 8 8
36 632309 10 11 14
37 040764 M8x20 verz. - 10.9 20 22 28
38 041405 ø72 2 2 2
39 025186 RA 30 1 1 1
40 810508 1 1 1
41 810500 1 1 1
42 041015 30x1,5 - DIN 471 1 1 1
43 040975 M10x18 - DIN 933 5 5 5
44 040202 A 10,5 - DIN 125 verz. 5 5 5
45 040427 M12x25 - DIN 933 5 5 5
46 040203 A13 - DIN 125 verz. 5 5 5

20/250
C



20 250

VS 910

27

1

50 49

52
59

56

53

51

35 3433

23,24

21

38

22

37
36

25

20

18

2
3

7,8

6

9

9

16

15
14

13

10

11,12

17

17

28,29

32

31

19

26

45

43,44

42
39

40

41

48

46,47

29,30

54,55

57,58
54,55

4,5

61 6660

62,63

65

64

A

A

9

67

9

9

2

17

18

20

6

10



A B D VS 670 VS 760 VS 910
47 040010 M12 - DIN 985 verz. 5 5 5
48 040725 M8x14 - DIN 933 5 5 5
49 631331 n.B. n.B. n.B.
50 040764 M8x20 verz. - 10.9 n.B. n.B. n.B.

- 910691 R - Pos. 51-59 1 1 1
51 910693 R 1 1 1
52 910695 R 5 5 5
53 042384 M10x30 - verz. - 10.9 10 10 10
54 040202 A 10,5 - DIN 125 12 12 12
55 040009 M10 - DIN 985 12 12 12
56 040955 M10x20 - verz. - 10.9 2 2 2
57 040158 Form B - DIN 1524 10 10 10
58 040418 M10x25 - DIN 933 10 10 10
59 910696 5 5 5

60 910695 R n.B. n.B. n.B.
61 042384 M10x30 - verz. - 10.9 n.B. n.B. n.B.
62 040202 A 10,5 - DIN 125 n.B. n.B. n.B.
63 040009 M10 - DIN 985 n.B. n.B. n.B.
64 040418 M10x25 - DIN 933 n.B. n.B. n.B.
65 040158 Form B - DIN 1524 n.B. n.B. n.B.
66 910696 n.B. n.B. n.B.
67 810535 1

20/250
C



20 300

3

8

4

5,5a,6

7

12

14,15

13
14,15

10,11

9

1

1

2

16,17

21,22

1823

23
19

20

20

21,22

2
27

26

34

24
25

35,36

28,29
32,33

3031

32,33



A B C D 
- 810001 1 VS 670 - Pos.1-36
- 810000 1 VS 760 - Pos.1-36
- 810004 1 VS 910 - Pos.1-36

1 810012 1 L - VS 670 - B 20/200
1 810010 1 L - VS 760 - B 20/200
1 810014 1 L - VS 910 - B 20/200
2 810013 1 R - VS 670 - B 20/250
2 810011 1 R - VS 760 - B 20/250
2 810015 1 R - VS 910 - B 20/250
3 910681 n.B. 2,5mm
4 941544 1
5 040492 4 M12x45 - DIN 933

5a 040455 4 M12x40 - DIN 933
6 040124 4
7 941001 1 B 40/200
8 910675 1
9 040417 4 M12x30 - DIN 603

10 040213 4 13 - DIN 7349
11 040010 4 M12 - DIN 985
12 810533 1
13 810525 1 L
14 040418 6 M10x25 - DIN 933
15 040231 6 Form M - DIN 1524
16 040474 5 M12x20 - DIN 933
17 040124 5
18 810539 2
19 810530 2
20 040570 4 M12x55 - DIN 933
21 040218 4 A13 - DIN 9021
22 040010 4 M12 - DIN 985
23 814165 n.B.
24 910677 1 R
25 910645 1 R
26 025042 1 FLCTE 35
27 040928 2 M10x40 - DIN 931
28 040202 2 A 10,5 - DIN 125 verz.
29 040009 2 M10 - DIN 985
30 810533 1
31 910641 1 R
32 040418 6 M10x25 - DIN 933
33 040231 6 Form M - DIN 1524
34 040417 4 M12x30 - DIN 603
35 040213 4 13 - DIN 7349
36 040010 4 M12 - DIN 985

20/300



30 100

1

3

612

4

5
3

9

14

10
11

13

15

18

21
22

23
24

25

27

28 31

43

37

39

40

46
47

48
49

50
51

52

5354

5150 58

63
62

5960,61

77

76

75

74

72,73 68

71 69,70

36

38
41,42

34

78,79

66,67 65 64

2

44,45

3557 56

62

7

8
16,17

19,20

29,30

32,33

55

26

VS 910
2



A B D VS 485 VS 550 VS 610 VS 670 VS 760 VS 910
- 838205 Pos. 1-79 + B30/110 1
- 838201 Pos. 1-79 + B30/110 1
- 838202 Pos. 1-79 + B30/110 1
- 838203 Pos. 1-79 + B30/110 1
- 838200 Pos. 1-79 + B30/110 1
- 838204 Pos. 1-79 + B30/160 1

1 B30/170 1 1 1 1 1 1
2 838381 2 3
2 838407 2 3
2 838405 2 3
2 838403 2 3
2 838401 2 3
2 838409 2 3
3 838380 1 3
3 838406 1 3
3 838404 1 3
3 838402 1 3
3 838400 1 3
3 838408 1 3
4 626011 93 105 117 129 147 174
5 936411 93 105 117 129 147 174
6 936416 M8x52 93 105 117 129 147 174
7 040008 M8 - DIN 985 93 105 117 129 147 174
8 040279 37x45x2x- DIN 988 24 24 30 30 36 48
9 935554 24 24 30 30 36 48

10 935544 24 24 30 30 36 48
11 040279 37x45x2x- DIN 988 72 72 90 90 108 144
12 041078 8x45 - DIN 1481 36 36 48 48 60 84
13 041446 GPN 320 GL 32 24 24 30 30 36 48
14 838452 24 24 30 30 36 48
15 040413 M8x25 - DIN 603 verz. 24 24 30 30 36 48
16 040201 A 8,4 - DIN 125 verz. 24 24 30 30 36 48
17 040008 M8 - DIN 985 verz. 24 24 30 30 36 48
18 040579 M10x20 - DIN 603 verz. 120 120 150 150 180 240
19 040202 A 10,5 - DIN 125 verz. 120 120 150 150 180 240
20 040009 M10 - DIN 985 120 120 150 150 180 240
21 040251 35x45x2 - DIN 988 6 6 6 6 6 6
22 935554 6 6 6 6 6 6
23 935544 6 6 6 6 6 6
24 040251 35x45x2 - DIN 988 18 18 18 18 18 18
25 838426 6 6 6 6 6 6
26 040222 R11 - DIN 440 verz. 6 6 6 6 6 6
27 040955 M10x20 verz. - 10.9 6 6 6 6 6 6
28 040413 M8x25 - DIN 603 verz. 6 6 6 6 6 6
29 040201 A 8,4 - DIN 125 verz. 6 6 6 6 6 6
30 040008 M8 - DIN 985 verz. 6 6 6 6 6 6
31 040579 M10x20 - DIN 603 verz. 6 6 6 6 6 6
32 040202 A 10,5 - DIN 125 verz. 6 6 6 6 6 6
33 040009 M10 - DIN 985 6 6 6 6 6 6
34 838435 1 1 1 1 1 1
35 838433 1 1 1 1 1 1
36 626222 3 3 3 3 3 3
37 025053 6301 2RS 3 3 3 3 3 3
38 041544 37x1,5 - DIN 472 3 3 3 3 3 3
39 936290 ø20x3,75 3 3 3 3 3 3

30/100
C



30 100

1

3

612

4

5
3

9

14

10
11

13

15

18

21
22

23
24

25

27

28 31

43

37

39

40

46
47

48
49

50
51

52

5354

5150 58

63
62

5960,61

77

76

75

74

72,73 68

71 69,70

36

38
41,42

34

78,79

66,67 65 64

2

44,45

3557 56

62

7

8
16,17

19,20

29,30

32,33

55

26

VS 910
2



A B D VS 485 VS 550 VS 610 VS 670 VS 760 VS 910
40 040455 M12x40 - DIN 933 3 3 3 3 3 3
41 040208 A13 - DIN 433 galv. verz. 3 3 3 3 3 3
42 040010 M12 - DIN 985 verz. 3 3 3 3 3 3
43 040402 M10x25 - DIN 603 12 12 12 12 12 12
44 040202 A10,5 - DIN 125 12 12 12 12 12 12
45 040009 M10 - DIN 985 12 12 12 12 12 12
46 935549 1 1 1 1 1 1
47 040251 35x45x2 - DIN 988 4 4 4 4 4 4
48 040226 35x45x1 - DIN 988 2 2 2 2 2 2
49 041146 65x2,5 - DIN 471 1 1 1 1 1 1
50 040134 65x85x2 - DIN 988 n.B. n.B. n.B. n.B. n.B. n.B.
51 040135 Paßscheibe 65x85x1 - DIN 988 n.B. n.B. n.B. n.B. n.B. n.B.
52 936257 L 1 1 1 1 1 1
53 041103 5x20 - DIN 1481 1 1 1 1 1 1
54 627200 1 1 1 1 1 1
55 040202 A 10,5 - DIN 125 verz. 1 1 1 1 1 1
56 041957 249A 1 1 1 1 1 1
57 041398 Form E - DIN 313 1 1 1 1 1 1
58 838503 1 1 1 1 1 1
59 510087 1 1 1 1 1 1
60 040418 M10x25 - DIN 933 1 1 1 1 1 1
61 040231 Form M - DIN 1524 1 1 1 1 1 1
62 838494 1 1 1 1 1 1
63 026379 M6 1 1 1 1 1 1
64 040427 M12x25 - DIN 933 2 2 2 2 2 2
65 040213 13  - DIN 7349 2 2 2 2 2 2
66 040460 M10x120 - DIN 931 2 2 2 2 2 2
67 040202 A 10,5 - DIN 125 verz. 2 2 2 2 2 2
68 838436 ø30x9x90,5 2 2 2 2 2 2
69 040418 M10x25 - DIN 933 1 1 1 1 1 1
70 040231 Form M - DIN 1524 1 1 1 1 1 1
71 838444 2 2 2 2 2 2
72 040545 M10x25 - DIN 912 verz. 1 1 1 1 1 1
73 040231 Form M - DIN 1524 1 1 1 1 1 1
74 838431 L 1 1 1 1 1 1
75 940002 1 1 1 1 1 1
76 041410 82x3xNBR 72 1 1 1 1 1 1
77 026764 OMP 250 1 1 1 1
77 048039 OMP 315 1 1
78 040496 M12x30 - DIN 933 1 1 1 1 1 1
79 040124 M12 1 1 1 1 1 1

30/100
C



30 110

13

24

27,28

18

21,22

16

19

20

28,29

18

17

1

6
4

5

3
7

10

11,12

8,9

2

4

14,15

22,23

25,26



A B C D
1 B 30/100
2 838450 1 R
3 935554 6
4 040279 n.B. 37x45x2 - DIN 988
5 935544 6
6 838511 6 R
7 040413 6 M8x25 - DIN 603 verz.
8 040201 6 8.4 - DIN 125 verz.
9 040008 6 M8 - DIN 985 

10 040579 12 M10x20 - DIN 603
11 040202 12 A 10,5 - DIN 125 verz.
12 040009 12 M10 - DIN 985 verz.
13 040579 18 M10x20 - DIN 603
14 040202 18 A 10,5 - DIN 125 verz.
15 040009 18 M10 - DIN 985 verz.
16 838443 1 R
17 838442 1 R
18 838444 2
19 838436 2 ø30x9x90,5
20 025042 1 FLCTE 35
21 040460 2 M10x120 - DIN 931
22 040202 4 A10,5 - DIN 125 verz.
23 040073 2 M10 - DIN 985 - 10
24 040522 2 M10x50 - DIN 933 verz.
25 040202 2 A 10,5 - DIN 125 verz.
26 040009 2 M10 - DIN 985 verz.
27 040418 1 M10x25 - DIN 933
28 040202 4 A10,5 - DIN 125 verz.
29 040073 2 M10 - DIN 985 - 10

30/110



30 160

1

4

3

5

4
6

7
8

9

10,11

12

13,14

46

47
48

49
50

51

52
53

54

55,56

15
16

17

18
19

2021222324

25

26
27

28
29

30

31

32

34

33

35

36

40

41
4243

44
45

33

37,38

38
39

2



A B C D
- 838445 1 R - Pos.2,3,5,9-14,17-25,30-56

1 B30/170 1
2 838433 1
3 935554 6
4 040251 24 35x45x2 - DIN 988 
5 935544 6
6 838426 6
7 040222 6 R11 - DIN 440 
8 040955 6 M10x20 verz. - 10.9
9 040413 6 M8x25 - DIN 603 

10 040201 6 8,4 - DIN 125 
11 040008 6 M8 - DIN 985
12 040579 12 M10x20 - DIN 603 
13 040202 12 A10,5 - DIN 125  
14 040009 12 M10 - DIN 985  
15 040226 2 35x45x1 - DIN 988
16 040251 2 35x45x2 - DIN 988
17 041146 1 65x2,5 - DIN 471 
18 040134 n.B. 65x85x2 - DIN 988
19 040135 n.B. 65x85x1 - DIN 988
20 936259 1 R
21 627200 1
22 040202 1 A10,5 - DIN 125
23 041957 1
24 041398 1 DIN 313
25 041103 1 5x20 - DIN 1481 
26 838503 1
27 040251 1 35x45x2 - DIN 988
28 040135 1 65x85x1 - DIN 988
29 040134 n.B. 65x85x2 - DIN 988
30 838492 1 R
31 026379 1 M6

- 838440 1 R - Pos.32-45
32 838443 1
33 838444 2
34 838436 2 ø30x9,5x81
35 838442 1 R
36 025042 1 FLCTE 35
37 040460 2 M10x120 - DIN 931 
38 040202 4 A10,5 - DIN 125
39 040073 2 M10 - DIN 985  
40 040418 1 M10x25 - DIN 933
41 040202 1 A10,5 - DIN 125
42 040009 1 M10 - DIN 985  

43 040522 2 M10x50 - DIN 933
44 040202 2 A10,5 - DIN 125
45 040009 2 M10 - DIN 985  
46 838435 1
47 626222 3
48 025053 3 6301 2RS
49 041544 3 ø37x1,5 - DIN 472
50 936290 3 20x3,75
51 040455 3 M12x40 - DIN 933

30/160



30 160

1

4

3

5

4
6

7
8

9

10,11

12

13,14

46

47
48

49
50

51

52
53

54

55,56

15
16

17

18
19

2021222324

25

26
27

28
29

30

31

32

34

33

35

36

40

41
4243

44
45

33

37,38

38
39

2



A B C D
52 040208 3 A13 - DIN 433 gal. verz.
53 040010 3 M12 - DIN 985  
54 040402 12 M10x25 - DIN 603
55 040202 12 A10,5 - DIN 125
56 040009 12 M10 - DIN 985  

30/160



30 170

1

2

3

4

5

5

4

6

6

7,8

7,8

9,10

9,10



A B D VS 485 VS 550 VS 610 VS 670 VS 760 VS 910
- 838214 Pos. 1-10 1
- 838210 Pos. 1-10 1
- 838211 Pos. 1-10 1
- 838212 Pos. 1-10 1
- 838213 Pos. 1-10 1
- 838215 Pos. 1-10 1

1 838250 1
1 838251 1
1 838252 1
1 838253 1
1 838254 1
1 838255 1
2 838220 1 1 1 1
2 838240 1 1
3 838235 1
3 838223 1 1 1
3 838241 1 1
4 838229 2 2 2 2 2 2
5 838222 2 2 2 2 2 2
6 040452 M10x30 - DIN 603 12 12 12 12 12 12
7 040202 A 10,5 - DIN 125 12 12 12 12 12 12
8 040009 M10 - DIN 985 12 12 12 12 12 12
9 042390 M10x30 - DIN 933 12.9 8 8 8 8 8 8

10 040202 A 10,5 - DIN 125 8 8 8 8 8 8

30/170
C



30 200

20
19

3
18

25

27

2829

37

21,22
23

17

16

16

36

38

27

26
4,5

4,5

30
4

24

3

4,5

4,5

34

33

35

31
32

7

23
6

4

10

8

8

4
10

2

1

6

35

34

20

9

14,15

12

13,14

39

11

26



A B C D
- 833001 1 L - Pos. 1-39

1 833000 1 L
2 833042 1
3 040503 2 M16x60 - DIN 931
4 040011 7 M16 - DIN 985 
5 040204 7 A17 - DIN 125
6 041208 2 B10 h11x60 - DIN 1444
7 041516 1 d=3mm - DIN 11024
8 833039 2
9 041472 1 M16 - DIN 1480

10 040214 2 17 - DIN 7349 
11 041491 1 GPN 270 - 80x40x5
12 814037 1
13 040507 4 M10x35 - DIN 933
14 040160 8 10,2 - Form M - DIN 1524
15 040003 4 M10 - DIN 934
16 040193 2 ø75,1x88x3
17 041250 1 75x2,5 - DIN 471
18 833046 1
19 833047 1
20 833048 2
21 040645 1 M8x12 - DIN 933
22 040159 1 8,4 - Form M - DIN 1524
23 040931 2 M16x70 - DIN 931
24 833052 1
25 833051 1
26 025116 2 GIR 17 DO-2RS DIN 648
27 042014 2 M16 - DIN 439 verz. 
28 040144 1 16x22x1,5 - DIN 988
29 041539 1 16x1,5 - DIN 471
30 833049 1
31 833053 1
32 621330 1
33 041394 1 B10 h11x40 - DIN 1444 
34 040202 2 A10,5 - DIN 125
35 041477 2 3,2x18 - DIN 94 
36 833056 1 ø20
37 040250 1 A21 - DIN 125 verz.
38 042811 1 8x40 - DIN 1481 verz.
39 041668 1 GL 76 2-3 GPN 320

30/200



30 210

3

5
4

2

27

24
25

26

12

13,14

14,15

38 3

22

23

3
20,21

8

9

8

10
4

6

39

11

1

7

6

30
29

32

33

33

32

31

37

36

35

16

17
16

34

24

4,5

4,5

4,54,5
27

28

1

19
18

18

10



A B D
VS 485 -
VS 760 VS 910

- 833011 R - Pos. 1-22,24,2734,36-39 1
- 833011 R - Pos. 1-39 1

1 833010 R 1 1
2 833042 1 1
3 040503 M16x60 - DIN 931 3 3
4 040204 17 - DIN 125 5 5
5 040011 M16 - DIN 985 7 7
6 041208 B10 h11x60 - DIN 1444 2 2
7 041516 d=3mm - DIN 11024 1 1
8 833039 2 2
9 041472 M16 - DIN 1480 1 1

10 040214 17 - DIN 7349 2 2
11 041491 GPN 270 - 80x40x5 1 1
12 814037 1 1
13 040507 M10x35 - DIN 933 4 4
14 040160 10,2 - Form M - DIN 1524 8 8
15 040003 M10 - DIN 985 4 4
16 040193 ø75,1x88x3 2 2
17 041250 75x2,5 - DIN 471 1 1
18 833048 2 2
19 833047 Sicherungsblech 1 1
20 040645 M8x12 - DIN 933 1 1
21 040159 8,4x18,2x2,35 - Form M - DIN 1524 1 1
22 833046 1 1
23 833051 1
24 025116 GIR 17 DO-2RS DIN 648 1 2
25 040144 16x22x1,5 - DIN 988 1
26 041539 AS 16x1,5 - DIN 471 1
27 042014 M16 - DIN 439 verz. 1 2
28 833049 1 1
29 833055 1 1
30 621330 1 1
31 041394 B10h11x40 - DIN 1444 1 1
32 040202 A10,5 - DIN 125 2 2
33 041477 3,2x18 - DIN 94 2 2
34 833056 ø20 1 1
35 833050 2
36 040250 A21 - DIN 125 verz. 1 1
37 042811 8x40 - DIN 1481 verz. 1 1
38 041668 GL 76 2-3 GPN 320 1 1
39 040931 M16x70 - DIN 931 1 1

30/210
C



 



Blatt-Nummer Menge Benennung

B40/150 3,2l EP SAE 85W-90

B40/160 ? ?

B40/170 150g Klübersynth. GE 14 - 151

B40/210 0,4l Fließfett

B40/000



40 150

43

1

44

45

2

3

21

4
5

6
7

8
9

16

13
10

12

15
14

11

17

18

19

42

29

10
11

20

29

41

22
23

24
25

26
24

27

28

27

30

49

48
47

46

50

51

31

32

33

34

35

32

37

36

38

39 32 40

B40/000



A B D  N
H

 - 
TX

6x
,  

TF
7x

  -
 b

is
 B

j.0
1

 D
F  

- 4
0x

x,
 5

6x
x

 C
L  

- D
O

 1
xx

/2
xx

; M
ed

io
n 

3x
x;

 M
eg

a 
3x

x;
   

   
   

   
   

  
iC

L 
-  L

ex
io

n 
4x

x/
5x

x/
60

0;
 T

uc
an

o 
3x

x/
4x

x;
   

   
   

   
   

 
iF

E 
94

60
,  

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

iM
F  

98
95

 m
. V

ar
ia

to
r

 J
D

 - 
14

50
/1

55
0 

m
. S

F-
E

ur
op

a;
  2

0x
x/

22
xx

;  
   

   
   

   
 

iJ
D

 - 
9x

xx
 E

;  
S

xx
x,

 T
xx

x,
 C

xx
x,

 W
xx

x 
   

   
   

   
   

   
   

 
iC

as
e  

A
F 

21
xx

/2
3x

x;
  

 A
FX

 - 
xx

10
 m

. V
ar

ia
to

r

- 840110 z=26/16 - Pos.1-21,23-51
- 840111 z=25/17 - Pos.1-21,23-51 1
- 840112 z=23/18 - Pos.1-21,23-51 1
- 840113 z=23/19 - Pos.1-21,23-51 1
- 840114 z=22/20 - Pos.1-21,23-51
- 840115 z=20/22 - Pos.1-21,23-51 1
- 840116 z=19/23 - Pos.1-21,23-51 1
- 840117 z=21/20 - Pos.1-21,23-51
- 840118 z=20/21 - Pos.1-21,23-51

1 840160 1 1 1 1 1
2 041502 RW45 - DIN 7993 1 1 1 1 1
3 840164 1 1 1 1 1
4 840169 z=27 1 1 1 1 1
5 840173 ø45x5x35 1 1 1 1 1
6 041501 SB45 1 1 1 1 1
7 041496 40x52x7 - DIN 3760 1 1 1 1 1
8 840166 1 1 1 1 1
9 040183 ø60x75x0,3 - DIN 988 n.B. n.B. n.B. n.B. n.B.

10 025221 6012 - DIN 625 2 2 2 2 2
11 041168 J95x3 - DIN 472 2 2 2 2 2
12 040182 ø60x75x0,5 - DIN 988 n.B. n.B. n.B. n.B. n.B.
13 040141 ø60x75x3 - DIN 988 n.B. n.B. n.B. n.B. n.B.
14 041166 A60x2 - DIN 471 1 1 1 1 1
15 041498 60x95x10 - DIN 3760 1 1 1 1 1
16 042289 M10x20 - DIN 7984 - 8.8 2 2 2 2 2
17 040682 M10x30 - DIN 912 - 8.8 12 12 12 12 12
18 840167 305mm 1 1 1 1 1
19 042236 M10x45 - DIN 912 - 8.8 6 6 6 6 6
20 041499 35x3 1 1 1 1 1
21 840163 1 1 1 1 1
22 840174 1000Nm - VS 485-670 1 1 1 1 1
22 840176 1300Nm - VS 760-910 1 1 1 1 1
23 041487 34x1,5 - DIN 471 1 1 1 1 1
24 041347 125x4 - DIN 472 2 2 2 2 2
25 041500 125x3 1 1 1 1 1
26 840162 1 1 1 1 1
27 025218 6007 - DIN 625 2 2 2 2 2
28 840170 z=16 1 1 1 1 1
29 040142 ø35x45x2,5 - DIN 988 n.B. n.B. n.B. n.B. n.B.
30 040181 ø63x80x0,1 - DIN 988 n.B. n.B. n.B. n.B. n.B.
31 026928 M18x1,5 1 1 1 1 1

40/150
C



40 150

43

1

44

45

2

3

21

4
5

6
7

8
9

16

13
10

12

15
14

11

17

18

19

42

29

10
11

20

29

41

22
23

24
25

26
24

27

28

27

30

49

48
47

46

50

51

31

32

33

34

35

32

37

36

38

39 32 40

B40/000



A B D  N
H

 - 
TX

6x
,  

TF
7x

  -
 b

is
 B

j.0
1

 D
F  

- 4
0x

x,
 5

6x
x

 C
L  

- D
O

 1
xx

/2
xx

; M
ed

io
n 

3x
x;

 M
eg

a 
3x

x;
   

   
   

   
   

  
iC

L 
-  L

ex
io

n 
4x

x/
5x

x/
60

0;
 T

uc
an

o 
3x

x/
4x

x;
   

   
   

   
   

 
iF

E 
94

60
,  

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

iM
F  

98
95

 m
. V

ar
ia

to
r

 J
D

 - 
14

50
/1

55
0 

m
. S

F-
E

ur
op

a;
  2

0x
x/

22
xx

;  
   

   
   

   
 

iJ
D

 - 
9x

xx
 E

;  
S

xx
x,

 T
xx

x,
 C

xx
x,

 W
xx

x 
   

   
   

   
   

   
   

 
iC

as
e  

A
F 

21
xx

/2
3x

x;
  

 A
FX

 - 
xx

10
 m

. V
ar

ia
to

r

32 041297 A18x22x1,5 - DIN 7608 3 3 3 3 3
33 042210 M8x30 - DIN912 - 8.8 12 12 12 12 12
34 042288 M8x45 - DIN912 - 8.8 4 4 4 4 4
35 040921 M18x1,5 - DIN 908 1 1 1 1 1
36 840175 LR 35x40x12,5 1 1 1 1 1
37 041497 40x62x7 - DIN 3760 1 1 1 1 1
38 041503 8x20 1 1 1 1 1
39 042294 M18x1,5 - DIN 908 1 1 1 1 1
40 840161 1 1 1 1 1
41 025219 6207 - DIN 625 1 1 1 1 1

- 840130 z=26/16 - Pos. 42+50
- 840131 z=25/17 - Pos. 42+50 1
- 840132 z=23/18 - Pos. 42+50 1
- 840133 z=23/19 - Pos. 42+50 1 1
- 840134 z=22/20 - Pos. 42+50 1
- 840135 z=21/22 - Pos. 42+50

42 840148 z=26
42 840147 z=25 1
42 840146 z=23 1 1
42 840145 z=22
42 840143 z=19 1
42 840144 z=20 1
42 840149 z=21
43 840172 ø48,3x4x18 1 1 1 1 1
44 840165 1 1 1 1 1
45 025217 6206 - DIN 625 1 1 1 1 1
46 040360 ø42x52x0,5 - DIN 988 n.B. n.B. n.B. n.B. n.B.
47 025216 NJ 205E - DIN 5412 1 1 1 1 1
48 840168 z=14 1 1 1 1 1
49 840171 z=51 1 1 1 1 1
50 840140 z=16 
50 840141 z=17 1
50 840142 z=18 1
50 840143 z=19 1
50 840144 z=20 
50 840145 z=22 1
50 840146 z=23 1
50 840149 z=21 
51 025220 6307 - DIN 625 1 1 1 1 1

40/150
C



40 150

43

1

44

45

2

3

21

4
5

6
7

8
9

16

13
10

12

15
14

11

17

18

19

42

29

10
11

20

29

41

22
23

24
25

26
24

27

28

27

30

49

48
47

46

50

51

31

32

33

34

35

32

37

36

38

39 32 40

B40/000



A B D iN
H

 -  
TX

6x
 a

b 
B

j. 
02

; C
S

 5
xx

/6
xx

/6
xx

x;
 C

X
 7

xx
/8

xx
; 

iN
H

 - 
C

R
 9

xx
, 9

xx
x;

 C
X

 8
xx

x;
 C

S
X

 7
xx

x 
;  

   
   

   
   

   
 

iC
as

e  
- A

FX
xx

10
, x

x2
0,

 A
F 

50
88

, 6
08

8,
 7

08
8 

   
   

   
  

IL
A

 -  
M

3x
x/

2x
xx

LX
E

/2
xx

LC
S

/2
xx

R
E

V
;  

   
   

   
   

   
   

  
iF

E  
- 5

xx
x/

6x
xx

C
; 5

xx
x/

6x
xx

E
;  

   
   

   
   

   
   

   
   

   
   

   
iM

F 
B

et
a/

A
ct

iv
a 

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   

 M
F  

- 7
27

4-
72

78
 C

er
ea

, b
is

 M
D

-N
r.6

14
90

 B
j.2

00
6 

   
 

iF
E 

- 8
30

0-
83

50
 b

is
 M

D
-N

r. 
61

49
0 

B
j.2

00
6

iM
F  

- 7
27

4/
72

78
 C

er
ea

 b
is

 M
D

-N
r.6

14
90

 B
j.2

00
 ; 

   
  

iM
F  

- B
et

a 
/A

ct
iv

a 
(P

ow
er

-F
lo

w
-K

an
al

); 
   

   
   

   
   

   
   

iM
F  

- 9
89

5 
o.

 V
ar

ia
to

r; 
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

 
iF

E 
-  8

30
0/

83
50

 a
b 

M
D

-N
r. 

61
49

0 
B

j.0
6;

   
   

   
   

   
   

  
iF

E  
- 9

46
0,

  5
xx

x/
6x

xx
C

;  
5x

xx
/6

xx
xE

   
   

   
   

   
   

   
   

- 840110 z=26/16 - Pos.1-21,23-51 1
- 840111 z=25/17 - Pos.1-21,23-51
- 840112 z=23/18 - Pos.1-21,23-51
- 840113 z=23/19 - Pos.1-21,23-51
- 840114 z=22/20 - Pos.1-21,23-51
- 840115 z=20/22 - Pos.1-21,23-51
- 840116 z=19/23 - Pos.1-21,23-51
- 840117 z=21/20 - Pos.1-21,23-51 1
- 840118 z=20/21 - Pos.1-21,23-51 1

1 840160 1 1 1
2 041502 RW45 - DIN 7993 1 1 1
3 840164 1 1 1
4 840169 z=27 1 1 1
5 840173 ø45x5x35 1 1 1
6 041501 SB45 1 1 1
7 041496 40x52x7 - DIN 3760 1 1 1
8 840166 1 1 1
9 040183 ø60x75x0,3 - DIN 988 n.B. n.B. n.B.

10 025221 6012 - DIN 625 2 2 2
11 041168 J95x3 - DIN 472 2 2 2
12 040182 ø60x75x0,5 - DIN 988 n.B. n.B. n.B.
13 040141 ø60x75x3 - DIN 988 n.B. n.B. n.B.
14 041166 A60x2 - DIN 471 1 1 1
15 041498 60x95x10 - DIN 3760 1 1 1
16 042289 M10x20 - DIN 7984 - 8.8 2 2 2
17 040682 M10x30 - DIN 912 - 8.8 12 12 12
18 840167 305mm 1 1 1
19 042236 M10x45 - DIN 912 - 8.8 6 6 6
20 041499 35x3 1 1 1
21 840163 1 1 1
22 840174 1000Nm - VS 485-670 1 1 1
22 840176 1300Nm - VS 760-910 1 1 1
23 041487 34x1,5 - DIN 471 1 1 1
24 041347 125x4 - DIN 472 2 2 2
25 041500 125x3 1 1 1
26 840162 1 1 1
27 025218 6007 - DIN 625 2 2 2
28 840170 z=16 1 1 1
29 040142 ø35x45x2,5 - DIN 988 n.B. n.B. n.B.
30 040181 ø63x80x0,1 - DIN 988 n.B. n.B. n.B.
31 026928 M18x1,5 1 1 1

40/150
C



40 150

43

1

44

45

2

3

21

4
5

6
7

8
9

16

13
10

12

15
14

11

17

18

19

42

29

10
11

20

29

41

22
23

24
25

26
24

27

28

27

30

49

48
47

46

50

51

31

32

33

34

35

32

37

36

38

39 32 40

B40/000



A B D iN
H

 -  
TX

6x
 a

b 
B

j. 
02

; C
S

 5
xx

/6
xx

/6
xx

x;
 C

X
 7

xx
/8

xx
; 

iN
H

 - 
C

R
 9

xx
, 9

xx
x;

 C
X

 8
xx

x;
 C

S
X

 7
xx

x 
;  

   
   

   
   

   
 

iC
as

e  
- A

FX
xx

10
, x

x2
0,

 A
F 

50
88

, 6
08

8,
 7

08
8 

   
   

   
  

IL
A

 -  
M

3x
x/

2x
xx

LX
E

/2
xx

LC
S

/2
xx

R
E

V
;  

   
   

   
   

   
   

  
iF

E  
- 5

xx
x/

6x
xx

C
; 5

xx
x/

6x
xx

E
;  

   
   

   
   

   
   

   
   

   
   

   
iM

F 
B

et
a/

A
ct

iv
a 

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   

 M
F  

- 7
27

4-
72

78
 C

er
ea

, b
is

 M
D

-N
r.6

14
90

 B
j.2

00
6 

   
 

iF
E 

- 8
30

0-
83

50
 b

is
 M

D
-N

r. 
61

49
0 

B
j.2

00
6

iM
F  

- 7
27

4/
72

78
 C

er
ea

 b
is

 M
D

-N
r.6

14
90

 B
j.2

00
 ; 

   
  

iM
F  

- B
et

a 
/A

ct
iv

a 
(P

ow
er

-F
lo

w
-K

an
al

); 
   

   
   

   
   

   
   

iM
F  

- 9
89

5 
o.

 V
ar

ia
to

r; 
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

 
iF

E 
-  8

30
0/

83
50

 a
b 

M
D

-N
r. 

61
49

0 
B

j.0
6;

   
   

   
   

   
   

  
iF

E  
- 9

46
0,

  5
xx

x/
6x

xx
C

;  
5x

xx
/6

xx
xE

   
   

   
   

   
   

   
   

32 041297 A18x22x1,5 - DIN 7608 3 3 3
33 042210 M8x30 - DIN912 - 8.8 12 12 12
34 042288 M8x45 - DIN912 - 8.8 4 4 4
35 040921 M18x1,5 - DIN 908 1 1 1
36 840175 LR 35x40x12,5 1 1 1
37 041497 40x62x7 - DIN 3760 1 1 1
38 041503 8x20 1 1 1
39 042294 M18x1,5 - DIN 908 1 1 1
40 840161 1 1 1
41 025219 6207 - DIN 625 1 1 1

- 840130 z=26/16 - Pos. 42+50 1
- 840131 z=25/17 - Pos. 42+50
- 840132 z=23/18 - Pos. 42+50
- 840133 z=23/19 - Pos. 42+50
- 840134 z=22/20 - Pos. 42+50
- 840135 z=21/22 - Pos. 42+50 1 1

42 840148  z=26 1
42 840147 z=25
42 840146 z=23
42 840145 z=22
42 840143 z=19
42 840144 z=20 1
42 840149  z=21 1
43 840172 ø48,3x4x18 1 1 1
44 840165 1 1 1
45 025217 Rillenkugellager 6206 - DIN 625 1 1 1
46 040360 ø42x52x0,5 - DIN 988 n.B. n.B. n.B.
47 025216 NJ 205E - DIN 5412 1 1 1
48 840168 z=14 1 1 1
49 840171 z=51 1 1 1
50 840140 z=16 1
50 840141 z=17 
50 840142 z=18 
50 840143 z=19 
50 840144 z=20 1
50 840145 z=22 
50 840146 z=23
50 840149 z=21 1
51 025220 6307 - DIN 625 1 1 1

40/150
C



40 160

1

8

7
6

5

4
3

2

21

24

23 21

26

25

21

22

13

14

15,16

17
18

7
18

19
5

20

4
12

11

5

6

10

9

B40/000



 
A B C D
- 840100 1 Pos. 1-26

1 840180 1
2 840182 1
3 840187 1 IR55x60x25
4 041505 2 60x90x10 - DIN 3760
5 041246 3 90x3 - DIN 472
6 040169 n.B. 70x90x0,1 - DIN 988
6 040170 n.B. 70x90x0,3 - DIN 988
6 040171 n.B. 70x90x0,5 - DIN 988
7 025172 2 6011 - DIN 625
8 840184 1 z=27
9 840186 1 60,3x50

10 025222 1 6210 - DIN 625
11 041082 1 50x2 - DIN 471
12 840185 1 60x14
13 041506 1 142x3
14 840181 1 Lagerdeckel
15 040119 8 8 - DIN 7980
16 042210 8 M8x30 - DIN 912 - 8.8
17 840183 1 z=14
18 042108 n.B. 55x68x0,1 - DIN 988
18 042109 n.B. 55x68x0,3 - DIN 988
18 042110 n.B. 55x68x0,5 - DIN 988
19 041104 1 55x2 - DIN 471
20 041363 1 55x90x10 - DIN 3760
21 041297 3 A18x22x1,5 - DIN 7603
22 042294 1 M18x1,5 - DIN 908 - 5.8
23 040921 1 M18x1,5 - DIN 908 - 5.8
24 026928 1 M18x1,5 EV 1001-05-00
25 041504 1 55x2 - DIN 472
26 041507 1 55x10

40/160



18,19

5

3

2

1

15,16 38

37

35

34

33

26

25

24

30,31

27

21

2922

12

11

10

9

8

7

34

4

36

32

28

23
13

14

17

19,20

6

40 180



A B C D
- 841000 1 Pos. 1-38

1 026774 1 OMT 160 - Pos.1-4
2 040971 4 M14x110 - DIN 931 - 10.9
3 041432 1
4 041431 1 100x3
5 041166 1 A60x2 - DIN 472
6 841025 1
7 025089 1 3212 - 2RS - C3
8 041085 1 110x4 - DIN 472
9 041427 1 RWDR 90x110x7,5 - BABSL

10 041428 1 SB110
11 841026 1
12 841029 1
13 812110 1
14 040752 2 M8x16 mvk
15 040641 4 M12x200 - DIN 931
16 040203 4 A13 - DIN 125
17 841028 1
18 040472 2 M10x20 - DIN 933
19 040202 4 A10,5 - DIN 125
20 040418 2 M10x25 - DIN 933

21 940005 1 85MH sv GK - Pos. 21-26
22 041429 1 A10x8x28 - DIN 6885
23 040827 1 M10x1
24 041430 1 5x12 - DIN 1481
25 841014 1
26 040973 1 M12x30 - DIN 6912 - 10.9

27 841022 1
28 841021 4
29 841008 1
30 040663 4 M12x110 - DIN 931
31 040203 4 A13 - DIN 125
32 841020 1
33 027115 1
34 040970 6 M14x45 - DIN 912 - 8.8 mvk
35 041407 1 45x1,75 - DIN 472
36 041408 1 45x3
37 841003 1
38 841001 1

40/180



40 185

1

6

7
10,11

17,18

12

13
14

15

18,19

8
9,10

16

2

3,4

4,5

VS 610
VS 670
VS 760
VS 910

VS 485
VS 550
VS 670

1

2

3,4

4,5



A B D  D
F  

- 4
06

0/
40

65
, 5

65
0/

56
60

 D
F  

- 4
06

0/
40

65
, 5

65
0/

56
60

 S
ch

w
en

ks
ch

ild

 D
F  

- 4
06

0/
40

65
, 5

65
0/

56
60

 B
al

an
ce

 D
F  

- 4
07

0-
40

90
, 5

67
0-

56
90

 D
F  

- 4
07

0-
40

90
, 5

67
0-

56
90

 S
ch

w
en

ks
ch

ild

 D
F  

- 4
07

0-
40

90
, 5

67
0-

56
90

 B
al

an
ce

 J
D

 - 
95

40
/9

56
0/

95
80

 W
TS

 H
illm

as
te

r

 J
D

 - 
W

 5
40

i/5
50

i H
illm

as
te

r

 J
D

 - 
T 

55
0i

/5
60

i H
illm

as
te

r

1 023959 W2400 - Lz 1060 - DF 5/1 - 21/6 1 1 1 1
1 W2400 - Lz 960 1 1 1
2 010564 1 1 1 1 1 1 1
3 040657 M12x160 - DIN 931 2 2 2 2 2 2 2
4 040311 13 - DIN 125 4 4 4 4 4 4 4
5 040010 M12 - DIN 985 2 2 2 2 2 2 2

40/185
C - VS 485



40 185

1

6

7
10,11

17,18

12

13
14

15

18,19

8
9,10

16

2

3,4

4,5

VS 610
VS 670
VS 760
VS 910

VS 485
VS 550
VS 670

1

2

3,4

4,5



A B D  D
F  

- 4
06

0/
40

65
, 5

65
0/

56
60

 D
F  

- 4
06

0/
40

65
, 5

65
0/

56
60

 S
ch

w
en

ks
ch

ild

 D
F  

- 4
06

0/
40

65
, 5

65
0/

56
60

 B
al

an
ce

 D
F  

- 4
07

0-
40

90
, 5

67
0-

56
90

 D
F  

- 4
07

0-
40

90
, 5

67
0-

56
90

 S
ch

w
en

ks
ch

ild

 D
F  

- 4
07

0-
40

90
, 5

67
0-

56
90

 B
al

an
ce

 J
D

 - 
95

40
/9

56
0/

95
80

 W
TS

 H
illm

as
te

r

 J
D

 - 
W

 5
40

i/5
50

i H
illm

as
te

r

 J
D

 - 
T 

55
0i

/5
60

i H
illm

as
te

r

1 023956 W2400 - Lz 1360 - DF 5/1 - 21/6 1 1 1 1 1 1
1 023954 W2400 - Lz 1160 - DF 5/1 - 21/21 1 1 1
2 010564 1 1 1 1 1 1 1
3 040657 M12x160 - DIN 931 2 2 2 2 2 2 2
4 040311 13 - DIN 125 4 4 4 4 4 4 4
5 040010 M12 - DIN 985 2 2 2 2 2 2 2

40/185
C - VS 550



40 185

1

6

7
10,11

17,18

12

13
14

15

18,19

8
9,10

16

2

3,4

4,5

VS 610
VS 670
VS 760
VS 910

VS 485
VS 550
VS 670

1

2

3,4

4,5



A B D  N
H

 - 
TX

62
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

 
iN

H
 - 

TX
63

/6
4

 N
H

 - 
TX

63
-6

5,
 T

F7
6 

Sc
he

nk
sc

hi
ld

   
   

   
   

   
   

   
   

   
   

   
   

   
   

 
iN

H
 -  

TX
63

/6
4/

65
 

 N
H

 - 
TX

 6
6/

67
/6

8 
, T

F 
78

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
 

iN
H

 - 
TX

66
/6

8

 N
H

 - 
C

S
 5

40
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
 

IN
H

 - 
C

S
 6

05
0

 N
H

 - 
C

S
 6

06
0 

La
te

ra
le

 N
H

 - 
C

S
X

 7
06

0

 N
H

 - 
C

S
X

 7
06

0 
La

te
ra

le

1 023885 W2400 1 3/8" - 21 tlg. 1 1 1 1 1
1 023399 W2400 - Lz1810 - DF 5/1 - 21/6
1 023953 W2400 - Lz1160 - DF 5/1 - 21/6
1 023956 W2400 - Lz1360 - DF 5/1 - 21/6
1 023957 W2400 - Lz1360 - DF 5/1 - 21/21
2 010564 1 1 1 1 1
3 040657 M12x160 - DIN 931 2 2 2 2 2
4 040311 13 - DIN 125 4 4 4 4 4
5 040010 M12 - DIN 985 2 2 2 2 2
6 814038 1 1 1 1 1
7 527133 3 3 3 3 3
8 025042 FLCTE 35 1 1 1 1 1
9 040493 M10x70 - DIN 931 2 2 2 2 2

10 040202 10.5 - DIN 125 4 4 4 4 4
11 040009 M10 - DIN 985 2 2 2 2 2
12 510849 1 1 1 1 1
13 510816 1 1 1 1 1
14 040448 M8x25 - DIN 933 4 4 4 4 4
15 040008 M8 - DIN 985 4 4 4 4 4
16 023950 W2400 - Lz 860 - DF 5/1 - 21/6 1 1
16 023951 W2400 - Lz 860 - DF 5/1 - 21/21
16 023954 W2400 - Lz 1160 - DF 5/1 - 21/21
16 023955 W2400 - Lz 1160 - DF 5/1 - 21/SW28,6
16 023959 W2400 - Lz 1060 - DF 5/1 - 21/6 1 1 1
16 043045 W2400 - Lz 1060 - DF 5/1 - 21/21
17 040540 M12x130 - DIN 931 2 2 2 2 2
18 040311 13 - DIN 125 4 4 4 4 4
19 040010 M12 - DIN 985 2 2 2 2 2

40/185
C - VS 670



40 185

1

6

7
10,11

17,18

12

13
14

15

18,19

8
9,10

16

2

3,4

4,5

VS 610
VS 670
VS 760
VS 910

VS 485
VS 550
VS 670

1

2

3,4

4,5



A B D  N
H

 - 
C

S
 6

40
/6

60
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
iN

H
 - 

C
S

 6
07

0/
60

80
/6

09
0 

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
 

IN
H

 - 
C

S
X

 7
08

0

 N
H

 - 
C

S
X

 7
08

0 
La

te
ra

le

 N
H

 - 
C

R
92

0/
94

0/
96

0 
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

  
iN

H
 - 

C
R

 9
04

0/
90

60
(E

)/9
07

0E
 N

H
 - 

C
R

 9
70

/9
80

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

iN
H

 - 
C

R
 9

08
0(

E
)/9

09
0E

 N
H

 - 
C

X
 7

20
/7

40
/7

60
/7

80
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

 
iN

H
 - 

C
X

 8
03

0/
80

40
/8

05
0

 N
H

 - 
C

X
 8

20
/4

0/
86

0/
88

0 
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

  
iN

H
 - 

C
X

 8
06

0/
80

70
/8

08
0/

80
90

1 023885 W2400 1 3/8" - 21 tlg. 1 1 1 1 1
1 023399 W2400 - Lz1810 - DF 5/1 - 21/6
1 023953 W2400 - Lz1160 - DF 5/1 - 21/6
1 023956 W2400 - Lz1360 - DF 5/1 - 21/6
1 023957 W2400 - Lz1360 - DF 5/1 - 21/21
2 010564 1 1 1 1 1
3 040657 M12x160 - DIN 931 2 2 2 2 2
4 040311 13 - DIN 125 4 4 4 4 4
5 040010 M12 - DIN 985 2 2 2 2 2
6 814038 1 1 1 1 1
7 527133 3 3 3 3 3
8 025042 FLCTE 35 1 1 1 1 1
9 040493 M10x70 - DIN 931 2 2 2 2 2

10 040202 10.5 - DIN 125 4 4 4 4 4
11 040009 M10 - DIN 985 2 2 2 2 2
12 510849 1 1 1 1 1
13 510816 1 1 1 1 1
14 040448 M8x25 - DIN 933 4 4 4 4 4
15 040008 M8 - DIN 985 4 4 4 4 4
16 023950 W2400 - Lz 860 - DF 5/1 - 21/6 1 1 1
16 023951 W2400 - Lz 860 - DF 5/1 - 21/21
16 023954 W2400 - Lz 1160 - DF 5/1 - 21/21
16 023955 W2400 - Lz 1160 - DF 5/1 - 21/SW28,6
16 023959 W2400 - Lz 1060 - DF 5/1 - 21/6 1 1
16 043045 W2400 - Lz 1060 - DF 5/1 - 21/21
17 040540 M12x130 - DIN 931 2 2 2 2 2
18 040311 13 - DIN 125 4 4 4 4 4
19 040010 M12 - DIN 985 2 2 2 2 2

40/185
C - VS 670



40 185

1

6

7
10,11

17,18

12

13
14

15

18,19

8
9,10

16

2

3,4

4,5

VS 610
VS 670
VS 760
VS 910

VS 485
VS 550
VS 670

1

2

3,4

4,5



A B D  D
F  

- 4
06

0/
40

65
, 5

65
0/

56
60

 D
F  

- 5
43

5-
45

-6
5-

85

 D
F  

- 4
07

0-
40

90
, 5

67
0-

56
90

 D
F  

- 4
06

0-
40

65
 S

ch
w

en
ks

ch
ild

 D
F  

- 4
07

0-
90

, 5
67

0-
95

 S
ch

w
en

ks
ch

ild

 D
F  

- 4
06

0/
40

65
, 5

65
0/

56
60

 B
al

an
ce

 D
F  

- 4
07

0-
90

, 5
67

0-
95

 B
al

an
ce

 C
L 

-  D
o 

/ M
eg

a 
/ M

ed
io

n 
/ V

X

 C
L 

- L
ex

.4
05

-4
30

/4
70

, 5
10

-5
30

/5
70

 - 
oh

ne
 V

ar
ia

to
r  

   
   

   
   

   
IC

L  
- L

ex
.4

05
-4

30
/4

70
, 5

10
-5

30
/5

70
 - 

m
it 

Va
ria

to
r

 C
L 

-  5
20

/5
30

/5
70

 M
on

ta
na

 - 
oh

ne
 V

ar
ia

to
r  

   
   

   
   

   
   

   
   

   
  

iC
L 

- 5
20

/5
30

/5
70

 M
on

ta
na

 - 
m

it 
Va

ria
to

r

 C
L 

-  T
uc

an
o 

32
0/

33
0/

43
0

iC
L 

-  L
ex

io
n 

44
0-

46
0/

48
0,

 5
40

-5
60

/5
80

/6
00

  o
hn

e 
Va

ria
to

r  
   

  
iC

L 
- L

ex
io

n 
44

0-
46

0/
48

0,
 5

40
-5

60
/5

80
/6

00
  m

it 
Va

ria
to

r

 C
L 

-  T
uc

an
o 

34
0/

44
0/

45
0

1 023885 W2400 1 3/8" - 21 tlg. 1 1 1 1
1 023399 W2400 - Lz1810 - DF 5/1 - 21/6 1 1 1 1 1 1 1 1
1 023953 W2400 - Lz1160 - DF 5/1 - 21/6
1 023956 W2400 - Lz1360 - DF 5/1 - 21/6
1 023957 W2400 - Lz1360 - DF 5/1 - 21/21
2 010564 1 1 1 1 1 1 1 1 1 1 1 1 1
3 040657 M12x160 - DIN 931 2 2 2 2 2 2 2 2 2 2 2 2 2
4 040311 13 - DIN 125 4 4 4 4 4 4 4 4 4 4 4 4 4
5 040010 M12 - DIN 985 2 2 2 2 2 2 2 2 2 2 2 2 2
6 814038 1 1 1 1
7 527133 3 3 3 3 3
8 025042 FLCTE 35 1 1 1 1 1
9 040493 M10x70 - DIN 931 2 2 2 2 2

10 040202 10.5 - DIN 125 4 4 4 4 4
11 040009 M10 - DIN 985 2 2 2 2 2
12 510849 1 1 1 1 1
13 510816 1 1 1 1 1
14 040448 M8x25 - DIN 933 4 4 4 4 4
15 040008 M8 - DIN 985 4 4 4 4 4
16 023950 W2400 - Lz 860 - DF 5/1 - 21/6 1
16 023951 W2400 - Lz 860 - DF 5/1 - 21/21 1 1
16 023954 W2400 - Lz 1160 - DF 5/1 - 21/21 1 1
16 023955 W2400 - Lz 1160 - DF 5/1 - 21/SW28,6
16 023959 W2400 - Lz 1060 - DF 5/1 - 21/6
16 043045 W2400 - Lz 1060 - DF 5/1 - 21/21
17 040540 M12x130 - DIN 931 2 2 2 2 2
18 040311 13 - DIN 125 4 4 4 4 4
19 040010 M12 - DIN 985 2 2 2 2 2

40/185
C - VS 670



40 185

1

6

7
10,11

17,18

12

13
14

15

18,19

8
9,10

16

2

3,4

4,5

VS 610
VS 670
VS 760
VS 910

VS 485
VS 550
VS 670

1

2

3,4

4,5



A B D  C
A

 -  
Le

xi
on

 5
70

R
/5

75
R

/5
80

R
/5

85
R

  o
hn

e 
Va

ria
to

r  
   

   
   

   
   

 
iC

A
 - 

Le
xi

on
 5

70
R

/5
75

R
/5

80
R

/5
85

R
  m

it 
Va

ria
to

r

 C
A

 -  
Le

xi
on

 5
90

R
/5

95
R

  o
hn

e 
Va

ria
to

r  
   

   
   

   
   

   
   

   
   

   
   

  
iC

A
 - 

Le
xi

on
 5

90
R

/5
95

R
  m

it 
Va

ria
to

r

 IH
 - 

A
xi

al
 F

lo
w

 IH
 - 

C
T 

50
50

 IH
 - 

C
T 

50
60

/5
07

0/
50

80
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
 

iIH
 - 

C
T 

61
0

 IH
 - 

A
F 

50
88

/6
08

8/
70

88
 o

hn
e 

Va
ria

to
r

 IH
 - 

A
FX

 7
01

0/
80

10
/9

01
0 

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
 

iIH
 - 

A
FX

 7
12

0/
81

20
/9

12
0

1 023885 W2400 1 3/8" - 21 tlg. 1 1 1 1 1 1 1
1 023399 W2400 - Lz1810 - DF 5/1 - 21/6
1 023953 W2400 - Lz1160 - DF 5/1 - 21/6
1 023956 W2400 - Lz1360 - DF 5/1 - 21/6
1 023957 W2400 - Lz1360 - DF 5/1 - 21/21
2 010564 1 1 1 1 1 1 1
3 040657 M12x160 - DIN 931 2 2 2 2 2 2 2
4 040311 13 - DIN 125 4 4 4 4 4 4 4
5 040010 M12 - DIN 985 2 2 2 2 2 2 2
6 814038 1 1 1 1 1 1 1
7 527133 3 3 3 3 3 3 3
8 025042 FLCTE 35 1 1 1 1 1 1 1
9 040493 M10x70 - DIN 931 2 2 2 2 2 2 2

10 040202 10.5 - DIN 125 4 4 4 4 4 4 4
11 040009 M10 - DIN 985 2 2 2 2 2 2 2
12 510849 1 1 1 1 1 1 1
13 510816 1 1 1 1 1 1 1
14 040448 M8x25 - DIN 933 4 4 4 4 4 4 4
15 040008 M8 - DIN 985 4 4 4 4 4 4 4
16 023950 W2400 - Lz 860 - DF 5/1 - 21/6 1 1
16 023951 W2400 - Lz 860 - DF 5/1 - 21/21 1
16 023954 W2400 - Lz 1160 - DF 5/1 - 21/21 1
16 023955 W2400 - Lz 1160 - DF 5/1 - 21/SW28,6 1
16 023959 W2400 - Lz 1060 - DF 5/1 - 21/6 1 1
16 043045 W2400 - Lz 1060 - DF 5/1 - 21/21
17 040540 M12x130 - DIN 931 2 2 2 2 2 2 2
18 040311 13 - DIN 125 4 4 4 4 4 4 4
19 040010 M12 - DIN 985 2 2 2 2 2 2 2

40/185
C - VS 670



40 185

1

6

7
10,11

17,18

12

13
14

15

18,19

8
9,10

16

2

3,4

4,5

VS 610
VS 670
VS 760
VS 910

VS 485
VS 550
VS 670

1

2

3,4

4,5



A B D  J
D

 - 
11

70
/1

45
0/

15
50

 S
F-

B
ra

si
lie

n

 J
D

 - 
C

W
S

 1
45

0/
15

50
 S

F-
E

ur
op

a

 J
D

 - 
11

77
 S

2,
 1

18
8

 J
D

 - 
20

5.
, 2

25
. m

it/
oh

ne
 S

ch
w

en
ks

ch
ild

   
   

   
   

   
   

   
   

   
   

   
   

 
iJ

D
 - 

20
6.

, 2
26

. m
it/

oh
ne

 S
ch

w
en

ks
ch

ild

 J
D

 - 
20

5.
, 2

25
. H

illm
as

te
r  

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
iJ

D
 - 

20
6.

, 2
26

. H
illm

as
te

r

 J
D

 - 
C

TS
 - 

bi
s 

B
j.2

00
1 

 V
ar

ia
to

r 5
20

-7
15

   
   

   
   

   
   

   
   

   
   

   
 

iJ
D

 - 
C

TS
 - 

bi
s 

B
j.2

00
1 

oh
ne

 V
ar

ia
to

r

 J
D

 - 
95

60
/9

65
0/

96
60

/9
75

0/
97

60
/9

86
0 

S
TS

   
   

   
   

   
   

   
   

   
   

  
iJ

D
 - 

95
70

/9
67

0/
97

70
/9

87
0 

S
TS

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

 
iJ

D
 - 

95
40

/9
56

0/
95

80
 W

TS

 J
D

 - 
W

 5
40

i/5
50

i  
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

  
iJ

D
 - 

T 
55

0i
/5

60
i

1 023885 W2400 1 3/8" - 21 tlg.
1 023399 W2400 - Lz1810 - DF 5/1 - 21/6
1 023953 W2400 - Lz1160 - DF 5/1 - 21/6 1
1 023956 W2400 - Lz1360 - DF 5/1 - 21/6 1
1 023957 W2400 - Lz1360 - DF 5/1 - 21/21 1 1 1 1 1 1
2 010564 1 1 1 1 1 1 1 1
3 040657 M12x160 - DIN 931 2 2 2 2 2 2 2 2
4 040311 13 - DIN 125 4 4 4 4 4 4 4 4
5 040010 M12 - DIN 985 2 2 2 2 2 2 2 2
6 814038
7 527133
8 025042 FLCTE 35
9 040493 M10x70 - DIN 931

10 040202 10.5 - DIN 125
11 040009 M10 - DIN 985
12 510849
13 510816
14 040448 M8x25 - DIN 933
15 040008 M8 - DIN 985
16 023950 W2400 - Lz 860 - DF 5/1 - 21/6
16 023951 W2400 - Lz 860 - DF 5/1 - 21/21
16 023954 W2400 - Lz 1160 - DF 5/1 - 21/21
16 023955 W2400 - Lz 1160 - DF 5/1 - 21/SW28,6
16 023959 W2400 - Lz 1060 - DF 5/1 - 21/6
16 043045 W2400 - Lz 1060 - DF 5/1 - 21/21
17 040540 M12x130 - DIN 931
18 040311 13 - DIN 125
19 040010 M12 - DIN 985

40/185
C - VS 670



40 185

1

6

7
10,11

17,18

12

13
14

15

18,19

8
9,10

16

2

3,4

4,5

VS 610
VS 670
VS 760
VS 910

VS 485
VS 550
VS 670

1

2

3,4

4,5



A B D  J
D

 - 
95

40
/9

56
0/

95
80

 W
TS

 H
illm

as
te

r  
   

   
   

   
   

   
   

   
   

   
   

   
  

iJ
D

 - 
W

 5
40

i/5
50

i H
illm

as
te

r  
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
iJ

D
 - 

T 
55

0i
/5

60
i H

illm
as

te
r

 J
D

 - 
96

40
/9

66
0/

96
80

 W
TS

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
iJ

D
 - 

W
 6

50
i/6

60
i  

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
  

iJ
D

 - 
T 

66
0i

/6
70

i 

 J
D

 - 
96

40
/9

66
0/

96
80

 W
TS

 H
illm

as
te

r  
   

   
   

   
   

   
   

   
   

   
   

   
  

iJ
D

 - 
W

 6
50

i/6
60

i H
illm

as
te

r  
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
iJ

D
 - 

T 
66

0i
/6

70
i H

illm
as

te
r

 J
D

 - 
97

80
/9

88
0 

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

  
iJ

D
 - 

97
80

 H
illm

as
te

r  
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

  
iJ

D
 - 

C
 6

70
i  

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

 
iJ

D
 - 

C
 6

70
i  

H
illm

as
te

r

 J
D

 - 
S

69
0i

/5
60

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
iJ

D
 - 

S
 6

90
i 5

-s
pe

ed
 5

20
-7

80
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
iJ

D
 - 

S
 6

90
i H

illm
as

te
r  

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

  
iJ

D
 - 

S
 6

90
i H

illm
as

te
r  

5-
sp

ee
d 

52
0-

78
0

1 023885 W2400 1 3/8" - 21 tlg.
1 023399 W2400 - Lz1810 - DF 5/1 - 21/6
1 023953 W2400 - Lz1160 - DF 5/1 - 21/6
1 023956 W2400 - Lz1360 - DF 5/1 - 21/6
1 023957 W2400 - Lz1360 - DF 5/1 - 21/21 1 1 1 1 1
2 010564 1 1 1 1 1
3 040657 M12x160 - DIN 931 2 2 2 2 2
4 040311 13 - DIN 125 4 4 4 4 4
5 040010 M12 - DIN 985 2 2 2 2 2
6 814038
7 527133
8 025042 FLCTE 35
9 040493 M10x70 - DIN 931

10 040202 10.5 - DIN 125
11 040009 M10 - DIN 985
12 510849
13 510816
14 040448 M8x25 - DIN 933
15 040008 M8 - DIN 985
16 023950 W2400 - Lz 860 - DF 5/1 - 21/6
16 023951 W2400 - Lz 860 - DF 5/1 - 21/21
16 023954 W2400 - Lz 1160 - DF 5/1 - 21/21
16 023955 W2400 - Lz 1160 - DF 5/1 - 21/SW28,6
16 023959 W2400 - Lz 1060 - DF 5/1 - 21/6
16 043045 W2400 - Lz 1060 - DF 5/1 - 21/21
17 040540 M12x130 - DIN 931
18 040311 13 - DIN 125
19 040010 M12 - DIN 985

40/185
C - VS 670



40 185

1

6

7
10,11

17,18

12

13
14

15

18,19

8
9,10

16

2

3,4

4,5

VS 610
VS 670
VS 760
VS 910

VS 485
VS 550
VS 670

1

2

3,4

4,5



A B D  C
H

 - 
64

4/
64

5/
64

8 
Fr

ee
flo

w

 C
H

 - 
64

8 
P

ow
er

flo
w

 C
H

 - 
64

6/
65

2 
Fr

ee
flo

w

 C
H

 - 
65

2 
P

ow
er

flo
w

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

  
iC

H
 - 

65
4/

65
8

 M
F  

- A
ct

iv
a 

72
40

/7
24

4/
72

45
/7

24
5S

 F
re

ef
lo

w
   

   
   

   
   

   
   

   
   

  
iM

F  
- B

et
a 

72
60

 fr
ee

flo
w

 

 M
F  

- B
et

a 
72

60
 P

ow
er

flo
w

 M
F  

- A
ct

iv
a 

72
46

/7
24

7S
/ B

et
a 

72
70

 F
re

ef
lo

w

 M
F  

- B
et

a 
72

70
 P

ow
er

flo
w

 M
F  

- 3
8/

40
, 7

26
8-

78

 M
F  

- 7
27

4/
78

  C
er

ea
 - 

ab
 M

D
-N

r. 
61

49
0 

B
j. 

20
06

   
   

   
   

   
   

   
iM

F  
- C

en
to

ra
 7

28
0/

72
82

1 023885 W2400 1 3/8" - 21 tlg. 1 1 1 1 1 1 1 1 1 1
1 023399 W2400 - Lz1810 - DF 5/1 - 21/6
1 023953 W2400 - Lz1160 - DF 5/1 - 21/6
1 023956 W2400 - Lz1360 - DF 5/1 - 21/6
1 023957 W2400 - Lz1360 - DF 5/1 - 21/21
2 010564 1 1 1 1 1 1 1 1 1 1
3 040657 M12x160 - DIN 931 2 2 2 2 2 2 2 2 2 2
4 040311 13 - DIN 125 4 4 4 4 4 4 4 4 4 4
5 040010 M12 - DIN 985 2 2 2 2 2 2 2 2 2 2
6 814038 1 1 1 1 1 1 1 1 1 1
7 527133 3 3 3 3 3 3 3 3 3 3
8 025042 FLCTE 35 1 1 1 1 1 1 1 1 1 1
9 040493 M10x70 - DIN 931 2 2 2 2 2 2 2 2 2 2

10 040202 10.5 - DIN 125 4 4 4 4 4 4 4 4 4 4
11 040009 M10 - DIN 985 2 2 2 2 2 2 2 2 2 2
12 510849 1 1 1 1 1 1 1 1 1 1
13 510816 1 1 1 1 1 1 1 1 1 1
14 040448 M8x25 - DIN 933 4 4 4 4 4 4 4 4 4 4
15 040008 M8 - DIN 985 4 4 4 4 4 4 4 4 4 4
16 023950 W2400 - Lz 860 - DF 5/1 - 21/6 1 1 1
16 023951 W2400 - Lz 860 - DF 5/1 - 21/21 1 1 1
16 023954 W2400 - Lz 1160 - DF 5/1 - 21/21
16 023955 W2400 - Lz 1160 - DF 5/1 - 21/SW28,6
16 023959 W2400 - Lz 1060 - DF 5/1 - 21/6 1 1
16 043045 W2400 - Lz 1060 - DF 5/1 - 21/21 1 1
17 040540 M12x130 - DIN 931 2 2 2 2 2 2 2 2 2 2
18 040311 13 - DIN 125 4 4 4 4 4 4 4 4 4 4
19 040010 M12 - DIN 985 2 2 2 2 2 2 2 2 2 2

40/185
C - VS 670



40 185

1

6

7
10,11

17,18

12

13
14

15

18,19

8
9,10

16

2

3,4

4,5

VS 610
VS 670
VS 760
VS 910

VS 485
VS 550
VS 670

1

2

3,4

4,5



A B D  N
H

 - 
TX

62
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

 
iN

H
 - 

TX
63

/6
4

 N
H

 - 
TX

63
-6

5,
 T

F7
6 

Sc
he

nk
sc

hi
ld

   
   

   
   

   
   

   
   

   
   

   
   

   
   

 
iN

H
 -  

TX
63

/6
4/

65
 

 N
H

 - 
TX

 6
6/

67
/6

8 
, T

F 
78

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
 

iN
H

 - 
TX

66
/6

8

 N
H

 - 
C

S
 5

40
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
 

IN
H

 - 
C

S
 6

05
0

 N
H

 - 
C

S
 6

06
0 

La
te

ra
le

 N
H

 - 
C

S
X

 7
06

0

 N
H

 - 
C

S
X

 7
06

0 
La

te
ra

le

1 023885 W2400 1 3/8" - 21 tlg. 1 1 1 1 1 1 1
2 010564 1 1 1 1 1
3 040657 M12x160 - DIN 931 2 2 2 2 2
4 040311 13 - DIN 125 4 4 4 4 4
5 040010 M12 - DIN 985 2 2 2 2 2
6 814038 1 1 1 1 1
7 527133 3 3 3 3 3
8 025042 FLCTE 35 1 1 1 1 1
9 040493 M10x70 - DIN 931 2 2 2 2 2

10 040202 10.5 - DIN 125 4 4 4 4 4
11 040009 M10 - DIN 985 2 2 2 2 2
12 510849 1 1 1 1 1
13 510816 1 1 1 1 1
14 040448 M8x25 - DIN 933 4 4 4 4 4
15 040008 M8 - DIN 985 4 4 4 4 4
16 023954 W2400 - Lz1160 - DF 5/1 - 21/21
16 023956 W2400 - Lz1360 - DF 5/1 - 21/6 1 1 1 1 1 1 1
16 023957 W2400 - Lz1360 - DF 5/1 - 21/21
16 023958 W2400 - Lz1360 - DF 5/1 - 21/SW28,6
17 040540 M12x130 - DIN 931 2 2 2 2 2
18 040311 13 - DIN 125 4 4 4 4 4
19 040010 M12 - DIN 985 2 2 2 2 2

40/185
C - VS 610 / 760 / 910



40 185

1

6

7
10,11

17,18

12

13
14

15

18,19

8
9,10

16

2

3,4

4,5

VS 610
VS 670
VS 760
VS 910

VS 485
VS 550
VS 670

1

2

3,4

4,5



A B D  N
H

 - 
C

S
 6

40
/6

60
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
iN

H
 - 

C
S

 6
07

0/
60

80
/6

09
0 

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
 

IN
H

 - 
C

S
X

 7
08

0

 N
H

 - 
C

S
X

 7
08

0 
La

te
ra

le

 N
H

 - 
C

R
92

0/
94

0/
96

0 
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

  
iN

H
 - 

C
R

 9
04

0/
90

60
(E

)/9
07

0E

 N
H

 - 
C

R
 9

70
/9

80
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
iN

H
 - 

C
R

 9
08

0(
E

)/9
09

0E

 N
H

 - 
C

X
 7

20
/7

40
/7

60
/7

80
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

 
iN

H
 - 

C
X

 8
03

0/
80

40
/8

05
0

 N
H

 - 
C

X
 8

20
/4

0/
86

0/
88

0 
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

  
iN

H
 - 

C
X

 8
06

0/
80

70
/8

08
0/

80
90

1 023885 W2400 1 3/8" - 21 tlg. 1 1 1 1 1 1
2 010564 1 1 1 1 1
3 040657 M12x160 - DIN 931 2 2 2 2 2
4 040311 13 - DIN 125 4 4 4 4 4
5 040010 M12 - DIN 985 2 2 2 2 2
6 814038 1 1 1 1 1
7 527133 3 3 3 3 3
8 025042 FLCTE 35 1 1 1 1 1
9 040493 M10x70 - DIN 931 2 2 2 2 2

10 040202 10.5 - DIN 125 4 4 4 4 4
11 040009 M10 - DIN 985 2 2 2 2 2
12 510849 1 1 1 1 1
13 510816 1 1 1 1 1
14 040448 M8x25 - DIN 933 4 4 4 4 4
15 040008 M8 - DIN 985 4 4 4 4 4
16 023954 W2400 - Lz1160 - DF 5/1 - 21/21
16 023956 W2400 - Lz1360 - DF 5/1 - 21/6 1 1 1 1 1 1
16 023957 W2400 - Lz1360 - DF 5/1 - 21/21
16 023958 W2400 - Lz1360 - DF 5/1 - 21/SW28,6
17 040540 M12x130 - DIN 931 2 2 2 2 2
18 040311 13 - DIN 125 4 4 4 4 4
19 040010 M12 - DIN 985 2 2 2 2 2

40/185
C - VS 610 / 760 / 910



40 185

1

6

7
10,11

17,18

12

13
14

15

18,19

8
9,10

16

2

3,4

4,5

VS 610
VS 670
VS 760
VS 910

VS 485
VS 550
VS 670

1

2

3,4

4,5



A B D  D
F  

- 4
06

0/
40

65
, 5

65
0/

56
60

 D
F  

- 5
43

5-
45

-6
5-

85

 D
F  

- 4
07

0-
40

90
, 5

67
0-

56
90

 D
F  

- 4
06

0-
40

65
 S

ch
w

en
ks

ch
ild

 D
F  

- 4
07

0-
90

, 5
67

0-
95

 S
ch

w
en

ks
ch

ild

 D
F  

- 4
06

0/
40

65
, 5

65
0/

56
60

 B
al

an
ce

 D
F  

- 4
07

0-
90

, 5
67

0-
95

 B
al

an
ce

 C
L 

-  D
o 

/ M
eg

a 
/ M

ed
io

n 
/ V

X

 C
L 

- L
ex

.4
05

-4
30

/4
70

, 5
10

-5
30

/5
70

 - 
oh

ne
 V

ar
ia

to
r  

   
   

   
   

   
IC

L  
- L

ex
.4

05
-4

30
/4

70
, 5

10
-5

30
/5

70
 - 

m
it 

Va
ria

to
r

 C
L 

-  5
20

/5
30

/5
70

 M
on

ta
na

 - 
oh

ne
 V

ar
ia

to
r  

   
   

   
   

   
   

   
   

   
  

iC
L 

- 5
20

/5
30

/5
70

 M
on

ta
na

 - 
m

it 
Va

ria
to

r

 C
L 

-  T
uc

an
o 

32
0/

33
0/

43
0

iC
L 

-  L
ex

io
n 

44
0-

46
0/

48
0,

 5
40

-5
60

/5
80

/6
00

  o
hn

e 
Va

ria
to

r  
   

  
iC

L 
- L

ex
io

n 
44

0-
46

0/
48

0,
 5

40
-5

60
/5

80
/6

00
  m

it 
Va

ria
to

r

 C
L 

-  T
uc

an
o 

34
0/

44
0/

45
0

1 023885 W2400 1 3/8" - 21 tlg. 1 1 1 1 1 1 1 1 1 1 1 1 1
2 010564 1 1 1 1 1 1 1 1 1 1 1 1 1
3 040657 M12x160 - DIN 931 2 2 2 2 2 2 2 2 2 2 2 2 2
4 040311 13 - DIN 125 4 4 4 4 4 4 4 4 4 4 4 4 4
5 040010 M12 - DIN 985 2 2 2 2 2 2 2 2 2 2 2 2 2
6 814038 1 1 1 1 1 1 1 1 1 1 1 1 1
7 527133 3 3 3 3 3 3 3 3 3 3 3 3 3
8 025042 FLCTE 35 1 1 1 1 1 1 1 1 1 1 1 1 1
9 040493 M10x70 - DIN 931 2 2 2 2 2 2 2 2 2 2 2 2 2

10 040202 10.5 - DIN 125 4 4 4 4 4 4 4 4 4 4 4 4 4
11 040009 M10 - DIN 985 2 2 2 2 2 2 2 2 2 2 2 2 2
12 510849 1 1 1 1 1 1 1 1 1 1 1 1 1
13 510816 1 1 1 1 1 1 1 1 1 1 1 1 1
14 040448 M8x25 - DIN 933 4 4 4 4 4 4 4 4 4 4 4 4 4
15 040008 M8 - DIN 985 4 4 4 4 4 4 4 4 4 4 4 4 4
16 023954 W2400 - Lz1160 - DF 5/1 - 21/21
16 023956 W2400 - Lz1360 - DF 5/1 - 21/6 1 1 1 1 1 1 1 1
16 023957 W2400 - Lz1360 - DF 5/1 - 21/21 1 1 1 1 1
16 023958 W2400 - Lz1360 - DF 5/1 - 21/SW28,6
17 040540 M12x130 - DIN 931 2 2 2 2 2
18 040311 13 - DIN 125 4 4 4 4 4
19 040010 M12 - DIN 985 2 2 2 2 2

40/185
C - VS 610 / 760 / 910



40 185

1

6

7
10,11

17,18

12

13
14

15

18,19

8
9,10

16

2

3,4

4,5

VS 610
VS 670
VS 760
VS 910

VS 485
VS 550
VS 670

1

2

3,4

4,5



A B D  C
A

 -  
Le

xi
on

 5
70

R
/5

75
R

/5
80

R
/5

85
R

  o
hn

e 
Va

ria
to

r  
   

   
   

   
   

 
iC

A
 - 

Le
xi

on
 5

70
R

/5
75

R
/5

80
R

/5
85

R
  m

it 
Va

ria
to

r

 C
A

 -  
Le

xi
on

 5
90

R
/5

95
R

  o
hn

e 
Va

ria
to

r  
   

   
   

   
   

   
   

   
   

   
   

  
iC

A
 - 

Le
xi

on
 5

90
R

/5
95

R
  m

it 
Va

ria
to

r

 IH
 - 

A
xi

al
 F

lo
w

 IH
 - 

C
T 

50
50

 IH
 - 

C
T 

50
60

/5
07

0/
50

80
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
 

iIH
 - 

C
T 

61
0

 IH
 - 

A
F 

50
88

/6
08

8/
70

88
 o

hn
e 

Va
ria

to
r

 IH
 - 

A
FX

 7
01

0/
80

10
/9

01
0 

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
 

iIH
 - 

A
FX

 7
12

0/
81

20
/9

12
0

1 023885 W2400 1 3/8" - 21 tlg. 1 1 1 1 1 1 1
2 010564 1 1 1 1 1 1 1
3 040657 M12x160 - DIN 931 2 2 2 2 2 2 2
4 040311 13 - DIN 125 4 4 4 4 4 4 4
5 040010 M12 - DIN 985 2 2 2 2 2 2 2
6 814038 1 1 1 1 1 1 1
7 527133 3 3 3 3 3 3 3
8 025042 FLCTE 35 1 1 1 1 1 1 1
9 040493 M10x70 - DIN 931 2 2 2 2 2 2 2

10 040202 10.5 - DIN 125 4 4 4 4 4 4 4
11 040009 M10 - DIN 985 2 2 2 2 2 2 2
12 510849 1 1 1 1 1 1 1
13 510816 1 1 1 1 1 1 1
14 040448 M8x25 - DIN 933 4 4 4 4 4 4 4
15 040008 M8 - DIN 985 4 4 4 4 4 4 4
16 023954 W2400 - Lz1160 - DF 5/1 - 21/21
16 023956 W2400 - Lz1360 - DF 5/1 - 21/6
16 023957 W2400 - Lz1360 - DF 5/1 - 21/21 1 1 1 1 1 1
16 023958 W2400 - Lz1360 - DF 5/1 - 21/SW28,6 1
17 040540 M12x130 - DIN 931 2 2 2 2 2 2 2
18 040311 3 - DIN 125 4 4 4 4 4 4 4
19 040010 M12 - DIN 985 2 2 2 2 2 2 2

40/185
C - VS 610 / 760 / 910



40 185

1

6

7
10,11

17,18

12

13
14

15

18,19

8
9,10

16

2

3,4

4,5

VS 610
VS 670
VS 760
VS 910

VS 485
VS 550
VS 670

1

2

3,4

4,5



A B D  J
D

 - 
11

70
/1

45
0/

15
50

 S
F-

B
ra

si
lie

n

 J
D

 - 
C

W
S

 1
45

0/
15

50
 S

F-
E

ur
op

a

 J
D

 - 
11

77
 S

2,
 1

18
8

 J
D

 - 
20

5.
, 2

25
. m

it/
oh

ne
 S

ch
w

en
ks

ch
ild

   
   

   
   

   
   

   
   

   
   

   
   

 

iJ
D

 - 
20

6.
, 2

26
. m

it/
oh

ne
 S

ch
w

en
ks

ch
ild

 J
D

 - 
20

5.
, 2

25
. H

illm
as

te
r  

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

  

iJ
D

 - 
20

6.
, 2

26
. H

illm
as

te
r

 J
D

 - 
C

TS
 - 

bi
s 

B
j.2

00
1 

 V
ar

ia
to

r 5
20

-7
15

   
   

   
   

   
   

   
   

   
   

   
 

iJ
D

 - 
C

TS
 - 

bi
s 

B
j.2

00
1 

oh
ne

 V
ar

ia
to

r

 J
D

 - 
95

60
/9

65
0/

96
60

/9
75

0/
97

60
/9

86
0 

S
TS

   
   

   
   

   
   

   
   

   
   

  
iJ

D
 - 

95
70

/9
67

0/
97

70
/9

87
0 

S
TS

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

 
iJ

D
 - 

95
40

/9
56

0/
95

80
 W

TS

 J
D

 - 
W

 5
40

i/5
50

i  
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

  
iJ

D
 - 

T 
55

0i
/5

60
i

1 023885 W2400 1 3/8" - 21 tlg. 1 1 1 1 1 1 1 1 1 1
2 010564 1 1 1 1 1 1 1 1 1 1
3 040657 M12x160 - DIN 931 2 2 2 2 2 2 2 2 2 2
4 040311 13 - DIN 125 4 4 4 4 4 4 4 4 4 4
5 040010 M12 - DIN 985 2 2 2 2 2 2 2 2 2 2
6 814038 1 1 1 1 1 1 1 1 1 1
7 527133 3 3 3 3 3 3 3 3 3 3
8 025042 FLCTE 35 1 1 1 1 1 1 1 1 1 1
9 040493 M10x70 - DIN 931 2 2 2 2 2 2 2 2 2 2

10 040202 10.5 - DIN 125 4 4 4 4 4 4 4 4 4 4
11 040009 M10 - DIN 985 2 2 2 2 2 2 2 2 2 2
12 510849 1 1 1 1 1 1 1 1 1 1
13 510816 Spannring für Schutztopf 1 1 1 1 1 1 1 1 1 1
14 040448 M8x25 - DIN 933 4 4 4 4 4 4 4 4 4 4
15 040008 M8 - DIN 985 4 4 4 4 4 4 4 4 4 4
16 023954 W2400 - Lz1160 - DF 5/1 - 21/21 1 1
16 023956 W2400 - Lz1360 - DF 5/1 - 21/6 1
16 023957 W2400 - Lz1360 - DF 5/1 - 21/21 1 1 1 1 1 1
16 023958 W2400 - Lz1360 - DF 5/1 - 21/SW28,6 1
17 040540 M12x130 - DIN 931 2 2 2 2 2 2 2 2 2 2
18 040311 13 - DIN 125 4 4 4 4 4 4 4 4 4 4
19 040010 M12 - DIN 985 2 2 2 2 2 2 2 2 2 2

40/185
C - VS 610 / 760 / 910 



40 185

1

6

7
10,11

17,18

12

13
14

15

18,19

8
9,10

16

2

3,4

4,5

VS 610
VS 670
VS 760
VS 910

VS 485
VS 550
VS 670

1

2

3,4

4,5



A B D  J
D

 - 
95

40
/9

56
0/

95
80

 W
TS

 H
illm

as
te

r  
   

   
   

   
   

   
   

   
   

   
   

   
  

iJ
D

 - 
W

 5
40

i/5
50

i H
illm

as
te

r  
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
iJ

D
 - 

T 
55

0i
/5

60
i H

illm
as

te
r

 J
D

 - 
96

40
/9

66
0/

96
80

 W
TS

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
iJ

D
 - 

W
 6

50
i/6

60
i  

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
  

iJ
D

 - 
T 

66
0i

/6
70

i 

 J
D

 - 
96

40
/9

66
0/

96
80

 W
TS

 H
illm

as
te

r  
   

   
   

   
   

   
   

   
   

   
   

   
  

iJ
D

 - 
W

 6
50

i/6
60

i H
illm

as
te

r  
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
iJ

D
 - 

T 
66

0i
/6

70
i H

illm
as

te
r

 J
D

 - 
97

80
/9

88
0 

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

  
iJ

D
 - 

97
80

 H
illm

as
te

r  
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

  
iJ

D
 - 

C
 6

70
i  

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

 
iJ

D
 - 

C
 6

70
i  

H
illm

as
te

r

 J
D

 - 
S

69
0i

/5
60

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
iJ

D
 - 

S
 6

90
i 5

-s
pe

ed
 5

20
-7

80
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
iJ

D
 - 

S
 6

90
i H

illm
as

te
r  

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

  
iJ

D
 - 

S
 6

90
i H

illm
as

te
r  

5-
sp

ee
d 

52
0-

78
0

1 023885 W2400 1 3/8" - 21 tlg. 1 1 1 1 1
2 010564 1 1 1 1 1
3 040657 M12x160 - DIN 931 2 2 2 2 2
4 040311 13 - DIN 125 4 4 4 4 4
5 040010 M12 - DIN 985 2 2 2 2 2
6 814038 1 1 1 1 1
7 527133 3 3 3 3 3
8 025042 FLCTE 35 1 1 1 1 1
9 040493 M10x70 - DIN 931 2 2 2 2 2

10 040202 10.5 - DIN 125 4 4 4 4 4
11 040009 M10 - DIN 985 2 2 2 2 2
12 510849 1 1 1 1 1
13 510816 Spannring für Schutztopf 1 1 1 1 1
14 040448 M8x25 - DIN 933 4 4 4 4 4
15 040008 M8 - DIN 985 4 4 4 4 4
16 023954 W2400 - Lz1160 - DF 5/1 - 21/21 1 1
16 023956 W2400 - Lz1360 - DF 5/1 - 21/6
16 023957 W2400 - Lz1360 - DF 5/1 - 21/21 1 1 1
16 023958 W2400 - Lz1360 - DF 5/1 - 21/SW28,6
17 040540 M12x130 - DIN 931 2 2 2 2 2
18 040311 13 - DIN 125 4 4 4 4 4
19 040010 M12 - DIN 985 2 2 2 2 2

40/185
C - VS 610 / 760 / 910 



40 185

1

6

7
10,11

17,18

12

13
14

15

18,19

8
9,10

16

2

3,4

4,5

VS 610
VS 670
VS 760
VS 910

VS 485
VS 550
VS 670

1

2

3,4

4,5



A B D  C
H

 - 
64

4/
64

5/
64

8 
Fr

ee
flo

w

 C
H

 - 
64

8 
P

ow
er

flo
w

 C
H

 - 
64

6/
65

2 
Fr

ee
flo

w

 C
H

 - 
65

2 
P

ow
er

flo
w

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

  
iC

H
 - 

65
4/

65
8

 C
H

 - 
65

4 
/ 6

58
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

 
iC

H
 - 

66
0/

67
0/

68
0B

 o
hn

e 
V

ar
ia

to
r  

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
iC

H
 - 

66
0/

67
0/

68
0B

 m
it 

V
ar

ia
to

r

1 023885 W2400 1 3/8" - 21 tlg. 1 1 1 1 1
2 010564 1 1 1 1 1
3 040657 M12x160 - DIN 931 2 2 2 2 2
4 040311 13 - DIN 125 4 4 4 4 4
5 040010 M12 - DIN 985 2 2 2 2 2
6 814038 1 1 1 1 1
7 527133 3 3 3 3 3
8 025042 FLCTE 35 1 1 1 1 1
9 040493 M10x70 - DIN 931 2 2 2 2 2

10 040202 10.5 - DIN 125 4 4 4 4 4
11 040009 M10 - DIN 985 2 2 2 2 2
12 510849 1 1 1 1 1
13 510816 1 1 1 1 1
14 040448 M8x25 - DIN 933 4 4 4 4 4
15 040008 M8 - DIN 985 4 4 4 4 4
16 023954 W2400 - Lz1160 - DF 5/1 - 21/21
16 023956 W2400 - Lz1360 - DF 5/1 - 21/6 1 1
16 023957 W2400 - Lz1360 - DF 5/1 - 21/21 1 1 1
16 023958 W2400 - Lz1360 - DF 5/1 - 21/SW28,6
17 040540 M12x130 - DIN 931 2 2 2 2 2
18 040311 13 - DIN 125 4 4 4 4 4
19 040010 M12 - DIN 985 2 2 2 2 2

40/185
C - VS 610 / 760 / 910



40 185

1

6

7
10,11

17,18

12

13
14

15

18,19

8
9,10

16

2

3,4

4,5

VS 610
VS 670
VS 760
VS 910

VS 485
VS 550
VS 670

1

2

3,4

4,5



A B D  M
F  

- 3
4/

36
, 7

25
0-

56

 M
F  

- A
ct

iv
a 

72
40

/7
24

4/
72

45
/7

24
5S

 F
re

ef
lo

w
   

   
   

   
   

   
   

   
   

  
iM

F  
- B

et
a 

72
60

 F
re

ef
lo

w
 

 M
F  

- B
et

a 
72

60
 P

ow
er

flo
w

 M
F  

- B
et

a 
72

60
 / 

A
ct

iv
a 

72
45

S
 A

L 
 F

re
ef

lo
w

   
   

   
   

   
   

   
   

   
   

iM
F  

- A
ct

iv
a 

72
76

/7
24

7S
 / 

B
et

a 
72

70
 F

re
ef

lo
w

 M
F  

- B
et

a 
72

70
 P

ow
er

flo
w

 M
F 

- B
et

a 
72

70
 / 

A
ct

iv
a 

72
47

S
  A

L 
Fr

ee
flo

w
   

   
   

   
   

   
   

   
   

   
iM

F  
- 3

8/
40

, 7
26

8-
78

M
F  

- 7
27

4/
78

  C
er

ea
 - 

ab
 M

D
-N

r. 
61

49
0 

B
j. 

20
06

   
   

   
   

   
   

   
 

M
F  

- C
en

to
ra

 7
28

0/
72

82
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
 

M
F  

- C
en

to
ra

 7
28

0/
72

82
A

L 
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
  

M
F 

- 9
69

0/
97

90
, 9

89
5 

oh
ne

 V
ar

ia
to

r  
   

   
   

   
   

   
   

   
   

   
   

   
   

  
M

F  
- 9

69
0/

97
90

, 9
89

5 
m

it 
V

ar
ia

to
r 6

08
-9

75

1 023885 W2400 1 3/8" - 21 tlg. 1 1 1 1 1 1 1
2 010564 1 1 1 1 1 1
3 040657 M12x160 - DIN 931 2 2 2 2 2 2
4 040311 13 - DIN 125 4 4 4 4 4 4
5 040010  M12 - DIN 985 2 2 2 2 2 2
6 814038 1 1 1 1 1 1
7 527133 3 3 3 3 3 3
8 025042 FLCTE 35 1 1 1 1 1 1
9 040493 M10x70 - DIN 931 2 2 2 2 2 2

10 040202 10.5 - DIN 125 4 4 4 4 4 4
11 040009 M10 - DIN 985 2 2 2 2 2 2
12 510849 1 1 1 1 1 1
13 510816 1 1 1 1 1 1
14 040448 M8x25 - DIN 933 4 4 4 4 4 4
15 040008 M8 - DIN 985 4 4 4 4 4 4
16 023954 W2400 - Lz1160 - DF 5/1 - 21/21
16 023956 W2400 - Lz1360 - DF 5/1 - 21/6 1 1 1 1
16 023957 W2400 - Lz1360 - DF 5/1 - 21/21 1 1 1
16 023958 W2400 - Lz1360 - DF 5/1 - 21/SW28,6
17 040540 M12x130 - DIN 931 2 2 2 2 2 2
18 040311 13 - DIN 125 4 4 4 4 4 4
19 040010 M12 - DIN 985 2 2 2 2 2 2

40/185
C - VS 610 / 760 / 910



40 185

1

6

7
10,11

17,18

12

13
14

15

18,19

8
9,10

16

2

3,4

4,5

VS 610
VS 670
VS 760
VS 910

VS 485
VS 550
VS 670

1

2

3,4

4,5



A B D iF
E 

- 5
22

0/
52

50
   

  M
F 

al
t K

an
al

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

  
iF

E 
- 5

18
0E

/5
22

0E
/5

25
0E

, 5
25

0L
 F

re
ef

lo
w

   
   

   
   

   
   

   
   

   
   

  
iF

E 
- 5

27
0C

 F
re

ef
lo

w

iF
E 

- 5
27

0C
 P

ow
er

flo
w

iF
E 

- 5
27

0C
/ 5

25
0L

   
A

L 
 F

re
ef

lo
w

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
 

iF
E  

- 6
25

0E
/6

27
0L

/6
30

0C
 F

re
ef

lo
w

iF
E 

-6
30

0C
 P

ow
er

flo
w

iF
E 

- 6
30

0C
/6

27
0L

   
A

L 
Fr

ee
flo

w
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
iF

E 
- 6

28
0/

83
00

/8
35

0 
M

F 
al

t K
an

al
   

   
   

   
   

   
   

   
   

 

FE
 - 

83
00

/8
35

0 
ab

 M
D

-N
r. 

61
49

0 
B

j.0
6 

   
   

   
   

   
   

   
   

   
   

   
   

  
FE

 - 
P

 8
37

0/
84

00
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
iF

E  
- P

 8
37

0/
84

00
  A

L 
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

 
iF

E  
- 9

46
0 

oh
ne

 V
ar

ia
to

r  
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

  
iF

E 
- 9

46
0 

m
it 

V
ar

ia
to

r

1 023885 W2400 1 3/8" - 21 tlg.
2 010564 1 1 1 1 1 1
3 040657 M12x160 - DIN 931 2 2 2 2 2 2
4 040311 13 - DIN 125 4 4 4 4 4 4
5 040010 M12 - DIN 985 2 2 2 2 2 2
6 814038 1 1 1 1 1 1
7 527133 3 3 3 3 3 3
8 025042 FLCTE 35 1 1 1 1 1 1
9 040493 M10x70 - DIN 931 2 2 2 2 2 2

10 040202 10.5 - DIN 125 4 4 4 4 4 4
11 040009 M10 - DIN 985 2 2 2 2 2 2
12 510849 1 1 1 1 1 1
13 510816 1 1 1 1 1 1
14 040448 M8x25 - DIN 933 4 4 4 4 4 4
15 040008 M8 - DIN 985 4 4 4 4 4 4
16 023954 W2400 - Lz1160 - DF 5/1 - 21/21
16 023956 W2400 - Lz1360 - DF 5/1 - 21/6 1 1 1
16 023957 W2400 - Lz1360 - DF 5/1 - 21/21 1 1 1
16 023958 W2400 - Lz1360 - DF 5/1 - 21/SW28,6
17 040540 M12x130 - DIN 931 2 2 2 2 2 2
18 040311 13 - DIN 125 4 4 4 4 4 4
19 040010 M12 - DIN 985 2 2 2 2 2 2

40/185
C - VS 610 / 760 / 910



40 185

1

6

7
10,11

17,18

12

13
14

15

18,19

8
9,10

16

2

3,4

4,5

VS 610
VS 670
VS 760
VS 910

VS 485
VS 550
VS 670

1

2

3,4

4,5



A B D  L
A  

- M
30

3/
30

4,
 2

1.
50

/2
5.

50
LX

E
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
iL

A
 - 

22
5/

25
5 

R
E

V
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

 
iL

A
 - 

25
5 

LC
S

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
  

iL
A

 - 
M

30
4L

S
 / 

25
5 

LC
S

 L
S

 L
ev

el
in

g 
   

   
   

   
   

   
   

   
   

   
   

   
   

  
iL

A  
- 3

05
/3

06
, 2

8.
60

LX
E

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

 
iL

A  
- 2

56
 R

E
V

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
  

iL
A

 - 
29

6 
LC

S
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
iL

A  
- M

30
6 

LS
 / 

29
6 

LC
S

 L
S

 L
ev

el
in

g

 L
A  

- M
L 

80
0 

A
R

S
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

  
iL

A
 - 

M
L 

80
0 

A
R

S

1 023885 W2400 1 3/8" - 21 tlg.
2 010564 1 1
3 040657 M12x160 - DIN 931 2 2
4 040311 13 - DIN 125 4 4
5 040010 M12 - DIN 985 2 2
6 814038 1 1
7 527133 3 3
8 025042 FLCTE 35 1 1
9 040493 M10x70 - DIN 931 2 2

10 040202 10.5 - DIN 125 4 4
11 040009 M10 - DIN 985 2 2
12 510849 1 1
13 510816 1 1
14 040448 M8x25 - DIN 933 4 4
15 040008 M8 - DIN 985 4 4
16 023954 W2400 - Lz1160 - DF 5/1 - 21/21
16 023956 W2400 - Lz1360 - DF 5/1 - 21/6 1
16 023957 W2400 - Lz1360 - DF 5/1 - 21/21 1
16 023958 W2400 - Lz1360 - DF 5/1 - 21/SW28,6
17 040540 M12x130 - DIN 931 2 2
18 040311 13 - DIN 125 4 4
19 040010 M12 - DIN 985 2 2

40/185
C - VS 610 / 760 / 910



40 190

1

2

5

4

6

7

6

3



A B C D
- 899010 Pos. 1-7

1 026027 1 1/8"
2 048095 1 SVV 6590-6-S04 ZG
3 048096 1 GEKV 6510-6-M6x1-S03 ZG
4 048097 1
5 048098 1
6 048099 2
7 048100 n.B. KF 300

40/190



40 200

2

6

7

1

5

4

2

3

1

5

6



A B C D
- 941001 Pos. 1-7

1 941559 2
2 510245 2
3 027103 1 GAB 105
4 941558 1
5 040979 6 M14x80 - DIN 931 - 10.9
6 042006 6 M14 - DIN 985 verz. - 10.9
7 026379 1 M6

40/200



40 210

1

2

3

4

4

5

6

7

7

8

8

9

10

11

12

13

14

15

16

17

18,19

B40/000



A B C D
- 940002 Pos. 1-19

1 940102 1
2 041364 1 B12x8x30 - DIN 6885
3 940104 1 z=30 
4 025172 2 6011 - DIN 625
5 041174 1 115x3
6 940101 1
7 041246 2 90x3 - DIN 472
8 041363 2 AS 55x90x10
9 940100 1

10 041297 1 A8x22x1,5 - DIN 7603
11 040921 1 M18x1,5 - DIN 908
12 940103 1 z=14
13 025171 1 6208 - DIN 625
14 040187 1 63x80x1,5 - DIN 988
15 041029 1 40x1,75 - DIN 471
16 041030 1 80x2,5 - DIN 472
17 041365 1 B 815
18 040444 6 M8x20 - DIN 933
19 040108 6 A8- DIN 127

40/210



40 300

8

22,23 26,27

24

25

29

21

26,27

30

22,23

1
2,3,4

6

7

11

10

13,14

12

16
17

15

28

24

20

5

9

9

16

18,19

20

21

25

31



A B D

MD ohne 
hydraul. 
Haspel-  
anrieb    

C

MD mit 
hydraul. 
Haspel-  
anrieb    

C
- 899013 Pos. 1-12,14-18,20,24,28 1 1

1 941551 1 1
2 040429 M12x25 - DIN 603 2 2
3 040218 A13 - DIN 9021 2 2
4 040010 M12 - DIN 985 2 2
5 841000 B40/180 1 1
6 840100 B40/160 1 1
7 8401xx B40/150 1 1
8 814107 1 1
9 899010 B40/190 1 1

10 048071 51cc+6cc 1
10 048072 51cc+16cc+6,3cc 1
11 041452 ø101x3 -72 NBR 1 1
12 042273 M12x60 - DIN 913 2 2
13 040010 M12 - DIN 985 2 2
14 040124 2 2
15 048010 3G16 1 1
16 048011 3G16 2 2
17 844125 1 1
18 040912 M10x40 - DIN 912 3 3
19 040122 A10 - DIN 7980 3 3
20 026415 2G12 2 1
21 026416 2G12 2 1
22 040530 M8x25 - DIN 912 6 3
23 040119 A8 - DIN 7980 6 3
24 026417 1G08 3 2
25 026418 1G08 3 2
26 040536 M6x20 - DIN 912 9 6
27 040129 A6 - DIN 7980 9 6
28 840000 B40/185 1 1
29 048484 1 1
30 048073 1 1
31 026729 1 1

40/300



1

2,3,4

5

36

37,38

32
33,34,35

Z

X

Y

6

7,8

9

15

16

17

20

22
23

24

30

14(X)

21(Y)

25(Z)
26,27

28,29

11

12

13

18,19

VS 485 VS 550 VS 610 - VS 910

10

36 32

39

39

36

32

40 1

1

31

50 100



Y

A B D C
la

as
 L

ex
io

n 
4x

x

N
H

 C
S

D
F 

C
la

as
 L

ex
io

n 
5x

x 

N
H

 T
X,

 T
F,

 T
C

 

JD
 

M
F,

Fe
nd

t

- 699150 Pos.1-14, 26-30 1 1 1
- 699150 Pos.1-10, 15-21, 26-40 1
- 699150 Pos.1-10, 22-30 1 1 1

1 681455 1 1 1 1 1 1 1
2 040437 M8x20 - DIN 603 4 4 4 4 4 4 4
3 040201 A8,4 - DIN 125 4 4 4 4 4 4 4
4 040008 M8 - DIN 985 4 4 4 4 4 4 4
5 026863 OMM 32 1 1 1 1 1 1 1
6 040448 M8x25 - DIN 933 2 2 2 2 2 2 2
7 040201 8,4 - DIN 125 2 2 2 2 2 2 2
8 040008 M8 - DIN 985 2 2 2 2 2 2 2
9 026397 GE 15 PL/R3/8" 2 2 2 2 2 2 2

10 814170 GE 15L / R 3/8" 1 1 1 1 1 1 1

11 026619 1
12 040094 M18x2,5  5mm 2
13 028634 1
14 683445 1

11 028587 1
12 040098 M18x1 SW24 t=4 2
13 028594 1
14 683445 1
14 681752 1

11 028590 1
12 040098 M18x1 SW24 t=4 2
13 028591 1
14 684415 4xx Serie 1
14 682504 56xx Serie 1

15 683446 1
16 028655 1
17 040458 M6x20 - DIN 933 1
18 040200 6,4 - DIN 125 1
19 040007 M6 - DIN 685 1
20 028656 1
21 683445 Sensorscheibe 1

22 028526 1
23  2
24 028528 1
25 681457 1

22 028524 1
23 028525 2
24 028527 1
25 684415 1

50/100
C 

X Z



1

2,3,4

5

36

37,38

32
33,34,35

Z

X

Y

6

7,8

9

15

16

17

20

22
23

24

30

14(X)

21(Y)

25(Z)
26,27

28,29

11

12

13

18,19

VS 485 VS 550 VS 610 - VS 910

10

36 32

39

39

36

32

40 1

1

31

50 100



Y

A B D C
la

as
 L

ex
io

n 
4x

x

N
H

 C
S

D
F 

C
la

as
 L

ex
io

n 
5x

x 

N
H

 T
X,

 T
F,

 T
C

 

JD
 

M
F,

Fe
nd

t

22 028585 1
23 040095 M14x1,5 SW19 2
24 028623 1
25 688174 1

26 040841 M6x12 - DIN 933 1 1 1 1 1 1 1
27 040200 6,4 - DIN 125 1 1 1 1 1 1 1
28 040494 M6x16 - DIN 933 2 2 2 2 2 2 2
29 040107 A6 - DIN 127 2 2 2 2 2 2 2
30 681456 1 1 1 1 1 1 1
31 040842 M6x16 1 1 1 1 1 1 1
32 048367 1 1 1 1 1 1 1
33 042297 M6x35 - DIN 933 2 2 2 2 2 2 2
34 040200 6,4 - DIN 125 2 2 2 2 2 2 2
35 040007 M6 - DIN 985 2 2 2 2 2 2 2
36 914201 VS485 n.B. n.B. n.B. n.B. n.B. n.B. n.B.
36 814159 VS 550 n.B. n.B. n.B. n.B. n.B. n.B. n.B.
36 814111 VS 610/670/760/910 n.B. n.B. n.B. n.B. n.B. n.B. n.B.
37 040534 M8x16 - DIN 933 2 2 2 2 2 2 2
38 040201 8,4 - DIN 125 2 2 2 2 2 2 2
39 914200 VS 485/VS 550 1 1 1 1 1 1 1
40 683769 ¢19x4,5x30 - VS 485 3 3 3 3 3 3 3

50/100
C 

X Z



13
13

14

1
2

3

4

4 (VS 910)

5

6
7

8

9
11,12

10
13

14

14
14

13

50 200



A B D

VS 485  
VS 550  
VS 610  
VS 670  
VS 760 VS 910

1 026754 45x24x170 mit WMS 1 1
2 026758 38x20x170 1 1
3 048333 40x24x350 1 1
4 026755 45x24x170 1 2
5 048335 32x20x350 1 1
6 814161 1 1
7 048120 M8x1,25x24,5 SW8 1 1
8 026303 BK3-8L PA 1 1

- 844129 Pos. 9-10 1 1
9 844130 1 1

10 040694 M6x10 - DIN 7991 2 2

11 040534 M8x16 - DIN 933 2 2
12 040201 A8,4 - DIN 125 2 2
13 048656 3 4
14 844132 M12x1,5 - DIN 910 - bis Bauj. 08 3 4

50/200
C



50 300

1

2

2 3

4,5

6

7

8

10

9
11 12,13 14

12,13

14



A B C D
1 026756 1 dw.45x24x500 
2 048339 2 dw.38x20x500
3 814035 2
4 040472 4 M10x20 - DIN 933
5 040202 4  A10,5 - DIN 125
6 026790 1 dw.45x24x500 
7 040226 4 35x45x1
8 041145 4 35x2,5 - DIN 471
9 814045 1

10 040669 2 M8x80 - DIN 603
11 040008 2 M8 - DIN 985
12 042303 4 M10x55 - DIN 931
13 040202 4 A10,5 - DIN 125
14 040009 4 M10 - DIN 985

50/300



50 400

X1

X2

X3

X4

X5

B50200

R

B50300

1

2

3

3

4

5

7

8

10

11

12

13

14

15

6

blau +

9

braun -

Y10/L

Y11/R

S7

S8

X1

X3

X5

Y3=F3

Y1=F1

Y2=F3

B40300

Y4

2

B40300
Y12



A B C D 
1 028738 1
2 028716 2
3 028705 2
4 028724 1
5 028744 1
6 028717 1
7 028739 1 X1
8 028745 1 X3
9 028741 1

10 028747 1 X5
11 028708 1
12 028715 1
13 028707 1
14 041995 1
15 028757 1

    

50/400





A B C NH-CX/CR/CSX, Case AFX/AF ab Bj.06  
- 860020 Pos. 1-11

1 550166 1
2 040596 4 M8x20 - DIN 912
3 040372 4 SKK8
4 040002 4 M8 - DIN 934
5 026167 2 GE15-PL 3/4-16 UNF
6 026823 3  XA8-L/9/-16-18 UNF
7 814171 1
8 040505 2 M12x150 - DIN 931
9 040010 2 M12 - DIN 985

10 xxxxxx 2
11 xxxxxx 3

    

50/500





A B C NH CS, TX, CX/CSX 
- 860021 Pos. 1-9 - ab Bj.02
- 860022 Pos. 1-9 - bis Bj.01

1 550165 1 NH - CX 3-fach - ab Bj.02
1 050765 1 NH - CX 5-fach - bis Bj.01
2 040596 4 M8x20 - DIN 912
3 040372 4 Form A - SKK8
4 040002 4 M8 - DIN 934
5 026823 3 XA8-L/9/-16-18 UNF - ab Bj.02
5 026089 2 GE8-PL R 3/8" - bis Bj.01
6 814171 1
7 040505 2 M12x150 - DIN 931
8 040010 2 M12 - DIN 985
9 xxxxxx 3

    

50/510





A B C DF- 4..., 5...
- 861020 1 Pos. 1-6

1 051990 1
2 551115 1
3 040444 2 M8x20 - DIN 933
4 040159 2 Form M - DIN 1524
5 026089 3 GE8PL/R-R 3/8"
6 026368 3 1106K-A0-A3-2200

    

50/530





A B C Claas / Caterpillar Lexion 5... - VS
- 862020 Pos. 1-38

1 552309 1
2 026995 1 7539
3 048426 1 PRO 8-1,5 VZx68 ML ML
4 048325 1 GEO 8-PLM 14x1,5
5 048427 1 PKP 206x260 AOL AOL90
6 683766 1
7 040894 5 M5x45 - H-DIN 7985
8 026101 2 GE 8-PLR - ED
9 026840 2 GE 15-PL 7/8" - Unf

10 048425 1 PKP 213x450 AOL90 L77 U90N
11 048424 1 PR15-1,5 VZx15 B1 2xML
12 048422 2 KM 14
13 040448 6 M8x25 - DIN 931
14 040008 6 M8 - DIN 985 
15 040201 2 A8,4 - DIN125 
16 040216 2 8,4 - DIN 9021
17 040159 12 M8,4 - DIN 1524
18 852102 1
19 026420 2 GM15-L
20 048421 2 XSW NW 13HL
21 048423 3 XSW NW 06HL
22 026323 n.B. GM8-L
23 683768 1
24 040471 2 M8x100 - DIN 933
25 040008 2 M8 - DIN 985 verz.
26 040201 2 A8,4 - DIN125 
27 040216 2 8,4 - DIN 9021
28 026524 1
29 026568 1
30 040905 3 M5x30 - DIN 7985
31 040991 n.B. M5
32 040083 6 M8
33 040534 6 M8x16 - DIN 933
34 040159 6 M8,4 - DIN 1524
35 552311 1
36 028651 1
37 048429 1 PKP 206x265 AOL AOL 90
38 048428 1 PKP 206x300 AOL AOL 90

50/550





A B C Claas / Caterpillar Lexion 4xx - VS
- 862021 1 Pos. 1-43

1 052278 1  
2 052282 1  
3 040534 6 M8x16 - DIN 933
4 040108 6 A8 - DIN 127
5 852102 1  
6 040436 4 M8x20 - DIN 933
7 040159 8 Form M 8,2
8 040008 3 M8 - DIN 985
9 040505 2 M12x150 - DIN 931

10 040203 4 13 - DIN 125
11 040010 2 M12 - DIN 985
12 026995 1  
13 040471 2 M8x100 - DIN 931
14 040201 2 8,4 - DIN 125
15 040216 2 8,4 - DIN 9021
16 040008 2 M8 - DIN 985
17 026069 3 WSV-8PL
18 040383 3 15 - DIN 433
19 026043 3 EVW-8PL
20 026524 1 7-pol.
21 026679 1  
22 040905 3 M5x30 - DIN 9785
23 040272 3 5,3 - DIN 9021
24 040006 3 M5 - DIN 985
25 041312 6 EP 320 - 15,7
26 041306 1 RSGU 15-12
27 040806 1 M5x12 - DIN 933
28 040272 1 5,3 - DIN 9021
29 040006 1 M5 - DIN 985
30 552055 1  
31 040425 2 M8x25 - DIN 933
32 040201 2 8,4 - DIN 125
33 040216 2 8,4 - DIN 9021
34 040008 2 M8 - DIN 985
35 552058 1  
36 026688 1  
37 026611 3  
38 040894 5 M5x45 - DIN 9785
39 026827 1 1106K-A0-A3-550
40 026362 2 1106K-A0-A3-800
41 026848 2 1106K-A0-A2-350
42 048325 1 GEO 8 PLM 14x1,5
43 048653 1

    

50/560





A B C D
- 862022 Pos. 1-12

1 XXXXXX 3
2 026006 3
3 510299 1
4 026924 1 1106K-A0-A0-700
5 026232 2 1106K-A0-A3-1000
6 026110 1
7 526121 1 R
8 526125 1
9 040525 1 M8x45 - DIN 933

10 040008 1 M8 - DIN 985
11 026029 4 M8-L
12 026028 4 DPR 8-L

50/570





A B C JD 
- 863020 1 Pos. 1-15

1 684650 1
2 026872 2 GE 15PL 3/4"-16 UNF
3 026840 3 GE 15PL 7/8"-14 UNF
4 026086 3 KOR 15/8PL
5 028589 1 JD 9xxx E
6 041382 1
7 553185 1
8 553187 1
9 040418 1 M10x25 - DIN 933

10 040202 1 10,5 - DIN 125
11 041369 1 LP 10
12 048397 3 2SN-06x1010 A05/A25
13 040505 2 M12x150 - DIN 931
14 040010 2 M12 - DIN 985
15 040569 3 M5x35 - DIN 84
16 040272 6 5,3 - DIN 9021
17 040006 3 M5 - DIN 985

    

50/590





A B C Laverda M..., R...
- 865020 1 Pos. 1-9

1 555072 1
2 814171 1
3 040657 2 M12x160 - DIN 931
4 040010 2 M12 - DIN 985
5 040596 4 M8x20 - DIN 912
6 040372 4 Form A - DIN1524 SKK8
7 040002 4 M8 - DIN 934
8 026101 3 GE 8-PLR-ED
9 xxxxxx 1

    

50/640





A B C  MF/Fendt m. Powerflow 
- 866020 1 Pos. 1-17

1 556254 1
2 026872 3 GE 15PL 3/4"-16 UNF
3 026840 2 GE 15PL 7/8"-14 UNF
4 026086 3 KOR 15/8PL
5 556252 1
6 040505 2 M12x150 - DIN 931
7 040010 2 M12 - DIN 985
8 553187 1
9 040418 1 M10x25 - DIN 933

10 040202 1 10,5 - DIN 125
11 041369 1 LP 10
12 028589 1
13 041382 1
14 048397 3 2SN-06x1010 A05/A25
15 040569 3 M5x35 - DIN 84
16 040272 6 5,3 - DIN 9021
17 040006 3 M5 - DIN 985

    

50/650



50 700

26

22

18,19

25

5

20

2

24

10
9

8

7

6

11

12

21
31

13,14

3

4

16

15

35

17

34

27

33

28
29

23

1

30,32

30,32



A B C D
- 844150 Pos. 1-35

1 844155 1 VS 485/610/760/910
1 844156 1 VS 550/670

- 048003 Pos. 2-11
2 048001 1
3 048002 1
4 026705 1 ø108x3
5 026703 1 ø137,5x5
6 048000 1
7 026704 1 ø134,5x3,5
8 026702 1 DA 31,5
9 048003 1 M8

10 026700 1
11 026701 3 M8x25

12 048185 1 XGE28LR1 1/4-ED
13 040148 3 M10x25 - DIN 933
14 040160 3 Form M - DIN 1524
15 041555 1 ø60x2,5
16 944232 1 22L
17 844116 1 22L
18 040494 3 M6x16 - DIN 933
19 040155 3 Form M - DIN 1524
20 048184 1 Ri 3/4 ED x 1/4
21 026067 1 GE 8 PLM
22 844124 1
23 040827 1 M10x1
24 048004 1 LVA 2 
25 026260 1 TKMB 12
26 042312 1 G 3/4 - DIN 908
27 026706 1 IG-IG 1 1/2
28 844134 1
29 844146 1
30 844166 2
31 048480 1 DN50
32 048477 2 ø60
33 048478 2 42l
34 048023 2 ø48-51
35 048479 2 DN40

50/700



32

30

50

3

35

10

9

33

24

51
49

12

5

52

4

56

36

1

22

19

23

18
21

20
28

27

26
25

34

37

11

40

41 42

15
17

16

48

47

46

6

14

38

43

7

13

44
45

39 2

29

31

8

55

29

54

53

60 100



A B C D
- 812500 1 L - Pos. 1-56
- 812501 1 R - Pos. 1-56

1 812512 1
2 812510 1 L
2 812511 1 R 
3 912660 1 L
3 912661 1 R 
4 613740 1
5 613878 1
6 613871 1
7 812543 1
8 610283 1
9 610288 1

10 912650 1
11 613711 1
12 613729 1 L
12 613776 1 R 
13 812544 1
14 041132 1
15 613870 2
16 041957 1 249A
17 041103 1 5x20 - DIN 1481 
18 912636 2
19 041662 1 ¢4,7mm
20 040792 1 M16x25 - DIN 933 
21 040214 1 17 - DIN 7349 
22 812576 1
23 042239 2 M6x16 - DIN 7991 
24 912639 1 M16x140
25 040017 1 M16 - DIN 934  
26 040798 1 M16x110 - DIN 931 verz.
27 040204 1 17 - DIN 125 
28 040061 1 M16 - DIN 985  
29 041101 2 5x30 - DIN 94
30 040203 1 13 - DIN 125  
31 040437 1 M8x20 - DIN 603 
32 040201 1 A8,4 - DIN 125
33 040008 1 M8 - DIN 985  
34 040418 2 M10x25 - DIN 933 
35 040202 2 A10.5 - DIN 125 
36 040009 2 M10 -  DIN 985  
37 040452 1 M10x30 - DIN 603  
38 040217 1 10,5 -  DIN 9021  
39 040009 1 M10 - DIN 985 
40 040418 1 M10x25 - DIN 933  
41 040202 1 A10.5 - DIN 125 
42 040009 1 M10 -  DIN 985  
43 040976 1 M12x45 - DIN 603 
44 040218 1 13 - DIN 9021 
45 040010 1 M12 -  DIN 985
46 040448 1 M8x25 - DIN 933  
47 040201 1 A8,4 - DIN 125 
48 040008 1 M8 - DIN 985  
49 040499 2 M10x25 - DIN 603 
50 040217 2 10,5 -  DIN 9021  

60/100



32

30

50

3

35

10

9

33

24

51
49

12

5

52

4

56

36

1

22

19

23

18
21

20
28

27

26
25

34

37

11

40

41 42

15
17

16

48

47

46

6

14

38

43

7

13

44
45

39 2

29

31

8

55

29

54

53

60 100



A B C D
51 040009 2 M10 -  DIN 985  
52 040615 2 M8x45 - DIN 603 
53 040201 2 A8,4 - DIN 125
54 040008 2 M8 - DIN 985  
55 040793 1 M16x30 - DIN 933
56 040214 1 17 - DIN 7349

60/100



60 201

2 3 4

5

6

7

8

9

11121314

15

16

18

19

21

20

22

23

24

25

26

16

27

25 17

1

10



A B C D
- 812520 1 L - Pos. 1-27
- 812521 1 R - Pos. 1-27

1 812550 1 L 
1 812551 1 R
2 912636 1
3 040214 1 17 - DIN 7349
4 040792 1 M16x25 - DIN 933
5 041339 1 4mm LP4
6 812576 1
7 042239 2 M6x16 - DIN 7991
8 040017 1 M16 - DIN 934
9 042346 1 M16x100 - DIN 914

10 040008 4 M8 - DIN 985
11 040436 4 M8x20 - DIN 933
12 812566 1 L 
12 812567 1 R
13 040011 1 M16 - DIN 985
14 912671 1
15 040718 1 M16x120 - DIN 931
16 040917 4 M8x20
17 040014 1 M8 - DIN 934
18 812557 1 L 
18 812558 1 R
19 040418 2 M10x25 - DIN 933
20 040202 2 A10,5 - DIN 125
21 040009 2 M10 - DIN 985
22 610283 1
23 040413 1 M8x25 - DIN 603
24 040008 1 M8 - DIN 985
25 040159 3 Form M 8,4 - DIN 1524
26 610288 1
27 812570 1 L 
27 812571 1 R

60/201



60 300

17,18

8

12

13

9
11

B60320

1

3,4

2

7

5
5

15
14

16
14

17,18

7

6

16

10

B60350



A B C D
- 870001 L - Pos. 1-29
- 870002 R - Pos. 1-29

1 870060 1 L
1 870061 1 R
2 870015 1
3 040438 2 M10x30 - DIN 933
4 040231 2 Form M - DIN 1524
5 041662 2 ¢4,7mm
6 812030 1
7 870352 2 8mm
8 040907 3 M8x35 mvk
9 912636 1

10 040792 1 M16x25 - DIN 933
11 040214 1 17 - DIN 7349
12 812576 1
13 042239 2 M6x16 - DIN 7991
14 870351 2
15 870016 1
16 042242 2 M6x30 - DIN7991
17 040215 2 A6,4 - DIN 9021
18 040007 2 M6 - DIN 985

60/300



60 320

1

2

3

4

10

4

5,6,7

13
14 8

8

9

11,12

5

6,7

B60350



A B C D
- 870010 L - Pos. 1-14 + B60/350
- 870011 R - Pos. 1-14 + B60/350

1 870020 1 L
1 870021 1 R
2 870017 1 L
2 870018 1 R
3 040458 3 M6x20 - DIN 933
4 041513 2
5 042290 4 M6x25 - DIN 912
6 040007 2 M6 - DIN 985
7 040200 2 6,4 - DIN 125
8 511338 3
9 870073 1

10 040554 2 M10x75 - DIN 931
11 040231 2 Form M - DIN 1524
12 040015 2 M10 - DIN 934
13 040217 1 10,5 - DIN 9021
14 041339 1 4mm LP4

60/320



60 350

1
2

3

4
4 5

6

7

8

9

10

11

12

13,15

13

14,15

16

17

18

19

20 21

21

22

22

23

23

23

23

24

25

26
27

28

29

29

30

31

32,33

34
35

36

37
38

39
40

41,42

43

44

45

46

47

47 24

25
26

5



A B C D
- 665320 1 Pos. 1-47

- 663056 2 Pos. 1-3
1 663018 36
2 663057 2
3 041742 72 ¢5x13 - DIN 661

- 663053 5 Pos. 4-9
4 663054 10
5 663055 10
6 040418 10 M10x25 - DIN 933
7 040009 10 M10 - DIN 985
8 040444 5 M8x20 - DIN 933
9 040008 5 M8 - DIN 985

- 663065 1 Pos. 10-15
10 663066 1
11 663067 1
12 663068 1
13 040474 3 M12x20 - DIN 933
14 040016 3 M12 - DIN 934
15 040203 3 A13 - DIN 125

- 663063 1 Pos. 16-20, 21-26
16 663064 1
17 663030 1
18 040570 1 M12x55 - DIN 933
19 040010 1 M12 - DIN 985
20 041033 1 25x1,2 - DIN 472

- 663031 2 Pos. 21-26
21 663032 2
22 025270 2 2205 2RS
23 663034 4
24 041008 2 ¢52x2 - DIN 472
25 663033 2
26 040333 2 M12x32 - DIN 933

- 663060 1 Pos. 27-33
27 663062 1
28 041007 1 8x7x20
29 025007 2 6206 2RS
30 663061 1
31 041015 1 A30x1,5 - DIN 471
32 040759 2 M12x20 - DIN 912
33 040203 2 A13 - DIN 125

- 048447 1
34 626242 1
35 026708 2
36 048681 1
37 048682 1
38 026004 1
39 040841 1 M6x12 - DIN 933
40 042147 1 6,6x22x2
41 040494 1 M6x16 - DIN 933

60/350



60 350

1
2

3

4
4 5

6

7

8

9

10

11

12

13,15

13

14,15

16

17

18

19

20 21

21

22

22

23

23

23

23

24

25

26
27

28

29

29

30

31

32,33

34
35

36

37
38

39
40

41,42

43

44

45

46

47

47 24

25
26

5



A B C D
42 042146 1 B6
43 040418 2 M10x25 - DIN 933
44 040015 2 M10 - DIN 934

45 663020 1
46 663019 1
47 040645 2 M8x12 - DIN 933

60/350



60 400

1

2
3

4

5
6

7

8

4

9

6

5

10

4

56

20

11

12

13

14

15
16

16

17

17

18

19

20
19

15

20



A B C D
- 812028 1 L - Pos. 1-10
1 812000 1 L
2 812038 1
3 812039 1
4 040437 6 M8x20 - DIN 603 
5 040216 6 A8,4 - DIN 9021 
6 040008 6 M8 - DIN 985
7 040436 1 M8x20 - DIN 933
8 040168 1 Form B 8,2x22,25x2,9
9 812036 1

10 812033 1

- 812021 1 R - Pos. 11-20
11 812010 1 R
12 812016 1
13 812019 1
14 812014 1
15 040437 4 M8x20 -  DIN 603 
16 040216 4 A8,4 - DIN 9021 
17 040008 4 M8 - DIN 985
18 040534 1 M8x16 - DIN 933  
19 040436 3 M8x20 - DIN 933  
20 040168 4 Form B 8,2x22,25x2,9

60/400





A B D VS 485 VS 550 VS 610 VS 670
- 806302 Pos. 1-37 1
- 806303 Pos. 1-37 1
- 806305 Pos. 1-37 1
- 806306 Pos. 1-37 1

- 806310 L - Pos.1-15 1 1 1
1 806352 L 1 1 1 1
2 806361 L 1 1 1 1
3 811154 1 1 1 1
4 811164 1 1 1 1
5 811167 1 1 1 1
6 811166 17 17 17 17
7 811176 1 1 1 1
8 040418 M10x25 - DIN 933 4 4 4 4
9 042303 M10x55 - DIN 931 10 10 10 10

10 040212 10,5 - DIN 7349 10 10 10 10
11 635105 10 10 10 10
12 042012 M10 - DIN 6923 43 43 43 43
13 040507 M10x35 - DIN 933 28 28 28 28
14 040510 M10x75 - DIN 931 1 1 1 1
15 512261 2 2 2 2

- 806311 R - Pos.16-26 1
- 806312 R - Pos.16-26 1
- 806313 R - Pos.16-26 1
- 806314 R - Pos.16-26 1

16 806356 R 1
16 806353 R 1
16 806354 R 1
16 806355 R 1
17 806362 R 1
17 806363 R 1
17 806365 R 1
17 806364 R 1
18 806367 R 1 1 1 1
19 811156 R 1 1 1 1
20 811166 9 13 17 21
21 040418 M10x25 - DIN 933 2 2 2 2
22 042303 M10x55 - DIN 931 4 6 8 10
23 040212 10,5 - DIN 7349 4 6 8 10
24 635105 4 6 8 10
25 042012 M10 - DIN 6923 20 28 36 44
26 040507 Skt.-Schraube M10x35 - DIN 933 14 20 26 32

27 811166 2 2 2 2
28 042303 M10x55 - DIN 931 1 1 1 1
29 040212 10,5 - DIN 7349 24 29 31 32
30 635105 1 1 1 1
31 042012 M10 - DIN 6923 4 4 4 4
32 040507 M10x35 - DIN 933 3 3 3 3
33 635140 15 17 19 21
34 040733 M10x110 - DIN 931 21 26 28 29
35 040202 10,5 - DIN 125 verz. 21 26 28 29
36 040009 M10 - DIN 985 21 26 28 29
37 040476 M10x100 - DIN 933 2 2 2 2

60/501
C





A B D VS 760 VS 910
- 806301 Pos. 1-45 1
- 806304 Pos. 1-45 1

- 806310 Pos.1-15 1 1
1 806352 L 1 1
2 806361 L 1 1
3 811154 1 1
4 811164 1 1
5 811167 1 1
6 811166 17 17
7 811176 1 1
8 040418 M10x25 - DIN 933 4 4
9 042303 M10x55 - DIN 931 10 10

10 040212 10,5 - DIN 7349 10 10
11 635105 10 10
12 042012 M10 - DIN 6923 43 43
13 040507 M10x35 - DIN 933 28 28
14 040510 M10x75 - DIN 931 1 1
15 512261 2 2

- 806311 R - Pos.16-26 1 1
16 806353 R 1 1
17 806362 R 1 1
18 806367 R 1 1
19 811156 R 1 1
20 811166 17 17
21 040418 M10x25 - DIN 933 2 2
22 042303 M10x55 - DIN 931 8 8
23 040212 10,5 - DIN 7349 8 8
24 635105 8 8
25 042012 M10 - DIN 6923 36 36
26 040507 M10x35 - DIN 933 26 26

27 811166 4 4
28 042303 M10x55 - DIN 931 2 2
29 040212 10,5 - DIN 7349 38 45
30 635105 2 2
31 042012 M10 - DIN 6923 8 8
32 040507 M10x35 - DIN 933 6 6
33 635140 ASX 24 29
34 040733 M10x110 - DIN 931 34 41
35 040202 10,5 - DIN 125 verz. 34 41
36 040009 M10 - DIN 985 34 41
37 040476 M10x100 - DIN 933 2 2

- 806315 M - Pos. 38-45 1
- 806316 M - Pos. 38-45 1

38 806357 M 1
38 806358 M 1
39 806366 M 1
39 806361 1
40 811166 8 18
41 042303 M10x55 - DIN 931 4 9
42 040212 10,5 - DIN 7349 4 9
43 635105 4 9

60/505
C





A B D VS 760 VS 910
44 042012 M10 - DIN 6923 16 36
45 040507 M10x35 - DIN 933 12 27

60/505
C



60 510

10

1

2

3

6

5

6

21 7

8

9

4

11

12

13

14

15

16

17

18

19

20

16

22

5

16

16

6

17

15

5

16



A B D VS 485 VS 550 VS 610 VS 670 VS 760 VS 910
- 811210 11 tpi - grob - Pos. 1-22 1
- 811211 11 tpi - grob - Pos. 1-22 1
- 811212 11 tpi - grob - Pos. 1-22 1
- 811213 11 tpi - grob - Pos. 1-22 1
- 811214 11 tpi - grob- Pos. 1-22 1
- 811215 11 tpi - grob - Pos. 1-10,15-22 1

- 811250 14 tpi - fein - Pos. 1-22 1
- 811251 14 tpi - fein - Pos. 1-22 1
- 811252 14 tpi - fein- Pos. 1-22 1
- 811253 14 tpi - fein - Pos. 1-22 1
- 811254 14 tpi - fein - Pos. 1-22 1
- 811255 14 tpi - fein - Pos. 1-10,15-22 1

- 811220 11 tpi - grob- Pos. 1-10 1 1 1 1 1 1
- 811266 14 tpi - fein - Pos. 1-10 1 1 1 1 1 1

1 811240 1 1 1 1 1 1
2 811179 1 1 1 1 1 1
3 811174 1 1 1 1 1 1
4 811165 11TPI 29 29 29 29 29 29
4 811163 14TPI 29 29 29 29 29 29
5 042005 M6 - DIN 9623 55 55 55 55 55 55
6 040606 M6x16 48 48 48 48 48 48
7 040812 M6x28 - DIN 931 4 4 4 4 4 4
8 042336 M6x25 - DIN 931 7 7 7 7 7 7
9 042322 M6x20 3 3 3 3 3 3

10 811162 1 1 1 1 1 1

- 811221 11 tpi - grob - Pos. 11-14 1 1 1 2 2
- 811267 14 tpi - fein - Pos. 11-14 1 1 1 2 2

11 811241 1 1 1 1 1
12 811165 11TPI 29 29 29 58 58
12 811163 14TPI 29 29 29 58 58
13 040606 M6x16 56 56 56 56 56
14 042005 M6 - DIN 9623 56 56 56 56 56

15 811175 1 2 2 2 3 3
16 040816 M6x18 - DIN 933 - 10.9 10 20 20 20 30 30
17 811165 11TPI 3 6 6 6 9 9
17 811163 14TPI 3 6 6 6 9 9

- 811222 11 tpi - grob - Pos. 18-22 1 1
- 811223 11 tpi - grob - Pos. 18-22 1
- 811224 11 tpi - grob - Pos. 18-22 1
- 811225 11 tpi - grob - Pos. 18-22 1
- 811226 11 tpi - grob - Pos. 18-22 1

- 811300 14 tpi - fein - Pos. 18-22 1 1
- 811301 14 tpi - fein - Pos. 18-22 1
- 811302 14 tpi - fein - Pos. 18-22 1
- 811303 14 tpi - fein - Pos. 18-22 1
- 811268 14 tpi - fein - Pos. 18-22 1

60/510
C



60 510

10

1

2

3

6

5

6

21 7

8

9

4

11

12

13

14

15

16

17

18

19

20

16

22

5

16

16

6

17

15

5

16



A B D VS 485 VS 550 VS 610 VS 670 VS 760 VS 910
18 811242 1 1
18 811243 1
18 811244 1
18 811245 1
18 811246 1
19 811165 11 tpi - grob 32 8 16 24 4 24
19 811163 14 tpi - fein 32 8 16 24 4 24
20 811174 1 1 1 1 1 1
21 040606 M6x16 65 17 33 49 9 49
22 042005 M6 - DIN 9623 65 17 33 49 9 49

60/510
C



18,19

2

1

3,4

6

5

7,8

14,15

9

10

11

12

13

17

16

20

70 111



A B C D
- 860081 Pos. 1-20 - NH/Claas AFX 
- 863003 Pos. 1-19 - JD 9xxxE 

1 963117 1
2 040946 2 M8x60 - DIN 931 verz.
3 040201 2 A8,4 - DIN 125
4 040008 2 M8 - DIN 985
5 026616 1 4k Ohm
6 040587 2 M4x20 - DIN 84
7 040297 2 A4,3 - DIN 125
8 040035 2 M4 - DIN 934
9 041278 1 8x0,8 - DIN 471

10 025144 1 608 2RS
11 041279 1 22x1 - DIN 472
12 552057 1
13 963120 1
14 040155 1 6,1x14,25x2,1 Form M - DIN 1524 
15 040614 3 M6x10 - DIN 933
16 963123 1
17 040783 2 M8x90 - DIN 603
18 040201 2 A8,4 - DIN 125
19 040008 2 M8 - DIN 985
20 028596 1 NH/Claas

70/111



70 120

17,18

13

16 1 23,45

678

11 9,10

14

13

15

12

19



A B C D
- 860082 Pos.1-19 - NH 
- 862002 Pos.1-19 - Claas Lexion 
- 863004 Pos.1-19 - JD 9xxxE 

1 026616 1 4k Ohm
2 040587 2 M4x20 - DIN 84
3 040297 2 4,3 - DIN 125
4 040035 2 M4 - DIN 934
5 041278 1 8x0,8 - DIN 471
6 025144 1 608 2RS
7 041279 1 22x1 - DIN 472
8 552057 1
9 040494 1 M6x16 - DIN 933

10 040155 1 6,2 Form M - DIN 1524
11 860087 1
12 040007 1 M6 - DIN 985
13 025145 2
14 669889 1 M6x85
15 040013 1 M6 - DIN 934
16 860085 1
17 040534 2 M8x16 - DIN 933
18 040159 2 8,2 Form M - DIN 1524
19 028596 1

70/120



70 210

2

12

19

13,14

24,25

30

8
9

16

29

12

31

12

19

13,14

5

13,14

21,22

17 20

15

17

20

11

6,7

10

26

27,28

22,23

6,7

3

18

18

4
1



A B D N
H

 T
X 

66
-6

8 
ab

 B
au

j. 
02

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

  
C

N
H

 C
S 

64
0/

66
0,

  C
S 

60
70

/6
08

0,
 C

N
H

 C
X 

82
08

80
,  

   
   

   
   

   
   

C
X 

80
60

-8
09

0,
 C

N
H

 C
SX

 7
08

0

N
H

 T
X 

62
-6

5 
ab

 b
au

j. 
02

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

  
C

N
H

 C
S 

52
0/

54
0,

 C
S 

60
50

, C
N

H
 C

X 
72

0-
78

0,
 C

X 
80

30
-8

05
0,

   
 

C
N

H
 C

R
 9

70
/9

80
, C

R
 9

08
0,

 C
N

H
 C

SX
 7

06
0 

   
   

   
   

   
   

   
   

   
   

 

C
N

H
 C

R
 9

60
, C

R
 9

06
0,

 C
R

 9
07

0

- 850001 Pos. 1-28 1
- 854002 Pos. 1-28 1
- 850003 Pos. 1-28 1

1 550020 L 1 1 1
2 550021 R 1 1 1
3 040505 M12x150 - DIN 931 8 8 8
4 040010 M12 - DIN 985 8 8 8
5 950028 1 1 1
6 040695 M12x50 - DIN 933 8 8 8
7 040157 Form B 8 8 8
8 950062 4 4 4
9 950063 2 2 2

10 950058 L 1 1 1
11 950059 R 1 1 1
12 040437 M8x20 - DIN 603 34 34 34
13 040210 A 8,4 - DIN 9021 34 34 34
14 040008 M8 - DIN 985 34 34 34
15 050527 1 1 1
16 040570 M12x55 - DIN 933 1 1 1
17 040016 M12 - DIN 934 3 3 3
18 040203 A 13 - DIN 125 3 3 3
19 950036 1160mm 2 2 2
20 950032 2 2 2
21 040509 M8x65 - DIN 931 4 4 4
22 040201 A 8,4 - DIN 125 8 8 8
23 040009 M10 - DIN 985 4 4 4
24 040444 M8x20 - DIN 933 2 2 2
25 040159 Form M - DIN 1524 2 2 2
26 950035 1 1 1
27 040418 M10x25 - DIN 933 4 4 4
28 040158 Form B - DIN 1524 4 4 4

29 550910 2 2 2
30 040505 M12x150 - DIN 931 4 4 4
31 040010 M12 - DIN 985 4 4 4

70/210
C (VS)



1

14

10,11

7,8

13

14

13

15
15

13

12

3

28,29

25,26
3

4

26,27

29,30

23,24

20

21,22

23,24

16

39

40,41

18

15

37,38

31

32

33

34,35

36

3

29,30

4

26,27

25,26

28,29

17

9
5

6

13

2

19

70 250



A B D D
F 

56
50

/5
66

0/
56

65
   

D
F 

40
60

-4
06

5 
 5

Sc
h.

D
F 

56
80

/5
69

0/
56

95
   

D
F 

40
70

-4
09

0 
 6

Sc
h.

- 851000 Pos. 1-41 1
- 851001 Pos. 1-41 1

1 551060 L 1 1
1 951080 L
2 551060 R 1 1
2 951081 R
3 040505 M12x150 - DIN 931 8 8
4 040010 M12 - DIN 985 8 8
5 951058 4 4
6 951030 2 2
7 040540 M12x130 - DIN 931 6 6
8 040124 6 6
9 040010 M12 - DIN 985 6 6

10 040455 M12x40 - DIN 933 2 2
11 040124 2 2
12 550164 2 2
13 951031 8 8
14 040427 M12x25 - DIN 933 4 4
15 040010 M12 - DIN 985 4 4
16 951051 L 1
16 951066 L 1
17 951052 R 1
17 951067 R 1
18 951040 L 1 1
19 951041 R 1 1
20 040437 M8x20 - DIN 603 14 12
21 040216 A 8,4 - DIN 9021 14 12
22 040008 M8 - DIN 985 14 12
23 040444 M8x20 - DIN 933 10 10
24 040159 Form M  - DIN 1524 10 10
25 040438 M10x30 - DIN 933 2 2
26 040217 A 10,5 - DIN 9021 4 4
27 040009 M10 - DIN 985 2 2
28 042301 M10x180 - DIN 931 4 4
29 040217 A 10,5 - DIN 9021 8 8
30 040009 M10 - DIN 985 4 4

- 951053 Pos. 31-36 1 1
31 951054 1 1
32 951055 1 1
33 951056 1 1
34 040528 M8x30 - DIN 933 6 6
35 040216 8,4 - DIN 9021 6 6
36 040083 6 6

70/250
C



1

14

10,11

7,8

13

14

13

15
15

13

12

3

28,29

25,26
3

4

26,27

29,30

23,24

20

21,22

23,24

16

39

40,41

18

15

37,38

31

32

33

34,35

36

3

29,30

4

26,27

25,26

28,29

17

9
5

6

13

2

19

70 250



A B D D
F 

56
50

/5
66

0/
56

65
   

D
F 

40
60

-4
06

5 
 5

Sc
h.

D
F 

56
80

/5
69

0/
56

95
   

D
F 

40
70

-4
09

0 
 6

Sc
h.

37 040523 M8x30 - DIN 933 2 2
38 040216 A 8,4 - DIN 9021 2 2
39 950035 1 1
40 040544 M10x25 - DIN 933 1 1
41 040202 A10,5 - DIN 125 1 1

70/250
C



12

2

1

10

11

6

9
5

7
8

3

57 35

35

30

58
59

61

62
63
60

58
59

16

57

43

26,27

19

28,29

42
47

48
65

58
59

67

46
14,15

44
45

66

64

58

59

20
22

21

56

24

25,26

18
38

40,41

36,37

13,14

17

36,37

32

68

70

71

69

59

59

58

4
7,8

5,9

31

33

38

19-27

49,50

51 52

53,54 55,56

35

36,37

40,41

35

36,37 34

34

23

70 300



Pos. Teil-Nr. Benennung C
la

as
 L

ex
io

n 
44

0,
45

0,
46

0,
48

0-
54

0,
55

0,
56

0,
58

0-
60

0 
   

   
  

Tu
ca

no
 3

40
,4

40
,4

50

C
la

as
 L

ex
io

n 
40

5,
41

0,
41

5,
42

0,
43

0,
47

0-
51

0,
52

0,
53

0,
57

0 
  

Tu
ca

no
 3

20
,3

3,
,4

30

- 852000 Pos. 1-71 1
- 852001 Pos. 1-71 1

- 952075 Pos. 1-9 1 1
1 552260 L 1 1
2 552261 R 1 1
3 952057 L
4 952056 R 1 1
5 952037 2 2
6 952036 ¢20x1448 2 2
7 052259 2 2
8 041027 6x30 - DIN 1481 4 4
9 041474 8x30 A St - DIN 1481 4 4

10 040505 M12x150 - DIN 931 8 8
11 040010 M12 - DIN 985 8 8
12 552132 1 1
13 040491 M12x35 - DIN 933 4 4
14 040203 A13 - DIN 125 6 6
15 040696 M12x80 - DIN 931 2 2
16 952066 2 2
17 552154 PA 44 1 1
18 040907 M8x35 mvk 12 12

- 952073 L - Pos. 19-27 1 1
- 952074 R - Pos. 19-27 1 1

19 952052 1 1
20 952038 1 1
21 040582 M10x16 - DIN 933 1 1
22 040363 0,5/45x3 1 1
23 952042 1 1
24 952059 1 1
25 040946 M8x60 - DIN 931 1 1
26 040216 8,4 - DIN 9021 2 2
27 040008 M8 - DIN 985 1 1

28 040496 M12x30 - DIN 933 8 8
29 040203 A13 - DIN 125 8 8
30 952088 L - 1400mm 1  
30 952106 L - 1180mm 1

70/300



12

2

1

10

11

6

9
5

7
8

3

57 35

35

30

58
59

61

62
63
60

58
59

16

57

43

26,27

19

28,29

42
47

48
65

58
59

67

46
14,15

44
45

66

64

58

59

20
22

21

56

24

25,26

18
38

40,41

36,37

13,14

17

36,37

32

68

70

71

69

59

59

58

4
7,8

5,9

31

33

38

19-27

49,50

51 52

53,54 55,56

35

36,37

40,41

35

36,37 34

34

23

70 300



Pos. Nr. Benennung C
la

as
 L

ex
io

n 
44

0,
45

0,
46

0,
48

0-
54

0,
55

0,
56

0,
58

0-
60

0 
   

   
  

Tu
ca

no
 3

40
,4

40
,4

50

C
la

as
 L

ex
io

n 
40

5,
41

0,
41

5,
42

0,
43

0,
47

0-
51

0,
52

0,
53

0,
57

0 
  

Tu
ca

no
 3

20
,3

3,
,4

30

31 952089 R - 1400mm 1  
31 952107 R - 1180mm  1
32 952067 L 1 1
33 952068 R 1 1
34 952104 2 2
35 040437 M8x20 - DIN 603 34 46
36 040201 8,4 - DIN 9021 34 46
37 040008 M8 - DIN 985 34 46
38 952085 1
39 952110 1
40 040444 M8x20 - DIN 933 6 6
41 040201 8,4 - DIN 9021 6 6

- 952076 Pos.42-48
42 952049 1 1
43 952044 1 1
44 952083 M12x50 1 1
45 040016 M12 - DIN 934 1 1
46 041494 Form E 1 1
47 040376 ¢11x¢40x3 1 1
48 040472 M10x20 - DIN 933

- 952100 Pos.49-54 1 1
49 952101 1 1
50 040087 M8 8 8
51 952102 1 1
52 952103 1 1
53 040216 A8,4 - DIN 9021 6 6
54 040448 M8x25 - DIN 933 6 6

55 040216 A8,4 - DIN 9021 2 2
56 040464 M8x35 - DIN 933 2 2
57 040695 M12x50 - DIN 931 6 6
58 040010 M12 - DIN 985 6 6
59 952062 12 12

70/300



12

2

1

10

11

6

9
5

7
8

3

57 35

35

30

58
59

61

62
63
60

58
59

16

57

43

26,27

19

28,29

42
47

48
65

58
59

67

46
14,15

44
45

66

64

58

59

20
22

21

56

24

25,26

18
38

40,41

36,37

13,14

17

36,37

32

68

70

71

69

59

59

58

4
7,8

5,9

31

33

38

19-27

49,50

51 52

53,54 55,56

35

36,37

40,41

35

36,37 34

34

23

70 300



Pos. Teil-Nr. Benennung C
la

as
 L

ex
io

n 
44

0,
45

0,
46

0,
48

0-
54

0,
55

0,
56

0,
58

0-
60

0 
   

   
  

Tu
ca

no
 3

40
,4

40
,4

50

C
la

as
 L

ex
io

n 
40

5,
41

0,
41

5,
42

0,
43

0,
47

0-
51

0,
52

0,
53

0,
57

0 
  

Tu
ca

no
 3

20
,3

3,
,4

30

- 952078 L - Pos. 60-63 1 1
60 041456 Gr.12 - DIN 648 1 1
61 041471 Gr.12 - DIN 648  1 1
62 952064 ¢16x190 1 1
63 040034 M12 - DIN 936 1 1

- 952077 L - Pos. 64-67 1 1
64 041471 GAOL 12 1 1
65 041473 GAOR 12 1 1
66 952064 ¢16x200 1 1
67 040034 M12 - DIN 936 1 1

- 952079 R - Pos. 68-71 1 1
68 041456 Gr.12 - DIN 648 1 1
69 041471 Gr.12 - DIN 648 1 1
70 952065 ¢16x480 1 1
71 040034 M12 - DIN 936 1 1

70/300



70 350
28

27,30

1

29

30,31

21,22

18

23,24

16

20

14

3

42

25

26,27

20

21,22

19

20

15

21,22

9

8

5

11
11

10
12,13

6,7

27,30

17



A B D JD
 9

6x
x,

 W
6x

x,
 T

6x
x,

 1
55

0

JD
 9

5x
x,

 9
78

0E
, 9

88
0E

, T
 5

xx
, W

 5
xx

, C
 6

70
, S

 6
90

, 1
45

0

- 953001 Pos. 1-31 1
- 953002 Pos. 1-31 1

1 953080 L 1 1
2 953085 R 1 1
3 040505 M12x150 - DIN 931 8 8
4 040010 M12 - DIN 985 8 8
5 953140 1 1
6 040455 M12x40 - DIN 933 4 4
7 040157 Form B - DIN 1524 4 4
8 552154 PA 66
9 040917 M8x20

10 553107 2 2
11 953045 4 4
12 040203 A13 - DIN 125 8 8
13 040496 M12x30 - DIN 933 8 8
14 953104 L 1
15 953105 R 1
14 953073 L 1
15 953074 R 1
16 953100 L 1
17 953101 R 1
16 953060 L 1
17 953061 R 1
18 953090 L 1 1
19 953091 R 1 1
20 040437 M8x20 - DIN 603 12 16
21 040216 A8,4 - DIN 9021 12 16
22 040008 M8 - DIN 985 12 16
23 040159 Form B - DIN 1524 2 2
24 040751 M8x25 - DIN 933 2 2
25 040402 M10x25 - DIN 603 8 8
26 040202 A10,5 - DIN 125 12 12
27 040009 M10 - DIN 985 14 14
28 953068 1 1
29 040579 M10x20 - DIN 603 4 4
30 040217 A10,5 - DIN 9021 4 4
31 040498 M10x40 - DIN 933 2 2

70/350
C (VS)



70 410

1
3

11
8

9

6,7

6,7

24,2512

13,14

19

4
2

19

12

5

27,28

26

12

21,22

22,23

20

20

16
17

18

17 15 10

13,14



A B D C
as

e 
A

FX
 7

01
0,

 8
01

0,
 9

01
0,

 7
12

0,
 8

12
0,

91
20

C
A

se
 A

F 
50

88
; 6

08
8;

 7
08

8 
   

   
   

   
   

   
   

   
   

 

- 854004 Pos. 1-28 1
- 854005 Pos. 1-28 1

1 954029 L 1 1
2 954030 R 1 1
3 040505 M12x150 - DIN 931 8 8
4 040010 M12 - DIN 985 8 8
5 950028 1 1
6 040455 M12x40 - DIN 933 8 8
7 040157 Form B 8 8
8 950062 4 4
9 950063 2 2

10 950058 L 1 1
11 950059 R 1 1
12 040437 M8x20 - DIN 603 30 30
13 040216 A 8,4 - DIN 9021 30 30
14 040008 M8 - DIN 985 30 30
15 050527 1 1
16 040570 M12x55 - DIN 933 1 1
17 040016 M12 - DIN 934 3 3
18 040203 A 13 - DIN 125 3 3
19 954027 1280mm 2
19 950036 1160mm 2
20 950032 2 2
21 040509 M8x65 - DIN 931 4 4
22 040201 A 8,4 - DIN 125 8 8
23 040008 M8 - DIN 985 4 4
24 040444 M8x20 - DIN 933 2 2
25 040159 Form B - DIN 1524 2 2
26 950035 1 1
27 040418 M10x25 - DIN 933 4 4
28 040158 Form B - DIN 1524 4 4

70/410
C 



70 450
4

39

3

40,41

2

1

42

43,44

38

18

11
14

15,16

10
12

913

5

6,7

6,7

17

22,23
19,20

25

24

27,28

34

29
31,32 36

35
37

33
36

36

35

26

21

30

8



A B D iL
av

er
da

 M
30

6,
 M

30
5,

 2
96

 L
C

S,
 2

56
 R

EV
  

iF
en

dt
 6

30
0C

, 6
25

0E
   

   
   

   
   

   
   

   
   

   
   

  
iM

F 
72

70
 B

et
a,

 7
24

6 
A

kt
iv

a

iL
av

er
da

 M
30

3,
 M

30
4,

 2
55

 L
C

S,
 2

55
 R

EV
  

iF
en

dt
 5

27
0C

, 5
22

0E
,5

25
0E

   
   

   
   

   
   

   
   

iM
F 

72
60

 B
et

a,
 7

24
4/

45
 A

kt
iv

a

- 855000 Pos. 1-44 1
- 855003 Pos. 1-44 1

1 855010 L 1 1
2 855011 R 1 1
3 040505 M12x150 - DIN 931 8 8
4 040010 M12 - DIN 985 8 8
5 855020 1 1
6 040455 M12x40 - DIN 933 6 6
7 040157 Form B - DIN 1524 6 6
8 550162 2 2
9 550164 2 2

10 550169 8 8
11 040505 M12x150 - DIN 931 verz. 2 2
12 040427 M12x25 - DIN 933 verz. 4 4
13 040010 M12 - DIN 985 6 6
14 040417 M12x30 - DIN 603 8 8
15 040218 A13 - DIN 9021 8 8
16 040010 M12 - DIN 985 8 8
17 855018 L 1
17 855029 L 1
18 855019 R 1
18 855030 R 1
19 040444 M8x20 - DIN 933 8 12
20 040159 Form M - DIN 1524 8 12
21 040437 M8x20 - DIN 603 4 4
22 040008 M8 - DIN 985 4 4
23 040159 Form M - DIN 1524 4 4
24 855026 L 1 1
24 855027 R 1 1
25 855028 6x60x260 2 2
26 040437 M8x20 - DIN 603 8 8
27 040159 Form M - DIN 1524 8 8
28 040008 M8 - DIN 985 8 8
29 950029 1 1
30 040579 M10x20 - DIN 603 2 2
31 040217 A10,5 - DIN 9021 2 2
32 040009 M10 - DIN 985 2 2
33 050527 1 1
34 040513 M12x90 - DIN 933 1 1
35 040203 A13 - DIN 125 4 4
36 040016 M12 - DIN 934 4 4
37 550346 1 1
38 855032 1 1
39 040579 M10x20 - DIN 603 4 4

70/450
C



70 450
4

39

3

40,41

2

1

42

43,44

38

18

11
14

15,16

10
12

913

5

6,7

6,7

17

22,23
19,20

25

24

27,28

34

29
31,32 36

35
37

33
36

36

35

26

21

30

8



A B D iL
av

er
da

 M
30

6,
 M

30
5,

 2
96

 L
C

S,
 2

56
 R

EV
  

iF
en

dt
 6

30
0C

, 6
25

0E
   

   
   

   
   

   
   

   
   

   
   

  
iM

F 
72

70
 B

et
a,

 7
24

6 
A

kt
iv

a

iL
av

er
da

 M
30

3,
 M

30
4,

 2
55

 L
C

S,
 2

55
 R

EV
  

iF
en

dt
 5

27
0C

, 5
22

0E
,5

25
0E

   
   

   
   

   
   

   
   

iM
F 

72
60

 B
et

a,
 7

24
4/

45
 A

kt
iv

a

40 040217 A10,5 - DIN 9021 4 4
41 040009 M10 - DIN 985 4 4
42 950035 1 1
43 040544 M10x25 - DIN 933 4 4
44 040202 A10,5 - DIN 12 4 4

70/450
C



70 500

149 19,20

18

2

4

10

1

3

15

8

16,17 15

13

11,12

5

6,7



A B D M
F 

72
70

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

  
Fe

nd
t 6

30
0 

   
   

   
   

   
   

   

M
F 

72
60

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

Fe
nd

t 5
27

0

M
F 

72
74

/7
24

8 
   

   
   

   
   

   
   

   
   

   
   

   
   

   
  

Fe
nd

t 8
30

0 
/8

35
0 

   
   

   
   

   
   

   
   

   
   

   
  

- 956000 Pos. 1-20 1
- 956001 Pos. 1-20 1
- 956002 Pos. 1-20 1

1 956115 L 1 1 1
2 956116 R 1 1 1
3 040505 M12x150 - DIN 931 8 8 8
4 040010 M12 - DIN 985 8 8 8
5 558860 1 1 1
6 040455 M12x40 - DIN 933 4 4 4
7 040157 Form B - DIN 1524 6 6 6
8 956113 L 1
8 956120 L 1
8 956105 L 1
9 956114 R 1
9 956121 R 1
9 956106 R 1

10 040437 M8x20 - DIN 603 8 10 10
11 040300 V9 - DIN 440 8 10 10
12 040008 M8 - DIN 985 8 10 10
13 956100 L 1 1 1
14 956101 R 1 1 1
15 040917 M8x20 12 12 12
16 040444 M8x20 - DIN 933 2 4 6
17 040159 Form M - DIN 1524 2 4 6
18 040448 M8x25 - DIN 933 4 4 4
19 040159 Form M - DIN 1524 4 4 4
20 040008 M8 - DIN 985 4 4 4

70/500
C



1

31

32

45,46,47

21,22

15

44

10

26

27

4

7 3

48

5,6

9

11

24

45,46

8

30

23

19

16,17

12

20

13,14

57

25

18

58,59

41

18

37

35

28

29

38

36

39

42

40
42

45,46

51

2

49

43

56

52

50

54,55

53

21,22

33,34
30

80 100



A B D  N
H

,  
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

  
iC

as
e 

A
FX

,  
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

  
iC

as
e 

50
88

/6
08

8/
70

88

 D
F

 C
la

as
 

 J
D

 C
as

e 
21

xx
, 2

3x
x 

   
   

   
   

   
   

   
   

   
   

   
   

   

 L
av

er
da

, M
F/

Fe
nd

t F
re

ef
lo

w
-K

an
al

 L
av

er
da

, M
F/

Fe
nd

t P
ow

er
flo

w
-K

an
al

- 860000 Pos. 1-60 1
- 861003 Pos. 1-60 ab '07 1
- 862000 Pos. 1-60 1
- 863000 Pos. 1-60 1
- 864000 Pos. 1-60 1
- 865002 Pos. 1-60 ab '07 1
- 865003 Pos. 1-60 nur '07 1
- 865004 Pos. 1-60 ab '08 1

1 962053 1 1 1 1 1 1 1
2 860064 1 1 1 1 1 1 1
3 672010 1 1 1 1 1 1 1
4 040944 M8x25 - DIN 608 2 2 2 2 2 2 2
5 040201 A8,4 - DIN 125 2 2 2 2 2 2 2
6 040008 M8 - DIN 985 2 2 2 2 2 2 2
7 552057 1 1 1 1 1 1 1
8 041279 22x1 - DIN 472 1 1 1 1 1 1 1
9 025144 608 2RS 1 1 1 1 1 1 1

10 041278 8x0,8 - DIN 471 1 1 1 1 1 1 1
11 026616 4k Ohm 1 1 1 1 1 1 1
12 040587 M4x20 - DIN 84 2 2 2 2 2 2 2
13 040297 A4,3 - DIN 125 2 2 2 2 2 2 2
14 400035 M4 - DIN 934 2 2 2 2 2 2 2
15 672012 1 1 1 1 1 1 1
16 040614 M6x10 - DIN 933 1 1 1 1 1 1 1
17 040155 Form M - DIN 1524 1 1 1 1 1 1 1
18 025145 CS 10M6 - DIN 71802 2 2 2 2 2 2 2
19 962063 M6x70 1 1 1 1 1 1
19 669889 M6x85 1
20 040013 M6 - DIN 934 1 1 1 1 1 1 1
21 040200 A6,4 - DIN 125 2 2 2 2 2 2 2
22 040007 M6 - DIN 985 2 2 2 2 2 2 2
23 962056 1 1 1 1 1 1 1
24 025062 LR 202NPPU 1 1 1 1 1 1 1
25 041194 40x1,75 - DIN 472 1 1 1 1 1 1 1
26 041113 15x1 - DIN 471 1 1 1 1 1 1 1
27 962061 1 1 1 1 1 1 1
28 040405 M10x35 - DIN 933 1 1 1 1 1 1 1
29 042003 M10 - DIN 439 1 1 1 1 1 1 1
30 040217 A10,5 - DIN 9021 2 2 2 2 2 2 2
31 040009 M10 - DIN 985 1 1 1 1 1 1 1
32 040448 M8x25 - DIN 933 4 4 4 4 4 4 4
33 040201 A8,4 - DIN 125 4 4 4 4 4 4 4
34 040008 M8 - DIN 985 4 4 4 4 4 4 4

80/100
C



1

31

32

45,46,47

21,22

15

44

10

26

27

4

7 3

48

5,6

9

11

24

45,46

8

30

23

19

16,17

12

20

13,14

57

25

18

58,59

41

18

37

35

28

29

38

36

39

42

40
42

45,46

51

2

49

43

56

52

50

54,55

53

21,22

33,34
30

80 100



A B D  N
H

,  
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

  
iC

as
e 

A
FX

,  
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

  
iC

as
e 

50
88

/6
08

8/
70

88

 D
F

 C
la

as
 

 J
D

 C
as

e 
21

xx
, 2

3x
x 

   
   

   
   

   
   

   
   

   
   

   
   

   

 L
av

er
da

, M
F/

Fe
nd

t F
re

ef
lo

w
-K

an
al

 L
av

er
da

, M
F/

Fe
nd

t P
ow

er
flo

w
-K

an
al

35 041213 G12x48 - DIN 71752 1 1 1 1 1 1 1
36 952083 M12x50 1 1 1 1 1 1 1
37 041214 FKB 12x48 1 1 1 1 1 1 1
38 040016 M12 - DIN 934 1 1 1 1 1 1 1
39 960046 1 1 1 1 1 1
39 960047 1
40 041456 Gr.12 - DIN 648 m. Ag.M12LH 1 1 1 1 1 1 1
41 040455 M12x40 - DIN 933 1 1 1 1 1 1 1
42 040136 12x18x1 - DIN 988 4 4 4 4 4 4 4
43 040070 M12 1 1 1 1 1 1 1
44 040437 M8x20 - DIN 603 6 6 6 6 6 6 6
45 040201 A8,4 - DIN 125 7 7 7 7 7 7 7
46 040008 M8 - DIN 985 7 7 7 7 7 7 7
47 040612 M8x16 - DIN 603 1 1 1 1 1 1 1

- 860050 Pos. 48-55 1 1 1 1 1 1 1
48 860051 1 1 1 1 1 1 1
49 860056 1 1 1 1 1 1 1
50 860058 1 1 1 1 1 1 1
51 041421 GL50 GPN320 1 1 1 1 1 1 1
52 041422 1 1 1 1 1 3 1
53 040531 M10x35 - DIN 603 4 4 4 4 4 4
53 040567 M10x90 - DIN 603 4
54 040202 A10,5 - DIN 125 4 4 4 4 4 4 4
55 040009 M10 - DIN 985 4 4 4 4 4 4 4

56 812567 R 1 1 1 1 1 1 1
57 040444 M8x20 - DIN 933 verz. 4 4 4 4 4 4 4
58 040201 A8,4 - DIN 125 4 4 4 4 4 4 4
59 040008 M8 - DIN 985 4 4 4 4 4 4 4

C

80/100



INDEX
Teil-Nr Bild Teil-Nr Bild Teil-Nr Bild Teil-Nr Bild Teil-Nr Bild Teil-Nr Bild

Part-No Picture Part-No Picture Part-No Picture Part-No Picture Part-No Picture Part-No Picture

No-Piece Figure No-Piece Figure No-Piece Figure No-Piece Figure No-Piece Figure No-Piece Figure

No-Ricambi Tabella No-Ricambi Tabella No-Ricambi Tabella No-Ricambi Tabella No-Ricambi Tabella No-Ricambi Tabella

No-Pieza Tabla No-Pieza Tabla No-Pieza Tabla No-Pieza Tabla No-Pieza Tabla No-Pieza Tabla

Onderdeel-Nr Afb. Onderdeel-Nr Afb. Onderdeel-Nr Afb. Onderdeel-Nr Afb. Onderdeel-Nr Afb. Onderdeel-Nr Afb.

Деталь-Nr. Схема Деталь-Nr. Схема Деталь-Nr. Схема Деталь-Nr. Схема Деталь-Nr. Схема Деталь-Nr. Схема

Alkatrés zcikksz ábra Alkatrés zcikksz ábra Alkatrés zcikksz ábra Alkatrés zcikksz ábra Alkatrés zcikksz ábra Alkatrés zcikksz ábra
Náhradní díl č. Tabulka Náhradní díl č. Tabulka Náhradní díl č. Tabulka Náhradní díl č. Tabulka Náhradní díl č. Tabulka Náhradní díl č. Tabulka

010564 40/185 026260 10/100 028585 50/100 040119 40/160 040376 70/300 040544 20/100
023399 40/185 026303 50/200 028587 50/100 040122 40/300 040383 50/560 040545 30/100
023885 40/185 026323 50/550 028589 50/590 040124 10/100 040402 30/100 040548 10/110
023950 40/185 026362 50/560 028590 50/100 040129 40/300 040405 80/100 040554 60/320
023951 40/185 026368 50/530 028591 50/100 040134 30/100 040413 30/100 040567 80/100
023953 40/185 026379 30/100 028594 50/100 040136 80/100 040417 20/150 040569 50/590
023954 40/185 026397 50/100 028596 70/111 040141 40/150 040418 20/100 040570 20/300
023955 40/185 026415 40/300 028623 50/100 040142 40/150 040425 50/560 040571 10/130
023956 40/185 026416 40/300 028634 50/100 040144 30/200 040427 10/120 040579 30/100
023957 40/185 026417 40/300 028651 50/550 040148 50/700 040428 10/100 040582 70/300
023958 40/185 026418 40/300 028655 50/100 040155 10/110 040429 10/100 040587 70/111
023959 40/185 026420 50/550 028656 50/100 040157 10/100 040436 50/560 040596 20/200
025007 60/350 026524 50/550 028705 50/400 040158 20/100 040437 10/100 040604 10/120
025042 20/150 026568 50/550 028707 50/400 040159 30/200 040438 60/300 040606 60/510
025053 30/100 026611 50/560 028708 50/400 040160 30/200 040444 20/200 040612 80/100
025062 80/100 026616 70/111 028715 50/400 040168 10/120 040445 10/130 040614 10/110
025089 40/180 026619 50/100 028716 50/400 040169 40/160 040448 40/185 040615 60/100
025115 20/100 026679 50/560 028717 50/400 040170 40/160 040452 30/170 040620 20/200
025116 30/200 026688 50/560 028724 50/400 040171 40/160 040455 20/150 040641 40/180
025144 70/111 026700 50/700 028738 50/400 040181 40/150 040458 50/100 040645 10/100
025145 70/120 026701 50/700 028739 50/400 040182 40/150 040460 30/100 040657 40/185
025165 20/100 026702 50/700 028741 50/400 040183 40/150 040464 70/300 040663 40/180
025171 40/210 026703 50/700 028744 50/400 040187 40/210 040471 50/550 040669 50/300
025172 40/160 026704 50/700 028745 50/400 040193 30/200 040472 40/180 040682 40/150
025185 20/100 026705 50/700 028747 50/400 040200 50/100 040474 20/200 040694 50/200
025186 20/200 026706 50/700 028757 50/400 040201 10/100 040476 60/501 040695 70/300
025190 20/200 026708 60/350 040002 50/500 040202 20/100 040480 10/120 040696 70/300
025216 40/150 026729 40/300 040003 30/200 040203 20/100 040491 10/100 040717 20/100
025217 40/150 026754 50/200 040006 50/560 040204 30/200 040492 20/150 040718 60/201
025218 40/150 026755 50/200 040007 10/110 040208 30/100 040493 40/185 040725 20/200
025219 40/150 026756 50/300 040008 10/100 040212 60/501 040494 50/100 040733 60/501
025220 40/150 026758 50/200 040009 20/100 040213 20/150 040496 10/100 040751 70/350
025221 40/150 026764 30/100 040010 10/100 040214 30/200 040498 60/100 040752 40/180
025222 40/160 026774 40/180 040011 30/200 040215 10/110 040499 60/100 040759 60/350
025252 20/100 026790 50/300 040013 70/120 040216 10/100 040503 30/200 040764 20/100
025252 20/200 026823 50/500 040014 10/120 040217 60/100 040505 50/510 040783 70/111
025270 60/350 026827 50/560 040015 60/320 040218 10/120 040507 30/200 040792 60/100
026004 60/350 026840 50/550 040016 10/130 040222 30/100 040509 70/210 040793 60/100
026006 50/570 026848 50/560 040017 60/100 040226 30/100 040513 70/450 040806 50/560
026027 40/190 026863 50/100 040034 70/300 040231 20/150 040517 10/130 040812 60/510
026028 50/570 026872 50/590 040035 70/111 040250 30/200 040522 30/110 040816 60/510
026029 50/570 026924 50/570 040061 60/100 040251 30/100 040523 70/250 040827 40/180
026043 50/560 026928 40/150 040070 80/100 040272 10/120 040525 50/570 040841 50/100
026067 50/700 026995 50/550 040073 20/100 040279 30/100 040528 60/350 040842 50/100
026069 50/560 027103 40/200 040083 50/550 040297 70/111 040530 40/300 040851 20/100
026086 50/590 027115 40/180 040087 70/300 040300 70/500 040531 80/100 040894 50/550
026089 50/510 028524 50/100 040094 50/100 040311 40/185 040534 10/120 040905 50/550
026101 50/550 028525 50/100 040095 50/100 040333 60/350 040536 40/300 040907 60/300
026110 50/570 028526 50/100 040098 50/100 040360 40/150 040540 40/185 040912 40/300



026167 50/500 028527 50/100 040107 50/100 040363 70/300 040540 40/185 040917 60/201
026232 50/570 028528 50/100 040108 40/210 040372 50/500 040540 70/250 040921 40/150
040928 20/150 041427 40/180 042273 40/300 048447 60/350 613711 60/100 684415 50/100
040931 30/200 041428 40/180 042278 20/100 048477 50/700 613729 60/100 684650 50/590
040944 80/100 041429 40/180 042288 40/150 048478 50/700 613740 60/100 688174 50/100
040946 70/111 041430 40/180 042289 40/150 048479 50/700 613776 60/100 699150 50/100
040955 30/100 041431 40/180 042290 60/320 048480 50/700 613870 60/100 805274 10/130
040970 40/180 041432 40/180 042294 40/150 048484 40/300 613871 60/100 805275 10/130
040971 40/180 041446 30/100 042297 50/100 048653 50/560 613878 60/100 806010 10/100
040973 40/180 041452 40/300 042301 70/250 048656 50/200 621330 30/200 806011 10/100
040975 20/200 041456 70/300 042303 50/300 048681 60/350 626011 30/100 806012 10/100
040976 60/100 041456 70/300 042312 50/700 048682 60/350 626222 30/100 806013 10/100
040979 40/200 041470 10/100 042322 60/510 050527 70/210 626242 60/350 806014 10/100
040991 50/550 041471 70/300 042327 20/100 050765 50/510 627200 30/100 806015 10/100
041007 60/350 041472 30/200 042336 60/510 050776 50/510 631124 20/100 806301 60/505
041008 60/350 041473 70/300 042337 10/110 051990 50/530 631331 20/100 806302 60/501
041015 20/200 041474 70/300 042338 10/110 052259 70/300 631335 20/100 806303 60/501
041027 70/300 041477 30/200 042341 20/100 052278 50/560 632309 20/100 806304 60/505
041029 40/210 041487 40/150 042346 60/201 052282 50/560 632314 20/100 806305 60/501
041030 40/210 041491 30/200 042361 20/100 400035 80/100 632331 20/100 806306 60/501
041033 60/350 041494 70/300 042367 10/110 510087 30/100 635104 60/501 806310 60/501
041078 30/100 041496 40/150 042390 30/170 510245 40/200 635105 60/501 806311 60/501
041082 40/160 041497 40/150 042811 30/200 510299 50/570 635106 20/100 806312 60/501
041085 40/180 041498 40/150 043045 40/185 510816 40/185 635140 60/501 806313 60/501
041101 60/100 041499 40/150 048000 50/700 510849 40/185 635 123 60/501 806314 60/501
041103 30/100 041500 40/150 048001 50/700 511338 60/320 663018 60/350 806315 60/505
041104 20/100 041501 40/150 048002 50/700 512261 60/501 663019 60/350 806316 60/505
041113 80/100 041502 40/150 048003 50/700 526121 50/570 663020 60/350 806352 60/501
041132 60/100 041503 40/150 048003 50/700 526125 50/570 663030 60/350 806353 60/501
041145 50/300 041504 40/160 048004 50/700 527133 40/185 663031 60/350 806354 60/501
041146 30/100 041505 40/160 048009 10/100 550020 70/210 663032 60/350 806355 60/501
041166 40/150 041506 40/160 048010 40/300 550021 70/210 663033 60/350 806356 60/501
041168 40/150 041507 40/160 048011 40/300 550162 70/450 663034 60/350 806357 60/505
041174 40/210 041513 60/320 048023 50/700 550164 70/250 663053 60/350 806358 60/505
041194 80/100 041516 30/200 048039 30/100 550165 50/510 663054 60/350 806361 60/501
041208 30/200 041536 20/150 048071 40/300 550166 50/500 663055 60/350 806362 60/501
041213 80/100 041539 30/200 048072 40/300 550169 70/450 663056 60/350 806363 60/501
041214 80/100 041544 30/100 048073 40/300 550346 70/450 663057 60/350 806364 60/501
041246 40/160 041548 10/120 048095 40/190 550910 70/210 663060 60/350 806365 60/501
041250 30/200 041550 10/100 048096 40/190 551060 70/250 663061 60/350 806366 60/505
041278 70/111 041555 50/700 048097 40/190 551115 50/530 663062 60/350 806367 60/501
041279 70/111 041662 60/100 048098 40/190 552055 50/560 663063 60/350 806430 10/130
041297 40/150 041667 10/100 048099 40/190 552057 70/111 663064 60/350 806431 10/130
041306 50/560 041668 30/200 048100 40/190 552058 50/560 663065 60/350 806432 10/130
041312 50/560 041742 60/350 048120 50/200 552118 50/560 663066 60/350 806433 10/130
041339 60/201 041957 30/100 048184 50/700 552132 70/300 663067 60/350 806434 10/130
041347 40/150 041995 50/400 048185 50/700 552154 70/300 663068 60/350 806435 10/130
041363 40/160 042003 80/100 048325 50/550 552260 70/300 665320 60/350 806440 10/130
041364 40/210 042005 10/110 048333 50/200 552261 70/300 669889 70/120 806441 10/130
041365 40/210 042006 40/200 048335 50/200 552309 50/550 672010 80/100 806442 10/130
041369 50/590 042012 60/501 048339 50/300 552311 50/550 672012 80/100 806443 10/130
041382 50/590 042014 30/200 048367 50/100 553107 70/350 681455 50/100 806444 10/130
041393 10/100 042108 40/160 048421 50/550 553185 50/590 681456 50/100 806445 10/130
041394 30/200 042109 40/160 048422 50/550 553187 50/590 681457 50/100 806460 10/130
041398 30/100 042110 40/160 048423 50/550 555072 50/640 681752 50/100 806461 10/130
041405 20/100 042146 60/350 048424 50/550 556252 50/650 682504 50/100 806470 10/130
041407 40/180 042147 60/350 048425 50/550 556254 50/650 683445 50/100 806471 10/130
041408 40/180 042210 40/150 048426 50/550 556256 50/650 683446 50/100 806485 10/130
041410 30/100 042236 40/150 048427 50/550 558860 70/500 683766 50/550 806486 10/130
041421 80/100 042239 60/100 048428 50/550 610283 60/100 683768 50/550 806497 10/130



041422 80/100 042242 60/300 048429 50/550 610288 60/100 683769 50/100 806500 10/130
806501 10/130 811176 60/501 812179 10/120 814205 10/100 838212 30/170 840133 40/150
806502 10/130 811179 60/510 812181 10/120 814206 10/100 838213 30/170 840134 40/150
806503 10/130 811210 60/510 812183 10/120 814207 10/100 838214 30/170 840135 40/150
810000 20/300 811211 60/510 812185 10/120 814208 10/100 838215 30/170 840140 40/150
810001 20/300 811212 60/510 812187 10/120 814209 10/100 838220 30/170 840141 40/150
810002 20/150 811213 60/510 812500 60/100 814210 10/100 838222 30/170 840142 40/150
810003 20/150 811214 60/510 812501 60/100 814211 10/100 838223 30/170 840143 40/150
810004 20/300 811215 60/510 812510 60/100 814212 10/100 838229 30/170 840144 40/150
810005 20/150 811220 60/510 812511 60/100 814213 10/100 838235 30/170 840145 40/150
810010 20/200 811221 60/510 812512 60/100 814214 10/100 838240 30/170 840146 40/150
810011 20/250 811222 60/510 812520 60/201 814215 10/100 838241 30/170 840147 40/150
810012 20/200 811223 60/510 812521 60/201 814216 10/100 838250 30/170 840148 40/150
810013 20/250 811224 60/510 812543 60/100 814217 10/100 838251 30/170 840149 40/150
810014 20/200 811225 60/510 812544 60/100 814218 10/100 838252 30/170 840160 40/150
810015 20/250 811226 60/510 812550 60/201 814219 10/110 838253 30/170 840161 40/150
810016 20/100 811240 60/510 812551 60/201 814220 10/110 838254 30/170 840162 40/150
810017 20/100 811241 60/510 812557 60/201 814300 10/110 838255 30/170 840163 40/150
810018 20/100 811242 60/510 812558 60/201 814301 10/110 838380 30/100 840164 40/150
810030 20/200 811243 60/510 812566 60/201 814302 10/110 838381 30/100 840165 40/150
810031 20/250 811244 60/510 812567 60/201 814303 10/110 838400 30/100 840166 40/150
810032 20/200 811245 60/510 812567 80/100 814304 10/110 838401 30/100 840167 40/150
810033 20/250 811246 60/510 812570 60/201 814305 10/110 838402 30/100 840168 40/150
810034 20/100 812000 60/400 812571 60/201 814306 10/110 838403 30/100 840169 40/150
810035 20/100 812010 60/400 812576 60/100 814307 10/110 838404 30/100 840170 40/150
810036 20/200 812014 60/400 814000 10/100 814308 10/110 838405 30/100 840171 40/150
810037 20/250 812016 60/400 814006 10/100 814310 10/110 838406 30/100 840172 40/150
810038 20/100 812019 60/400 814032 10/100 814311 10/110 838407 30/100 840173 40/150
810500 20/200 812021 60/400 814033 10/100 814312 10/110 838408 30/100 840174 40/150
810508 20/200 812028 60/400 814035 50/300 814313 10/110 838409 30/100 840175 40/150
810509 20/200 812030 60/300 814037 30/200 814314 10/110 838426 30/100 840176 40/150
810510 20/200 812033 60/400 814038 40/185 814315 10/110 838431 30/100 840180 40/160
810511 20/200 812036 60/400 814041 10/100 814316 10/110 838433 30/100 840181 40/160
810512 20/200 812038 60/400 814042 10/100 814317 10/110 838435 30/100 840182 40/160
810515 20/200 812039 60/400 814045 50/300 814323 10/110 838436 30/100 840183 40/160
810517 20/100 812050 10/120 814047 10/100 814324 10/110 838440 30/160 840184 40/160
810518 20/100 812051 10/120 814069 10/100 833000 30/200 838442 30/110 840185 40/160
810519 20/100 812056 10/120 814070 10/100 833001 30/200 838443 30/110 840186 40/160
810520 20/200 812059 10/120 814106 10/120 833010 30/210 838444 30/100 840187 40/160
810523 20/200 812060 10/120 814107 40/300 833011 30/210 838445 30/160 841000 40/180
810525 20/300 812064 10/120 814111 50/100 833039 30/200 838450 30/110 841001 40/180
810528 20/100 812065 10/120 814159 50/100 833042 30/200 838452 30/100 841003 40/180
810529 20/200 812066 10/120 814161 50/200 833046 30/200 838492 30/160 841008 40/180
810529 20/250 812070 10/120 814165 20/300 833047 30/200 838494 30/100 841014 40/180
810530 20/300 812071 10/120 814170 50/100 833048 30/200 838503 30/100 841020 40/180
810531 20/100 812072 10/120 814171 50/500 833049 30/200 838511 30/110 841021 40/180
810533 20/150 812076 10/120 814190 10/100 833050 30/210 840000 40/300 841022 40/180
810535 20/200 812077 10/120 814192 10/100 833051 30/200 840100 40/160 841025 40/180
810536 20/100 812080 10/120 814193 10/100 833052 30/200 840110 40/150 841026 40/180
810537 20/100 812081 10/120 814194 10/100 833053 30/200 840111 40/150 841028 40/180
810538 20/200 812110 40/180 814195 10/100 833055 30/210 840112 40/150 841029 40/180
810539 20/300 812160 10/120 814196 10/100 833056 30/200 840113 40/150 844116 50/700
810540 20/100 812161 10/120 814197 10/100 838200 30/100 840114 40/150 844124 50/700
811154 60/501 812164 10/120 814198 10/100 838201 30/100 840115 40/150 844125 40/300
811156 60/501 812167 10/120 814199 10/100 838202 30/100 840116 40/150 844129 50/200
811162 60/510 812169 10/120 814200 10/100 838203 30/100 840117 40/150 844130 50/200
811164 60/501 812171 10/120 814201 10/100 838204 30/100 840118 40/150 844132 50/200
811165 60/510 812173 10/120 814202 10/100 838205 30/100 840130 40/150 844134 50/700
811174 60/510 812175 10/120 814203 10/100 838210 30/170 840131 40/150 844146 50/700
811175 60/510 812177 10/120 814204 10/100 838211 30/170 840132 40/150 844150 50/700



844155 50/700 870016 60/300 935554 30/100 952066 70/300 962053 80/100
844156 50/700 870017 60/320 936257 30/100 952067 70/300 962056 80/100
844166 50/700 870018 60/320 936259 30/160 952068 70/300 962061 80/100
850001 70/210 870020 60/320 936290 30/100 952073 70/300 962063 80/100
850003 70/210 870021 60/320 936290 30/160 952074 70/300 963117 70/111
851000 70/250 870060 60/300 936411 30/100 952075 70/300 963120 70/111
851001 70/250 870061 60/300 936416 30/100 952076 70/300 963123 70/111
852000 70/300 870073 60/320 940002 30/100 952077 70/300 635 123 60/501
852001 70/300 870351 60/300 940005 40/180 952078 70/300
852102 50/550 870352 60/300 940100 40/210 952079 70/300
854002 70/210 899001 10/120 940101 40/210 952083 70/300
854004 70/410 899002 10/120 940102 40/210 952085 70/300
854005 70/410 899003 10/120 940103 40/210 952088 70/300
855000 70/450 899004 10/120 940104 40/210 952089 70/300
855003 70/450 899005 10/120 941001 20/150 952100 70/300
855010 70/450 899006 10/120 941544 20/150 952101 70/300
855011 70/450 899010 40/190 941551 40/300 952102 70/300
855018 70/450 899013 40/300 941554 20/100 952103 70/300
855019 70/450 899040 10/100 941557 20/100 952104 70/300
855020 70/450 899041 10/100 941558 40/200 952106 70/300
855026 70/450 899042 10/100 941559 40/200 952107 70/300
855027 70/450 899043 10/100 944232 50/700 952110 70/300
855028 70/450 899044 10/100 950028 70/210 953001 70/350
855029 70/450 899045 10/100 950029 70/450 953002 70/350
855030 70/450 899110 10/110 950032 70/210 953045 70/350
855032 70/450 899111 10/110 950035 70/210 953060 70/350
860000 80/100 899112 10/110 950036 70/210 953061 70/350
860001 80/100 899113 10/110 950058 70/210 953068 70/350
860020 50/500 899114 10/110 950059 70/210 953073 70/350
860050 80/100 899115 10/110 950062 70/210 953074 70/350
860056 80/100 910105 20/100 950063 70/210 953080 70/350
860058 80/100 910628 20/100 951030 70/250 953085 70/350
860064 80/100 910630 20/200 951031 70/250 953090 70/350
860081 70/111 910633 20/100 951040 70/250 953091 70/350
860082 70/120 910634 20/100 951041 70/250 953100 70/350
860085 70/120 910641 20/150 951051 70/250 953101 70/350
860087 70/120 910645 20/150 951052 70/250 953104 70/350
861003 80/100 910675 20/150 951053 70/250 953105 70/350
861020 50/530 910676 20/200 951054 70/250 953140 70/350
862000 80/100 910677 20/150 951055 70/250 954027 70/410
862002 70/120 910681 20/150 951056 70/250 954029 70/410
862020 50/550 910690 20/100 951058 70/250 954030 70/410
862021 50/560 910691 20/100 951066 70/250 956000 70/500
862022 50/570 910692 20/100 951067 70/250 956001 70/500
863000 80/100 910693 20/100 951080 70/250 956002 70/500
863003 70/111 910694 20/100 951081 70/250 956100 70/500
863004 70/120 910695 20/100 952036 70/300 956101 70/500
863020 50/590 910696 20/100 952037 70/300 956105 70/500
864000 80/100 912636 60/201 952038 70/300 956106 70/500
865002 80/100 912639 60/100 952042 70/300 956113 70/500
865003 80/100 912650 60/100 952044 70/300 956114 70/500
865004 80/100 912660 60/100 952049 70/300 956115 70/500
865020 50/640 912661 60/100 952052 70/300 956116 70/500
866020 50/650 912671 60/201 952056 70/300 956120 70/500
870001 60/300 914140 10/100 952057 70/300 956121 70/500
870002 60/300 914200 50/100 952059 70/300 960021 50/510
870010 60/320 914201 50/100 952062 70/300 960022 50/510
870011 60/320 935544 30/100 952064 70/300 960046 80/100
870015 60/300 935549 30/100 952065 70/300 960047 80/100


	Vario Star 2010 Parts Catalog
	(D) Benutzungshinweise
	(D) Zeichenerklärung
	(D) DIN Tabelle
	(D) Inhaltsverzeichnis
	(GB) How to use Parts Catalog
	(GB) Code specification 
	(GB) Table of DIN parts
	(GB) Table of contents
	(F) Comment utiliser les catalogues pieces
	(F) Mode d`utilisation de nomenclature
	(F) Table DIN
	(F) Sommaire
	(E) Forma de utilizar los catalogos de piezas
	(E) Código identificación
	(E) Tablo DIN
	(E) Indice
	(HU) Unbenannt
	(HU) Unbenannt
	(HU) DIN
	(HU) Tartalomjegyzék
	(CZ) Unbenannt
	(CZ) Unbenannt
	(CZ) DIN
	(CZ) Obsah
	Start parts catalog
	B10_100.pdf
	B10_110.pdf
	B10_120.pdf
	B10_130.pdf
	B20_100.pdf
	B20_150.pdf
	B20_200.pdf
	B20_250.pdf
	B20_300.pdf
	B30_100.pdf
	B30_110.pdf
	B30_160.pdf
	B30_170.pdf
	B30_200.pdf
	B30_210.pdf
	B40_000.pdf
	B40_150.pdf
	B40_160.pdf
	B40_180.pdf
	B40_185.pdf
	B40_190.pdf
	B40_200.pdf
	B40_210.pdf
	B40_300.pdf
	B50_100.pdf
	B50_200.pdf
	B50_300.pdf
	B50_400.pdf
	B50_500.pdf
	B50_510.pdf
	B50_530.pdf
	B50_550.pdf
	B50_560.pdf
	B50_570.pdf
	B50_590.pdf
	B50_640.pdf
	B50_650.pdf
	B50_700.pdf
	B60_100.pdf
	B60_201.pdf
	B60_300.pdf
	B60_320.pdf
	B60_350.pdf
	B60_400.pdf
	B60_501.pdf
	B60_505.pdf
	B60_510.pdf
	B70_111.pdf
	B70_120.pdf
	B70_210.pdf
	B70_250.pdf
	B70_300.pdf
	B70_350.pdf
	B70_410.pdf
	B70_450.pdf
	B70_500.pdf
	B80_100.pdf
	VS - Index-2009.pdf



